KEER (2D 1)

I 4 #ET K%t FU4RJ)| FIIIES By AR | 34E (20014F)
K B | BAr| (/9| 2/6 | 8/6 | 4/17| 6/8. | 6/6 | /3 | 8/7 | 9/19 | 10/2 | L1/6 | 12/4 |SAfE|BeaAME| FigHE
xR — I 2 W I & & & &8 I ] ] 5]
KR Moy | 8:42 ] 8:45 ] 9:59 | 8:40 | 7226 | 9:20 | 7:34 [ 8:14 | 8:30 | 8:23 ] 9:20 [ 8:28
2K m |3.95(3.7 (3.8 |3.75]3.65]360]334]353]387]417]390]3.42
FoRARE m [.0.60[0.50]0.60] 0.50]0.60]0.60]0.50] 0.50] 0.50] 0.50]{0.50] 0.50
S R c .29 2.9 85 |16.5]180]2.0]25.7]236]|26.2]22.8]|16.0] 8.4
K H T [ 3.4] 3.4 6.9 17.2]17.0]24.0]27.0]2.5/[26.4]20.6[15.8| 9.8]27.0 3.4 | 16.3
2 B () — | s | weomnsm | inm | mmm | i | wmm | e | s | weine | e | v | sans
B & 0k — | R A ER | ER | sE (R sl SUE(MUER| B | 18 | 82
HRE em [ 19.3]928.6 ] 23.3| r6.7 | 16.9 | 11.9] 10.0] 16.5| 16.8] 20,0 18.2] 18.0
FHEE m [0.38]0.47]0.49]0.38]0.33[0.30]0.11]0.41]0.28]0.33]0.38]0.68]0.58] 0.11] 0.37
K. — 16 16 16 16 17 17 | 18 17 17 17 17 |17
pH = [ 760 772 784896 8.02[861]7.94[825]818]868|7.87797]8.96][7.60] 812
DO mg/l | 12.73]13.30]12.45]11.76] 9.38 ] 9.66 [ 6.79 | 7.51 [ 9.19] 9.32 | 9.26 [ 10.20] 13.30{ 6.79 | 10. 12
BOD mg/1 | 1,92 ] 2.79 ] 2.95] 8.95 | 2.61 | .63 | 2.00 | t.79 [ 1.63 ]| 1.50 | 2.26 | 1.63 ] 3.95 ] 1.60 | 2.38
ATU-BOD | ng/l | — — - | = — — — — — — — — — — —
COD (in) mg/1 | 6.19 [ 6.98 ] 6.37[ 7.48 | 7.66| 7.58 | 7.02 | 7.69 | 7.21 | 7.13 | 6. 44 | 5.39 | 7.69 | 6.39 | 6.93
D-CODOM | mg/l | 3.78 | .71 | 4.64 | 4.95 [ 4.47] 4.06 [ 4.27] 4.49[6.08] 4.95] 4.06] 4.06] 5.08 | 3.78 | 4. 46
‘PocoDOm | me/l | 241|227 73] 268319 3.53 ] 2.765 | 3.20 | 2.13] 2.18°[ 2.38 | (.33 | 3.53 | 1.33 | 2.47
COD (Cr) mg/1 | 10.90]13. 41 [13. 11]16.42] 16, 11] 15,9114, 21| 17.74[14.23] 16.41]15.23] 14.05] [7.74] 10.91 | 14.81
D:COD(r) | mg/l [ 7,00 ]| 7.31[10.01]11.91] 8.90 | 8.50 | 9.01 [ 10,42 9.88 | 10.22] 8.78 [ 8.06 [ 11.91] 7.01 | 9.17
SS mg/) | 13.0 | 10.6 [ 10.0 [ 18.5 | 24.0 ] 26.5] 44.5 | 28.5] 24.0| 22.5 [ 18.5 | 19.0 | 44,5 | 10.0 | 21.5
j(ﬂg%i{ﬁ%f{ MP¥/10001| 2, 3B42 | 3. 3B+2 | 2, 3B+1 | 7.9B+1 | 1, 3E+1| 3.3B+1 | 1. 3B+2 | |.7E43| 2. 3B+3 | 2, 3B+2 | 1. 3B+2 | 4. 9B+! | 2, 3B+3 | 1. 3B+1 | 4. 4B42
TN we/1 | 1,48 0.96 | (.12]0.87]0.85 | 0.66]0.85]0.90]0.68] 0.79] (.26 1.456] 1.48 0.66 | 0,99
TP mg/1 10.08210.073]0.076]0.136]0.106]0.102{0.142[0.138]0.116]0.103]0.099]0.092] 0.142]0.073] 0. 106
NH,—N mg/1 | 0.03] 0.00]0.01]0.00]0.01]002]0.16[]0.07[0.027]0.02]0.04[0.03[0.15] 0.00] 0.03
NO,—N mg/1 [0.012]0.014]0.009]0.009]0.002]0.002]0.021]0.003]0.002]0.012[0.019]0.017]0.021]0.002]0.010
NO,—N mg/1 ] 0.80 ] 0.35]0.30] 0.04]0.00]0.00]0.06]002[001]015]073]0.8[085]0.00]0.28
TN mg/1 [0.83]0.37[0.32]0.06[001]002]023]009]0.03]0.18]0.79]0.90]0.90]0.01]0o.32
ON mg/l | 0.61 062 076 079 0. 77]0.63]0.62]0.77]0.60] 060056105 ]]0.79]0.51]0.65
D:ON mg/1 | 0.37]0.40]0.39]0.39]0.34]0.39]0.36[0.40]0.42[0.41]0.39]0.36] 0.42 0.34 ] 0.39
‘P ON me/l [ 0.24]10.22[0.36]0.40]0.43]0.27]0.26[0.37[019[019]0.12]019]0.43]0.12] 0, 27
DTN wg/1 | 1.20 [ 0.77]0.71]0.45]0.35 ] 0.41]0.59]049]0.45[0.69[1.18] 1.26] 1.26] 0.35] 0.71
TN mg/1 | 1.44] 0,99 1.07]0.85[0.78 | 0.68 ] 0.85 | 0.86 | 0.64 | 0.78 | 1.30 | 1.46 | 1.45 | 0.64 | 0,98
D+PO4—P | mg/l [0.014]0.006]0.007]0.009]0.006[0.008]0.023]0.021]0.014]0.008]0.008]0.008]0.023]0.006] 0.011
D:TP mg/1 [0.089[0.066[0.017[0.015]0.041]0,022]0.032[0.042]0.016[0.007]0.019]0.016]0.069]0.016]0.031
‘P.TP mg/1 [0.013]0.008]0.058]0,121]0.064]0.080]0.110[0.096]0.100]0.086]0.080]0.076]0.121]0.008]0.074
1C mg/l | 13,6 14.5 [ 143140163 13.8] 14.2 16,0 16,2 149 13.2[13.3] 16.2 | 13.2] 14.4
TOC e/l | 46 | 5.9 (6.2 6670 726367626666 48] 7.2 457 6.1
'TC we/l | 181204 19.6]20.6]22.3]at.0]20.5[2r.7]22.4]at.0] 18818 1] 22.47] 18.1] 20.4
D-0C mg/l | 3.4 ] 3.8 42| 40 3.6 36| 3.7[38] 48] 42 ] 383648/ 3.4] 3.8
‘P-OC me/1 ] L1t o] e 3437 a6 9] 6] 2.4 18] 2] 7] 0] 2.2
D:Fe mg/1 | 0.03 ] 0.13]0.08]0.00]0.06[003/0.16[0.06]0.04]0.08]0.09][0.05[0.16]0.01]0.07
D -Mn mg/1 ] 0.00 | 0.00(0.00]0.00[0.00]0.00]0.00]0.00[0.00][]0.00/0.00]0.00]0.00]0.00] 0.00
Fe mg/1 | 0.18]0.41{0.35]0.35]0.66]0.88] 2.00|1.06]087]0.8]1.05]090]201]0.18]0.8
Mn mg/1 | 0.05 ] 0.04]0.06]0.09]0.06[0.05]0.09]0605]005[]004[004][0.05]0.09]0.0470.06
B B o2 19.8 ] 1272211 23.2[33.2]36.3]23.4[21.3]22.6]18.9]19.0]36.3] 12.3] 21.7
HBERO0C) [us/en] 312 | 319 ] 30 302 | 318 [ 300 | 304 | 334 | 333 | 323-| 250 | 265 | 334 | 25 305
Ca mg/l | 18.6 | 19.4] 20,1 [ 19.2]18. 7] 20.7] 19.4[20.4]20.9]19.4]17.3]19.5] 209 17.3] 19,5
Mg mg/] | 8.63 | 8.31(8.77|8.41 (884842828 4.562]8.99[8.62]17.40]7.28]899] 4.52]8.04
pH4, 87 )V HUEE| me/l [ 59.4 ( 62.2 | 63.7 [ 64.6 66.6[ 656.4[ 659.1]67.6] 67.5[60.2]46.8] 66.0( 67.6] 46.8 ] 60.7
p H9, 0 B mg/l [ 6.74]7.06] 678|600 7.30 ] 7.14 17,69 12.0[3.46 | 5.44 | 13.91] t1.7[17.69] 3.45 | 8.68
pHY.OZNHVE| ng/l | — — — — — — — — — — — - | - — —
50,% mg/l | 34.6 [ 31.7]35.7[33.1]34.2]33.8(36.2(34.3[350/33.8]22.8]28.2]357]22.8]32.7
cl- mg/l | 37,4372 42.2]36.2]42.338.3]40.2[46.6]566.9]41.1[20.3]24.4]56.9] 20.3] 38.5
Na weg/l | 31.9 | 31.4[30.6]31.1]32.0] 286/ 28.0([34.6/(38.7[3¢.0]21.5[19.8]38.7]19.8] 30.2
K mg/1 | 6.01 | 5.19]4.836.46] 537 6.36] 6.40] 6.34 | 6.49 ] 6.50 [ 4.75] 4.73] 6.50 | 4.73 | 5.54
T « $i0, g/l | 22.9 ] 17.6| 16,0 14.2] 15.8 | 16.3| 36.4 [ 26.9 | 19.5] 21.4 [ 23.6] 25.2 | 36.4 | 14.2 | 21.2
T UR me/1 |13.89| 12, 13]11.39] 7.76 [ 6.61 | 8.39 [ 12.681(7.13] 8.12 | 7.76 [12.80]12.06] 17.13] 6.61 | 10.89
Chl-a ue/ 1] 374 33. 4485671 [ 41.7]61.2] 23.2[66.6]56.8[69.7[29.7]38.1]67.1]23.2] 46.0
Chl-b pe/1] 5.7 48 636065 2.4 27|38 1.9 09 ] 1.1 ] 25] 66| 09 3.6
Chl-c we/1] 9.0 | 0.6 [10.6]13.3]15.4] 6.6 | 3.9 [10.2]15.6] 14.3] 1.2 ] 9.2 | 156 0.6 | 9.2
JaA7+4F fueg/1] 6,8 12220097 007 9.3 |230] 9.8 [22.2] 81764 [3.2] 1.5]371.2] 001123
&1 A > RmrEteA | we/1 | 0,01 [ 0.00] 0.01]0.01[0.01[0.00]0.00]003]0.00]0.060]000][0.00]0.02!0.00]0.01
NiE O E AR ORI X bRz, 3, P~-ON=(ON) —(D-ON) © §.P-TP=(TP)—(D-TP)
{.P-COD=(COD)-(D-COD) 4, D-TN=(IN)+(D-ON) 1.TC=(1C)+(TOC)
2. 1 N=(NH4-N) + (NO2-N) + (N O3-N) 5, TN=(IN)-+(ON) 3. P-OC={({TOC)—(D-0C)



KRR (20 2)

v

B4 HE RFE% FIAEN il Boil 5% | 348 (200 145)
H B | Bz | 1/9 | /6 | 3/6 | 4/17| 5/8 | 6/6 | 1/3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 | &AMl | B/ME| EHfE
2—MIB g/ 1]0.008]0.006[0.004(0.153[0.012(0.004]0.002]0.001]0.0000.005]0.001]0.001]0.153]0.000]0.018] -
PAAIY | pe/1[0.007]0.007]0.003]0.011]0.007]0.002]0.001]0.001]0.001]0.002]0.001]0.00t]0.017]0.001]0.005]
Mgy mie e | mg/l | — — - —~ - - — — — - — — — — —
yombhERRAE | me/l | — - — — — — = - - — - - - — —
7 oy ynngyvail | mg/) - — — - — — — — — - — — — — —
vovemER (we/l | — [ — | - | -} - | =] -] -]~ -T—T-T-17~-1+-
7' DERAERRAE | me/l | — i — — — — — — — — ~ - — —
TNLE | mg/l [ 1,48 ] 0.96 ) 1.12]0.87[0.85 ] 0.66] 0.85| 0.90| 0.68 | 0.79 [ 1.26 | [.45[ .48 | 0.66 | 0.99
TNHE mg/1 | 1.49 | 0,92 | 1.16 ] 0.81 ] 0.85 [ 0.66 | 0.82 ] 0.90 | 0.66 | 0.81 | (.30 | 145 ] 1.49 | 0.66 | 0.99
TNTE mg/l | 1.44 0,93 | 1.16]0.81 [ 0.8 | 0.66]0.87[0.88]0.66]0.80 [ (.26 1.48] 1.48] 0.66 [ 0.98
TPLE mg/1 ]0.082[0,073]0.075)0.136|0.105[0.102|0.142/0.138]0.116{0.103[0,099|0,092/0.1420.073]0. 105
TPHE mg/1 | 0.086]0.073]0.065[0.117/0.104]0,097]0.160]0,142|0.124[0.102|0,095]|0,086| 0.15 | 0.065] 0.103
TPFE mg/1 |0.087(0,078|0.071|0,116/0.111]0.109]0,177]0.147]|0.161|0.116(0,099|0.084]0.177|0.071]0,113
COD.kE mg/l | 6.19]6.93]6.37|7.48] 7.66 | 7.68 ] 7.02 | 7.69 ] 7.21 ] 7.13[6.44 ] 65.39] 7.69 [ 5.39 | 6.93
CODPE mg/l | 6.36 | 6.93|6.94 (6.8 | 7.82 | 7.64 | 6.91] 7.99] 8.00 | 7.39|6.93| 5.656] 8.01 [ 5.656 | 7.12
CODTE mg/) | 6.46 | 6.75 | 6.31 | 7.03 | 8.07 [ 7.50| 7.40 | 8.58 | 7.85 | 7.94 | 6.10 | 5.80 | 8.58 | 5.8 | 7.15
Kk KE |- — — — — - = — - — - — —
S T 3.3 3.4 | 6.9 | 17.7 | 16.6 | 23.1 | 27.0 | 26.6 | 26.6 | 20.6 6.8| 9.8
0.5m T 3.3 | 3.4 | 6.8 [17.656] 16.5] 23.0] 27.0 25.5 | 25.4 | 20.5 9.8
{.0m C 3.3 3.4 | 6.7 | 171 [ 16.6 [ 23.0 27.1 | 25,5 | 25.3 | 20.4 9.7
2.0m C 3.3 3.4 | 6.6 | 17.0[ 16.6 | 22.8 | 27.2 | 25.5 | 26.2.| 20.4 9.1
3.0m T 3.3 [ 3.3 | 6.6 [16.9(16.6(227]27.41255/|26.2(20.4 9.7
4.0m T — — — — — — — — — | 20.4] — —
5, 0m C — — = — — — — — — — — —
6. 0m T — — - - — — - - — — — -
& T 3.3 3.3 6.6 | 16.9]-16.4 | 22.5 | 27.4 | 26.4 | 25.2 | 20.4 | 15.6 | 9.6
*DO  KE | mg/l | — — — — - — — — - - -
Fom mg/1 | 12. 9.8 .71 7.6 [ 6.7 6.3 66| 81 17.9][88] 8.1
0.5m mg/1 | 12 9. 17 7.6 7.6 6. 17 5.2 5.5 1.8 7.8 | 8.6 9.1
1.0m mg/l | 12 9.6 7.5 7.6 6.7 5.2 5.4 7.6 7.8 | 86 | 9.0
2.0m mg/1 | 11, 9.6 7.4 | 1.6 6.5 5.2 5.4 1.2 7.6 | 856 9.0
3.0m wg/1 | L. 9.4 7.3 | 1.5 [ 6.9 | 6.2 | 63| 7.0 ] 7.2[84]09.0
4.0m ng/l | — — - — — —= — - | 0| — —
5.0m ng/1 - — = - — — — - — - — —
6.0m mg/l | — —~ - — - — — - — — — —
JETR e/t [10.0] 9.4 9.3 ] 7.4 7.6 ! 5.8 52[52]67]68]383]29.0
AKrplEEE sKE | Lux |53100| 9840 | 80600 | 47300 | 13480 | 82100 | 29070 6770 | 56700 31600 | 14700 2149 |
ERi] Lux [37300| 8020 | 60800 | 37000 | 11200} 61000 14040 | 3570 | 50100 | 25800 | 11940 | 1594
0.5m Lux | 7910 | 2870 [ 12720 9830 | 1889 | 10027| 716 628 | 6160 | 4640 | 1207 | 184
[.0m Lux | 2520 | 109 [ 7890 | 1880 | 549 [ 1712 32 70 1658 | 1143 [ 310 48
2. 0m Lux 276 208 | 1262 [ 146 34 26 0 2 83 64 Il 2
3. 0m Lux 33 42 209 11 3 0 0 0 1 4. 0 0
4,0m - Lux — - — — — - - - - 0 — —
5. 0m Lux — - - — = -~ - — - - - —
6. 0m Lux — — - — — — - — — — - -
R Lux — — - - — - - — — — - -
EiREH ELORP jukd 160 160 170 46 165 168 | 242 244 177 53 160 61

%
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KEER (20 1)

B [ REp KAk FE T2 B TR | 348 (300 L4E)
TH H B 1/9 2/6 3/6 | 4/17 | 5/8 6/6 /3 8/1 | 9/19 | 10/2 | 11/6 | 12/4 | ALl | B/ M| i
S w8 | wm | ®m | B | B | B | BB | BB |W
2

8:24 | 7.00 [ 8:55 | 7:06 | 7:40 | 8.056 | 8.05 | 8:40 | 8:07

k] Wsy | 8:20 | 8:20 ] 9:34
KB m | 598|679 ]603]6.18]5.80|6.66/|05.63]6.36|5.95(6.36][06.66[86.79
R K m |0.50]0.60]0.50[050]050[050][o050]05]05]050]050]0.60
& B T 22| 26| 2160 17.6] 25,0 24,3 24,0 25,0 19.3] 146 8.4 ] -
KR T 3.6 | 3.2 ] 7.2 [16.0] 169 23.0] 26,9 25.9] 26,4 20.1 | 16.8] 10,1} 26.9| 3.2 | (6.2
S B (A — | BRBIE | WRIRE | RN | MRIDE | MRS | WANE | NS | NRINA | BNeT | BIKRIE | Mg | wres
R & Gk — | ER | ER | R | &R SR | &RR | &5 | 82 | 2R | BR | &R | &2
BB em- [-24.1 | 24,7( 28,0 21.1 ] 16.5] 20.6 ] 14.9] 25.0] 26.2 ] 20.2 | 21.8 | 21.0
AR m | 0.56]0.45(0.68]0.46]0.32] 0.28]0.23] 0,40 | 0.43] 0.35(0.76| 0.68| 0.76 | 0.23 | 0.47
K — 16 16 16. | 16 17 15 17 17 17 17 17 17
pH — | 7.63 | 7.66]7.95]8.92]805]814]7.92(803]8.12]862]802][834]892]7.63]8.12
DO mg/) [ 12.83]12.91[12.63[11.06[ 9.68] 833 7.44 | 7.10| 8.50 | 9.61 [ 9.21 |[11.05]12.91] 7.10 | 10.03
BOD mg/l | 2.701 ] 2.49 [ 3.33] 3.61 | 2.73 | 1.64 | 1.90 | 1,33 | 1.45| .57 | 1,78 | 1.39| 3.61 | 1.33 | 2. 15

ATU-BOD |mg/l | — | — | — [ =T = =T -T1T-1-=T-=-1-1-+=
COD () mg/1 | 6,95 | 6,76 | 6.68 | 7.30 | 7.47 | 6.69 | 7.04 | 6.65 | 6.71 | 7.23 [ 6.93 | 6.63 | 7.47 | 6.53 | 6.90
D -CODGW | me/l| — — | = - JR R - - - e S
‘P.copGm |me/l| — | - | = [ = [ = - -1 =-1~< ) :
COD(r) g/l | — — - = — = _ — — _ — =
D-COD{r) | mg/l | — — — = — — _ _ — - — —

SS wg/t | 10.0 [ 10.3] 8.6 | 140 21.0 ] 14.5]19.0 | 16.5| 13.56 | 246 22.0 | 20.5[ 24.5 | 8.6 | 16.2
KIBEE NPN/10001| 4. OB+2 | 3. 3B+2 | 3, 3B+1 | 2, 0E40 | |, 3B+1 | 4, 9B42| 3. 3B+1 | 2, 3E+2 | 3. 3B+3 | 4. 9B+2| 7.9E+1 | 3.3B+1| 3, 3B43| 2. 0B40| 4. 6R+2
TN mg/1 | 1.06 | 1.09 ) 1,13 |°0.85 | 0.80 | 0.58 | 0.79 [ 0.84 | 0.74 | 0.65 | 0.80 | 0.80 [ 1.13 ]| 0.58 [ 0.84
TP mg/1 10.094(0.088/0.073]0.0840.109[0.083]0.120]0.120[0.106/0.108]0.0990.088/0.120]0.073]0.098

NH4—~N [ wg/1°]0.00[0.02[0.00]0.01[0.01]003[0.14]0.09[0.03[0.02]0.04[0.04[0.14][0.007]0.04
NO,—N | mg/l [0.00]{0.011]0.008[0.002[0.002]0.001[0.021]0.012[0.022]0.003]0.0080.008]0.022]0.001]0.009
NO;—N | me/l 0.30(0.65]0.22[0.01[0.0]000]003]012[0.165]0.00]0.26]0.09]0.55][0.00][0.15
‘IN we/l [0.32]0.68(0.24]002[002[003]019]0.22[0.20]0.03]0.30]0.14]0.68]0.02]0.19
ON mg/L [0.70 [ 0.60 [ 0.77] 0.81 [ 0.75 [ 0.6 0.62 [ 0.60 | 0.67 | 0.61 [ 0.56 | 0.65 | 0.81 [ 0.51 | 0.65
D ON mg/l | = | - | -] =-]l=1=-1=-1-1-1-=-1=1=
'PON |mg/l| = | = | = | = | = =1=1]=1=

‘DTN |wg/t| — | =] = | = | = = - =1 - =
‘TN mg/l [ 1.02 [ (18] 1.01]0.83]0.77[0.66] 0.79[0.82 ] 0.77.[ 0.64 [ 0.85[ 0.79 | .18 | 0.56 | 0.84

D:PO4—P ng/1 [0.010]0.006[0.004]0.0050,004]0.004|0.020(0.028]0.014]0.007/0.005]0,005]0.028]0.004 [ 0. 009
D-TP |m/i| - | - [ = [ = [ = [ [ - [T =1 =—1T-"T-"1T-="T+=-="-=
‘P.TP mg/1 - -

1C mg/l | 14.9| (4.4 (4.4 (4.3 14.6] 13.0 | 14.9 | 16.5| 15.0 | 14.5 | 13.1] 13.4] 0.0 | 0.0 | 14.3
TOC me/! | 6.4 | 6.8 66| 80| 7.2 | 6.2 | 6.6 | 6.2 | 6.8 | 6.6 | 6.7 | 6.0 | 6.6 | 13.0] 14.3
'TC mg/l | 2.8 21.2| 200 22.3 | 2.8 19.2 | al.4 | 20.7 20.8 | 2.1 | 19.8| 19.4| 8.0 | 5.8 | 6.6

D'OC |wm/l| - | = [ =~ [ =1 -1 -"T1T-=-1T-=1T-=1-71- - 1 -1 =
'P.OC g/l ] - | - [ -] -T-T-1T-1T-T-T-T-T=-T=-7T-1-
D-Te /1| — | - I =1 - T -"T-"1T-"1T-T-T-1T-=-1T-"1T-=1-=-1-=
D:'Mn g/l | = - — = — — - - - - - | = — - -

Fe mg/l — — — — — — — — — — — — — — —
Mn mg/l — - — — — — — — — — - — — — .=
W B [ 12.3 ] 13,0 1.7 18.2 ] 21.6] (5.9 20.9 | 17.9 | 14.9 | 23.4 | (7.7 | 16.7] 0.0 | 0.0 | 17.0

WEARQC) | ps/en| 316 | 310 | 308 | 304 | 318 | 309 | 318 | 332 | 332 | 339 | 284 | 302 | 23 | 12 | 17

Ca e/t | - | - | -1 - | - | -1 - -1 -1 -1 -1 -1-1-1+-

Mg mg/l | — - - - - - - - - - - - - -

pH4BFIVAVEE mg/l | 69.2 | 60.8] 63,9 63.2 | 66.5 | 56.0 | 569.5 | 65.2 | 62.1 | 6.9 | 49.9 | 61.8] 0.0 | 0.0 50.8
p H9Y. 07 B| mg/t [ 7.60 ) 6.96 | 5.89 | 4.31 | 6.63 | 8,93 [12.15] 10.9 [1.09 [ 5,80 | 8,52 | 6.40 | 66.50 | 49.90 [ 60. 83

pHYDPWVHVEE mg/l | — — — — - — — — —

S0.%” mg/l | — - - - - - - - - - - - - - -
cl- mg/l | 39.2 | 36.9)|43.9 | 34.9| 43,6 42.7 | 41.1|47.0] 60.9| 49,9 28.3 | 34.6] 0.0 | 0.0 | 4L.1
Na ng/l | — = - - - - - - - - - - — ~ -

K P I e I e e I I e e I I I e

TS0, | wg/l| — | - - - = - - -1 -1-1<T-=-1-=1-=1°+=
s Uk ng/l | — - - — - — —

Chl-a ne/ 1] 48.2]26.0]30.8)57.2]34.4[17.3|17.6]43.3|36.3]|60.3]21.0]48.8] 0.0 [ 0.0 | 36.8
Chl-b pe/tl 39 41 40 3t 67 253t 7] 0568 2t 387]60.3]17.3]3.8
Chl-¢ pe/1] 5.0 5.0 [12.6] 9.2 [1t.a] 32 o0 7.0 62]10.0]61]90] 58] 05| 3.4
TJaA74F> lpe/1| 1.8 33.4] 2477 00 6.9 28] 7.2 120 6.3 10.2] 6] 0.8]12.6]00] 7.0
B A > RimiEER | g/l — — — — — — — — — — — — — — —
e OB B ITAROREIC L DR, 3. P-ON=(ON) — (D-ON) 6. P~-TP=(TP)—(D-TP)
I.P-COD=(COD)—(D-COD) 4, D-TN=(IN)+(D-ON) . TC=(IC)Y+(TOC)
2. I N=(NH4-N)+(NO?-N) + (NO3-N) 5. TN=(IN)+(ON) 8. P-OC=(TOC)—(D~-0C)




C KEER (20 2)

EREIED AR KEH FUAR)]] il B W 51 34 (20014F)
H B Bifr | 1/9 | 2/6 | 3/6 | 4/17| 6/8 | 6/65 | /3 | /7 | 9/19 | 10/2 | 11/6 | 12/4 | B RME|R/IME| i

2—MIB 1g/1]0.013]0.017[0.019[0.141]0.020]0.006]0.003]0.001[0.001]0.003)0.001]0,004]|0.14[]0.0010.018
PEAAI Y £8/1]0.008]|0,016]0.004]0,011|0,011]0.003[0.001]0.00L]0,001]0.005]0.001]0.0020.016] 0,001] 0,005
Hnnay kAR CteR) | mg/1 [ 0.091)0.0860.1230.062]0.083(0,084 |0, 104]0.1390.072]0.093]0.060[0.060]0.139]0.060]0.088
yopRbhERLAE | me/l [0.039|0,031(0.061|0.0310.036]0.034]0.047]0.065]0.036]0.037]0.026]0.031]0.065[0.026 | 0.040
7 ey yunddsAR | mg/1 10.034]0.032]0.041]0.021]0.031]0.030]0.036|0.047]0.02/[0.0340.022|0.020]0.0470.020]0.031
V2 nepddkveEsk | mg/1 10.016)0.020(0.019[0.009]0.014]0.018[0.019]0.024[0,013]0.018/0.001[0.008]0.024]0.008]0.016
7 DERbAEREEE | e/l |0.002]0.003(0.002(0.00(0.002]0.002]0.0020.008]0.002]0.004]0.001]0.001]0.0040.001]0.002
TNLE mg/1 | 1.05 | 1.09 [ 1.13]0.85 | 0,80 | 0.58[0.79]0.84 | 0,74 0.65[0.80 | 0.8 | 1.13] 0.58 ] 0.84

T™NFE  |we/t] - | - | - [ - | = | =1 =11 -1 -1-1-1-=1-1_]-
TNTE mg/1 [ 1.06 | 1.03 [ 1.13]0.80] 0.85 | 0.64 [ 0.77]0.86 ] 0.76]0.69]0.78] 0.76 | 1.13 | 0.54 | 0.84
TPLE mg/1 | 0,094[0,088|0.073]|0.084(0.109]0.083]0.120/0.120/0.106/0.108]0.099/0.088[ 0.12 [0.073]0.098
TPRE |wg/t | - | - | - | -] -] | -1 -1 -1 -T1-1-1~1-1-

TPFRE mg/1 | 0,096 0.085 | 0.0800.088[0. L10] 0. 101] 0.12(]0.122]0.191] 0. 106]0.099]0,084] 0. 191 | 0.08 | 0. 107
CODLEJE | me/1 | 6.95] 6.75 | 6.76 | 7.30 | 7.47 | 6.69 | 7.04 | 6.66 | 6.71 | 7.23 | 6.93 | 6.53 | 7.47 | 6.53 | 6.92
cobdg |m/I| - | = | = | = [ = [ =[] -1 -1-1-+= - | -

CODTF/E | me/l |68[68[6.62] — | — (61| — | — | — | — ] — | — |68 6628671
KL KkE | C S R N T = = I = I
Fa] T -l -l=-1-1T-1-1=-71T-=-1-=-1-1=1 -
0.5m c |l -1 - 1T -1T-1T-1T-1-1-1-"1T1-1T=-71-=
1.0m C - =1 -1~ -l -!1-1-1T-1T-7T-1=
2.0m c |l -T-T=-1T=1T-=-T-1T-T-T-=-T-=-1T=1-=
3.0m T | - | -1~ - [ [ T -1 1 =-1T=1T=1-=
4. 0m c |l -1 -1 =1 -"1T-1T-T-1-"1T-"1T-"1T=1-=
5. 0m Tl - | - [ 1 -1 1 1 -1 —1T-"1T-""1-=1-=
6.0m cl - -1T-T-1T-=-T-T-T-=-T=-1=-T-=71-=
BT c]l-]l-1=-]1l-|l=-1T=-1=-1=-1=-71=1=-1=
*DO Kk |mg/1| — | — | — | - | = | - [ = =1 =1 =1-1-
R mg/l | = | = | =] -] =1 =-—]-]-]—-]=-1]=1] =
0.5m g/l | — | — | - [ — T = =1 =[=1T-1T-1T=-71T-+=
1.0m e/l | — [ - - [ =T =T =1 =[=1T-1T-1T=1*=
2.0m g/t | — | - | = =] = =1 == =1]=1]=1=
3.0m g/l | — [ - == -1 -1T-=-[=-1T-1T=-T1T=71T-+=
4.0m mg/l] — | = | = = - | = - - il D e
5.0m e/l | — [ = | — [ = [ =T -1 =-[=—1T=1T-1-1+=
6.0m w1 — | - - -1 =T=-T-1T-="T=1T-1=-1=
JETH g/l | = | = | = | =]~ | - =] =] =] =] =1=
RepfgBe kb | tux | - | =~ | = =] =] -] - - —-]-=-1]1=-171~-
g || - | -] -] - -]-]1-]=]1T-=-1T-1-=1T-
0.5m x | — | - =1 =1 = | =T = [ =T =T-=1T=—1+-
1.0m wm | - [ - [ = [ = =1 =1 =11 -"1T-"1T=1-
2.0m x | — [ -1 -T -1 -=T1T=-1T-1-1-1-1T=1T+=
3.0m w | - [ - -1 =-=T-=-=1T-1-1=-1T-1T=-1-71T=
4, 0m Lux - -’ - - - .| - — —. — — — —
5.0m w | — = == =1 =1 =1 =T =1T=71T-=-71-+=
6. 0m I e e e I A I e e e
JEET by | = | - =1 -1 =-1=]-]1T=-71T=-1=-1=1=

ERmEORP | mV — — — - — — — — —T —

fiii% ‘ + DORDOFHT & BWEAIH




KEHER (TD1)
R A L YT KF FIRJ1] 1% 1B SR 34E (20014F)

H B | war | 179 | o/6 | 3/6 | 4/17| 5/8 | 6/5 | 7/3 | 8/7 - 9/19 | 10/2 | 11/6 | 12/4 |FBAKHE| B ME| FEE
X fE — [ a8 [ i & 8 2 8 ) 8 a8 [i5i
FRARFEL] W4y | 7:56 | 7:58 | 9:16 | 8:10 | 6:45 | 8:40 | 6:46 | 7:19 | 7:33 | 7:50 | 8:26 | 7.5
NS m |[6.28]6.06]628([616]606([608]591[595]6.10]6.40]6.00]6.02
BRI m | 0.60]0,60( 0.650(0.50]0.50] 050 0.50[0.60] 0.50 0.50 | 0.50] 0.50
& R T 1.6 | 2.8 ] 6.9 [16.6[17.0] 24.6 | 24.1 [ 24.0[ 24.5 | 19.6 | 14.7] 8.2 .
K H T 3.7 3.2 6.9 [16.2]16.9] 23,5265/ 25.9]26.4]20.4] 16,0/ (0.4]26.5] 3.2 | 16.3
4 B (i) — | N | BN | SR | MerAIR | MR | BRI | DURKUE | BRI | B0 | BIEE | Wi | s
B & (5 e ARTEETIETIE T IR TR AR AR AR AR AR
BE em | 27,2307 24,2 22,6 (8.8 22.0] 22.0] 23.0 | 28.0 | 22.4 | 23.1 | 22.0
B m |0.58]0.54|060]049]0.42]0.31]0.46]0.45/ 0.50 | 0.48]0.79]0.72] 0.79] 0.31 | 0.52
KRB — 16 16 16 16 17 22 18 17 17 17 17 17
pH — |77 073 798845 ([ 8.09] 7.97]7.88 ] 7.96] 8.32[8.49]8.33]8.23]8.49] .71 8.10
DO mg/l [12.88]12.97[12.62]10.66] 9.40 | 8.13 | 7.66 | 7.83 | 8.94 [10.32| 9.81 |10.39 12.97] 7.66 | 10.13
BOD mg/t | 2.76 3.8 296297/ 2.67)1.80] 1.27]1.965| 1.39 | 1.24|2.19]1.82]3.18] (.24 | 2.17

ATU-BOD | mg/l.| - — — - — — — —
C OD.(n e/l | 734|676 | 6.76] 6.91 [ 7.27 | 6,14 | 6,94 [ 7.19]6.87[ 7.63]6.97]6.69] 7.63 [ 6.14 | 6,96
D-COD) [ me/1 | — — — — — — - — — - — —

‘P.CODMn) | mg/l | — — — - - - )

COD(Cr) ng/l | — - — — — 1 = — _ - - —
D:CcODCD | me/l | — — — — — - — — — — - — —

SS mg/1.] 10.6 | 10.3 | 10.0 | (2.6 | 20,6 | 3.5 | 16.6 | 22,0 | 12.4 | 20.6 | 14,6 | 16.0] 22,0 | 10.0 [ 14.8
KIBRIER NPN/10Dal | 4. 6041 | | 3042 | 1. 3E+2| 2.30+42 [ 1. 3841 [ |, 3842 | 2, 30+¢ | 2. 3B+2 | 3. 3B43 | 2. 3C+2 | 1. 3B+3 | 1. 30+ | 3. 3B+3 ([ 1. 3E+1 | 4, 8E+2
TN mg/1 | 1.06 | 1.0 1.11[0.79]0.72/0.580.76|0.85]0.77]0.84]0.70 | 0.72 | .11 | 0.58 | 0.83
TP mg/1 ]0.102{0.086/0.081/0.093]0,110]0.088/0.106]0.149]0.100]0.099]0,095]0.077] 0.1490.077]0.099

NH,—N | mg/t [0.02[0.00]001[0.01]002]001]008[0.09[0.02[0.00]0.03]0.02]0.09]0.0f]0.03
NO,—N | mg/1 [0.009[0.010]0.007]0.001]0.001]0.00¢[0.017]0.017]0.022]0.002]0.006]0.003]0.022]0.001]0. 008
NOg—N | mg/1 [ 0.26]0.44 0.15] 0.0 [ 0,00 0.00|0.04]0.08]0.08]0.00]0.020.01]0.44 | 0.00 [ 0.09
‘IN mg/L {0.29]0.46]0.17[0.020.02[0.000.14]0.19[0.130.01[0.06]0.030.46]0.01]0.13
ON mg/1 [ 0.7310.59[0.74]0.70 [ 0.71 [ 0.65 ] 0.63 [ 0.66 [ 0.62 | 0.81 | 0.63 [ 0.68 [ 0.81 [ 0.55 | 0,67
D-ON |w/t| - [ - | -] -T-T-T-1T-]T-17~-1-1+=
'‘P-ON |m/l| = | = | = | =] =]=|=]=1
'D: TN mg/l | = | - | = | = - | =] - | =
'TN | mg/1 | 1.02]1.06[0.90]0.72[0.73]0.59[0.77]0. : : : . .
D-PO4—P | mg/l [0.009]0.004]0.003]0.004]0.003[0.004]0.015]0.037[0.011]0.008[0.004]0.004]0.037]0.003]0.009
D-TP [wg/1| — [ - T - - T -T-T-T-1T-T-1-1+= - 1 =

‘P.TP mg/l | — -

1C mg/] | 14.4 | 14,6 13.5 ] 143 144 | 14 0| 14,7 14.8] 15,7 16.0 ] 12.4 [ 13.4 ] 15.7] (2.4 | 14.3
TOC we/l | 6.7 ] 7.2] 6.9 6.2 [ 65| 65 6.2 68|66/ 62]71 6.2 | 6.7
'TC mg/l |2l 2t 8204 20,3 2at6] 20,3 2t.2] 203 2.9 2.8 19.0 [ 19.6] 21.9] 19.0] 20.9

D-0OC ng/l | — — - - = — — — — — — — — -
‘PrOC wg/l | — — — - — — - — - - - - - = -
D:Fe meg/l | — — — — — - — — — - — — — — —
D+Mn ) mg/l - —_ — - — — - —_ — — — — — — —

Fe mg/1 — — | - — — — — — — — — — - — —
Mn ’ mg/l — _ - —_ —_ — - —_ — - - — —_ — —
& B [13.0]10.8]13.3]13.8|20.6[13.3]16.0[19.9]10.7]183]13.0]12.9]20.6] 10.7] 14,6

WELOC) [ps/em| 320 | 317 | 304 | 301 [ 318 | 319 | 329 | 333 | 333 | 348 | 314 | 330 | 348 | 304 | 323

Ca g/l | — — — — — — - — — — — — — — —

Mg mg/l | — - .~ — — - - — — —

pH4 87V H VUK me/l | 60.3]62.0]62.7| 62.8 | 67.7 | 67.3 [ 61,0 66.9 | 61.9 | 62.6 | 64.9) 63.4 | 67.7| 54,9 .
p HY. 0/ B mg/l | 6.66 | 6.33) 6.24 | 6.56 | 6.29 [ 8.567 [10.72] 12.2 |3.46 | 7.43 | 8.62 | 21,6 | 21.60) 3.46 | 8. 71

p HY. 07 VU EE| g/l — — - — — — — = -

50,% wg/l | — — ~ — — — — — - | = - - - - —
Ccl- mg/l | 41.8 | 39.7(22.1 ] 40.8| 44.6 | 46.7 | 46.1 | 47.7 | 61.8 | 54,2 | 37.9 | 43.2 | 54.2 | 22.1 | 43.0
N a mg/l | — - — — — - — — — — — — — — —

K wg/l | — — — - — — - - — — — — — — -

TS0, [m/t| — | = | = | =< | = | | = - - == =-1T=-"71-+=
EEYDAH | we/l | — | —

Chl-a pg/1] 54.2 | 41,0] 36,3 40.4| 42.5| 16.3 | 27.2 | 57.2 | 63.4 | 55.0 | 44.7 | 42.2 | 67.2 | 16.3 | 42.5
Chl-b we/ 1] 6.2 4.0 5.4 3.8 6.3 1.6 6.1 8.3 . 2.9 3.9 2.4 8.3 1.6 4.4
Chl-c neg/1] 9.8 0.9 4.9 65,7 | 15.1| 0.8 | 16,2 | 180 | 12,6 [ 11:0 | 10.2| 80 | 18.0| 0.8 9,4
X745 |ng/1| 11,2 16.6] 15.0| 6.0 4.4 | 21.0| 5.9 | 18.2] 6.1 4.4 0.8 6.2 1 21,0 | 0.8 9.6
k&1 o> AmEER | ng/l — — — — — — — — — — — — — — —
fii#% HIOWH AR ORI L D Rz, 3, P-ON=(ON) — (D-ON) 6. P~TP=(TP)—(D-TP)
1, P-COD=(COD)—(D-COD) 4, D-TN=(I N)+(D-ON) 7. TC=(IC)+(TOC)

2. I N=(NH4-N)+(NO2-N) + (NO3-N) 5.TN=(IN)+(ON) 8. P-OC=(TOC)—(D-0C)




KHEER (£ 2)

BT A h K% FUARJ1 w4 ol SERRL34E (2001 48) .
] B | B4z [ 1/9 | 2/6 | 3/6 | 4/17| 6/8 | 6/6 | /8 | 8/7 | 9/19 | 10/2 | L1/6 | 12/4 |ShRfE|5R/MA| SEI9H
2-MIB_ |pe/1l| - | - | - [ = | -1 - -"[=T-"T-T=-="T-T-T-1+
PAAI ve/l| — - = — — - -~ - — — — - — —= —
MWneay kg ey | mg/1 — - — — — — - — — — — — — — —
youdhhERRE | me/l | — — — — — — — — — — — - — — —
7 owy ok | me/l | - -1 -1 - - | - — = ~ - - - - — —
VoS ER | ng/l | — - - - — — — - — — — — — — —
7' uERbAAERRAE | me/l | — — — — - — — — — — — — — = =
TNLE mg/1 | LO6 ] 101 | .11 0.79[0.72 [ 0.58[0.76| 0.8 ] 0.77 ] 0.84 | 0.70 | 0.72 | {.11 | 0.58 | 0.83
TNFE wg/l | = - - — — — — - - — - - - — -
TNTE wg/l | 1.07 [ 1.03] 1.12]0.81]0.80 [ 0.58) 0.76 | 0.88 ) 0.80[0.85)0.71 [ 0.70] 1.12 | 0.58 | 0.84
TPLE mg/1 |0.102]0,0860.081]0.093[0.110]0,088[0.106[0.149]0.100]0.099]0.095]0.077]0.149]0.0770.099
TPHE mg/l | — - - - — i - — - - — - - —
TPTFRE mg/l [0.104]0.085|0,085[0.104]0,117[0.088(0.098|0.168]0.192]0.127/0,099]0.077]0.192]0.077]0. 111
CODLEE mg/l | 7.34 | 6.75 | 6.76 | 6.91 | 7.27[6.14 | 6.94| 7.19]6.71 | 7.63 | 6.97 | 6.69 | 7.63 | 6.14 [ 6.94
CODHE wg/l | — — — — — — — — — — — — — - -
CODFHE | weg/l |716]6.93/68 | — [ — [612] — [ — | — 1 — 1 — 1 — [ri6][612]6.76
K Kk T - — — — - - — — — - — -
FH T — — — — — — — — — — — —
0.5m c |l -{-1-T1T-1T-1-1-1T-1T-T-=-1T=-1T=
1.0m cl -1T-1T-1T-1T-1T-=-1=1-1T-1T-1T-=-1T=
2.0m T -l -1 -1T-1-T=-1-1-1-1T-1=71T=
3.0m c | -1 -1 -1T-1T-1T-1T-1T-T-T=-1T-1-
4.0m c |l -[-1T-T-T-T-T-T=-T=-1T-=-1T-=-1=
5.0m c |l -T-T-T-1T-1T-1T-1T-=-T-=-T-=-1T-1-=
6. 0m cl-1T-T-T-T=-T=-T-T=-T-1T-T=1T=
JEHE T — — — — — — — — — — — —
*DO Kk |wg/l]| — - - - - — - - - - - -
Eadid] mg/1 - - - - - - = — — - — -
0.5m w/t] - | -1 =1 =-=1T-T-1T-=-1T=-T-T-1T-7T-=
1. 0m ng/l | — - - - - - - - - - - -
2.0m ng/1 — - - — — — - — — — — -
3.0m mg/l | — - - - - | = — - - - | = -
4.0m e/l | - | = | - [ -1 -1 -=-1=-1-1-1-1T-=1T-=
§.0m ng/l | - - - - - - - - - - - -
6.0m g/l | - [ = -1 -1 -=-1T-1T-=-T-=-1T-=-T-=-1-=-1-
Jiadiil ng/l | — — — - = ~ - - = - - —
RPHEE KE | Lux | — - - - - — - - - - - =
Fadii] Lux - - — — — — — — — — — -
0.5m w | - T -1 -1T=-1T-1T-=-1T-=-1T-1-1T-=-1-=-1-=
1. 0m Lux — — - - = - — = = = — —
2.0m w | - [ -1 -1T-T-1T-=-T-=-1T=-=1T-=1T-=-1T-1T-=
3.0m . w | — | - [ =T -1T=-1T-T-T-T=-1T=1T-=71T-=
4.0m Lux - - - — — - - — - - - —
5.0m Lux - — - - - — — - - — - -
6.0m w | - | - [ -1 -1T=1T-1T-=-1T-=-1T=1T-=7T-1-=
JE Lux - - — — - — — -~ - — — —
EEm LORP | my - - - - — —~ — — — - — —
i x D OWD OfMz X Dkl




KEER (£ 1)

BFEA i i K%E£ FUARJ | EEHIIES B SE % | 34F (2001 48)
H H | B | 1/9 ] 2/6 | 3/6 [ 4/17| 6/8 | 6/5 | 7/3 | 8/7 | 9/19| 10/2 | 11/6 | 12/4 |[BeK{f|R/IME| F91H
X & - % a [ [ & 8 % 2| £ [ & W ‘
Fk R K5y [10:43]10:48[12:06] 10:06] 9:24 [ 7:43 [ 10:08] 10:11] 10:12] (0:06] 11:16] (0:10
2K m [ 4.38]3.99] 4.40] 4.06] 4. 11| 3.47]3.82]3.49| 4.58 | 4.62] 4.08 | 3.86
KRB m [0.50]050]0.50] 05070600560 ]060]050][050]0.50]0.5]0.50
& R € | 46| 47 12.3]17.8] 20125310 26.8] 26.6] 250 17.0] 8.4
K iR T 3939 2193|179 25.0] 28.8[ 26.4] 25.8 ] 21,3 16.1] 10.3] 28.8( 3.9 | 17.2
s B (&) — | MR SRR | R | R | BRINE | R | MOURGE | MR | IR | BRI | MRE | W
R & &k — | dmE ] e | dem | R | EeR [weose| R | R | sem | me | B | &
B em | 22.8] 26,318 7|10 tr,7 {143 12.9] 14.6] 27.4 ] 17.2] 20.5 | 17.5
BB m [0.62]0.46]043]0.28]0.23]0.16]0.19]0.3¢4]0.66]0.42]0.88]0.62]0.62] 0.15] 0.40
KA — 16 16 16 16 17 18 17 17 17 17 17 17
pH — | 7.88 ] 7.90 | 8.417] 8.98 | 8.40 [ 8.92 ] 801 ] 8.73]8.30] 8.47] 8.79] 8.84 [ 8.98 | 7.88 | 8.47
DO me/l [ 12.79]13.53] 12.60] 14.52] 9.31 | 9.66 | 7.91.[ 6.96 | 9.69 | 8.89 [ 10.86] 12. 23] 14.52] 5.96 | 0. 65
BOD mg/] | 4.26 [ 3.46 [ 4.19 ] 8.44 ] 5,70 [ 5,09 | 3.55 | 3.37 | 2.39 | 3.38 | 4.43 | 3.90 ] 8.44 | 2.39 | 4.35
ATU-BOD | mg/l | — — — — - — — — — — - - - ~ -
COD (Mn) pe/l | 8.00] 714 7.46 [13.21]11.20] 10.02] 9,64 | 14.02] 7.77 ] 9. 24 [ 7.52 [ 7.69 [ 14.02] 7.14 | 9.40
D:CODGMD | mg/) [ 4.78]4.56] 4.70] 6.42] 4.90| 5,25 4.95[ 5.84 | 65.40 | 5. 19| 4. 14| 4,08 5.84 | 4,08 | 4.93
'‘P.COD@Mn | me/l | 3,22 2.68 ] 2,75 7.79 | 6.30 | 4.77 ] 4.69]8.18 ] 2.37] 4.05]3.38] 3.51 | 8.18] 2.37 | 4.47
COD(p mg/1 | 20.12]18.62 20,42 36.84]33.62[20.11] 25.02]38.88] 23.57] 27, 96| 20. 28] 21, 75| 38,88 18.52 | 26.34
D COD(r) | mg/1 [ 9.560] 9.60 ] 9.60 [11.20] 9.50 [11.91|10.50]11.62] 9.66 [10.59] 9.00 | 9.54 [ 11.91] 9.00 | 10.18
5SS meg/1 | 13.0]13.0]13.6] 29.6]37.0] 26,0 30.5| 365.0[ 12,0 24.56[22.0] 24.0] 37.0] 12.0] 23.3
j{ﬂg‘gﬁﬁé%( MPR/10003] 1, TE42 | 4. 9B42 | 2, 3B43| 3, 3B+2| 3. 342 | 4. 9842 | 4. 9842 | 7. 943 | 7,9B+3 | 1. 3B+3 | 4, 9B43 | 4. 9842 | 7.9843 | 1. 7B4+2 | 2, 3843
TN we/l | 162 ] 2.06] Lo t.44|tsa| L16] 14| ta7 | t.e3 ] 1.63]2.69] a.70] 2.70( t.16] 1.73
TP mg/1 |0.11970.119]0.110]0.207]0.226] 0.216] 0.208[0.263]0.108] 0. (66]0.120]0.127] 0.263] 0. L08] 0. 66
NH,—N mg/1 | 0.01 ] 0.00]0.01[000]004]002]016[000]007[012]001]004]016]000]0 04
NO;—N mg/1 [0.014[0.020]0.014]0.019]0.014]0.002]0.045]0,002(0.028[0.034]0.035]0.031]0.046]0.002][ 0,022
NO,;—N mg/l | 0.63[ 1.46 [ 0.68 ] 0.08]0.09]0.00]0.20] 0,01 0.94]0.68]1.89] 1.80] 1.83] 0.00 | 0,70
‘IN meg/1 | 0.66 | 1.48 ] 0.60] 0. 11 [ 0.14] 0.02] 0.60[ 0.02 [ t.04 [ 0.83[ t.904] 1.87] 1.94] 0.02] 0.77
ON meg/1 | 0.89]0.610.88] (.33 1.20]0.95]0.96] t.02]0.70[ 0.8 [0.71]078[1.33]0.61]0.091
D ON mg/l | 0.44]0.43]0.48 ] 0.57[0.39] 0.52] 0.46 ] 0.65] 0.45 | 0.46 | 0.46 | 0.40 0.67 | 0.39 [ 0.47
‘P ON mg/1 | 0.45[0.18]0.40 ] 0.760.90] 0.60 [ 0.49] 0.47]0.26 [ 0.34]0.26] 0.38] 0.90] 0.18 [ 0.46
‘DTN mg/l | 109 191 ] 1.08]0.68]0.53[0,54]0.96]0.67] 1.49]1.29] 2.40] 2.27] 2.40] 0.53 ] 1.23
'TN mg/l | 1,54 2.09] 1.48 | 144 [ 1,43 | 114 | 1,45 | .04 | 1.74 ] 1.63 ] 2.65] 2.65 | 2.65 | 1.04 | 1,69
D+ PO4—P.| mg/l |0.009[0.006(0.003]0.007]0.004]0.005]0.020(0.060{0.006|0.018{0.006]0.005]0.060]0.003]0,012
D-TP mg/1 [0.061]0.020]0.020]0,037]0,048]0,028]0.042(0.088(0.017]0.038{0.019]0.014]0.088]0.014]0.036
‘p.TP we/1 ] 0.058]0.099]0.090]0.170[0,178] 0,188 0.186[0.175]0.091]0.128]0.101]0.13]0.188]0.058] 0. 130
1C mg/l 12127191z 93|13 12,8 13.4(13.2(12.611.8]12.3] 13.4] 11.8] 12.8
TOC g/l | 7.9 ] 6.9 ] 80 [12.1|1o.6]10.4] 9.3 | 12.5( 6.8 [ 88 | 7.4 | 7.2 [ 12.5] 6.8 | 9.0
‘TcC g/l L2t f19.6]20.9 1t ea. 7227221259200 20,4 19.2]19.5[ 25.9] 11.1] 20.6
D:0C pg/l | 47 4v ]l 41 s as] o] 4761 ] 47 46 41]3.6]61] 3.6] 458
‘P.OC we/l | 3.2 2.2 39 0| 6166 | 46 74] 21 42]33]36] 4] 2.10] 4.4
D:Fe mg/1 [ 0.02]0.07]0.06]0.01]0.03]0.04]007[003[0.03[0.04]0.05][0.00]0.07]0.01]0.04
D+Mn mg/1 | 0.00] 0.00] 0.00]0.00]0.00]0.00]000/[0.00]000[0.00]0.00]0.00[0.00[0.00]0.00
Fe mg/l | 0.17]0.34]0.06]0.38]0.95[0.68] 0,95 1.07]0.30] 0.49]0.56] 0,48 ] 1.07 | 0.06 | 0,54
Mn meg/1 ] 0.07]0.06]0.06|0.10[011]0.06]010]0.11]0.03]0.06]0.06][0.06/[0.11]0.03]0.07
Wk B | 16.0[14.8]18.2]40.9] 40.2 26.6 26.2] 31.6] 12.81 28.6 | 20.1 | 21.9] 40,9 | (2.8 | 24.7
WERQ0C) [ps/em| 284 | 266 | 284 | 269 | 261 | 257 | 244 | 302 [ 309 | 236 [ 198 | 224 | 302 | 198.| 260
Ca mg/1 | 17.3 ] 17.6] 19.3 | 16.8]15.9] 20,0 17.1] 18,9 | 16,6 16.6 | (4.6 | (8.1] 20.0 | 14.6 | 17.2
Mg mg/l | 8.16]6.90 ] 808 6,94 [ 6.85] 6.39 [ 6.70 | 4.06 ] 5.76 | 5.53 | 5.72 | 6.49 | 8.16 | 4.06 | 6:47
pHA8Z )V HUE| we/l | 69.4 | 64.5] 62.6] 62.3 | 54.7] 64.0 | 65.2 | 64.5 [ 51.4]50.1]40.9] 51.4] 64.5] 40.9 [ 54.2
p HY. 078 B mg/1 | 6.53 [ 65.78] 4.82 ] 0.34 ) 9.652]8.21 [12.33] 7.02[1.456 | 7.26 [ 7.30] 7.32[12.33] 0.34 | 6.41
pHI. 07V VE| ng/l — — — — — — — — — ~ — — — — —
S0,4% mg/1 | 29.4] 28.8]33.4[20.6[33.0f29.6]2n.7[3.4[2.7] 2.1 18.9]24.0] 33.4[18.9] 28.3
c1i- mg/l | 30.1 [ 26.2]37.6]28.231.7[ 309 24.7]40.0] 26.4] 23.1]9.85][ 16.6[40.0] 9.6 | 27.1
Na mg/l | 28.8 (24,7 ] 28.56 27.2 | 24.6] 24,1 [ 20,4 | 30.6] 21.2] 21.8] 13.9] 16.6] 3t.6 13.9 23.56
K mg/l [ 6.04 ] 4. 11 ] 4.33] 4,69 4.42 ] 4.44 | 4,02 | 6.60 | 6.16 | 5.59 | 3.50 | 3.67 [ 6.59 | 3.50 | 4.564
T - Si0, wg/l | 19.6 [ 17.0 [ 14.3 | 11.56] 18.6] 12.3 | 27.0( 20.7 | 13.6| 12.3]20.0| 21.9] 27.0 | 11.5 | 17.4
HEUH mg/1 [ 12.64]14.56]10.90] 6.33 | 9.11 [ 6.91 [15.24]15.92] 9.23 | 9.65 | 14.75] 13.77] 15,92 6.33 | 11,58
Chl-a e/ 1] 78.8]62.8 | 65. 1 [200.6[153.6[ 34.6 [ 97.2 ] 99.5] 80.5[107.7[ 71,9 ] 90.8 [ 200.6| 34.6 | 95.3
Chl-b pe/l 69 6.2 ] 80318 2.9oto.8[ 0.7 476943 L1]1.8] 1.7 ] 1.6
Chl-c weg/ Ll 6.6 4.3 ] 7.3 23320 1.7 [17.3] 5.4 [13.8]17.8] 6.9 6.9 [32.0] L.7]12.1
JaeF74F> |peg/) [ 17.0]38.8] 12.7] 0.0 [38.2]46.6] 11.0]99.3]10.2] 17.4]43.9]96.5]99.3] 0.0 [ 36.0
Bt A >y | mg/1 | 0,00 [ 0.00] 0.0 [0.01]0.02[0.01]002]003[004]0.01]000]0.01]0.04]0.00]0.02
% 1EIOHEB AR ORI X bR, 3. P-ON=(ON) — (D-ON) 6, P~TP=(TP)~(D-TP)
. P-COD=(COD)~(D-COD) . 4. D-TN=(IN)+(D-ON) L.TC=(IC)+(TOC)
2. IN=(NH4-N)+(NO2-N)+ (NO3-N) 5. TN=(IN)+(ON) 8. P-OC=(TOC)—(D~-0OC)




KEER (£D2)

SN GIES Bl b KRE4 FIlA) SilEZ By SR 34 (200148)
b | B | WAL ) 1/9 | 2/6 | 8/6 | 4/17| 5/8 | 6/6 | 1/3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 |BA{l| B/ ME| FiE
2—MIB e/ 1]0.02210.023]0.020[0.264]0.056[0.019[0.009]0.001]0.002[0.009]0.001]0,011]0.264]0.001]0.036
PAAI> [ peg/1]0.008]0.019]0.006]0.006]0.006]0,002]0.002]0.001]0.0010.003]0.002[0.005]0.019]0.001]0.005
| VamyyERRRR (NeR) | mg/) — - — — — — — — — — — — — — —
yoniEREE | ng/l | — - — — — - - - - - - - — - -
7uey iR | meg/l | — — - — — — — — - - - — - — —
Yrueitres | o/l | — — — — — — — — — — - — — ~ —
7 neihE R EE | me/l - — — — — — — — — — — — — — —
TNELE mg/l V620 2.06] 168 t.4d] o] ig] tadal e 73] teafa.69]2.70] 2.7 tis] 1.73
TNHBE me/l | — - — ~ — — - — - — - — - — -
TNTE mg/1 | 1.62 | (.87 1.60 ] 1.2 144 24| 150 | 106 L74]0.70] 2.56] 2.73] 2.73] 0.7 | L 61
TP.LEE mg/1 [0, 119[0.119]0.110]0.207[0.226]0.216/0.208|0.263/0.108]0.166/0.120]0.127]0.263[0.108]0.166
TPHE ng/l | — — - — | = = = — — - — — — — —
.TPTFE mg/1 [0.027[0.132]0.106]0.196]0,222[0.227/0.216/0,267[0.109]0.192/0.1456/0.127(0.267(0.106]0.172
COD LJE mg/l | 8.00] 7.14 [ 7.45 [13.20(11.20]10.02] 9.64 [14.02] 7.77 | 9.24 | 7.52 | 7.69 | 14.02] 7.14 | 9.40
CODHE ng/l | — - — — — - — — — — — — — — —
CODTFE mg/1 | 7.96 ] 7.58 [ 7.31 ] — — |10.07] — — — — — — [ 10.07] 7.31 ] 8.23
KB kE T — — — - — — — — —
Fadid) C 3.6 | 3.9 [ 1.2 18.0 | 24.5 | 28.8 ] 26.3 | 25.8 [ 21.7
0.6m T 3.6 ] 3.9 ] 1.2 18.0] 24.1 ] 28.6 ] 26.3 ] 25.8 | 21.3
1.0m T | 3.6 3.9 7.2 18.0 | 24.1 ] 28.6] 26.3 | 26.8 ] 21.3
2.0m T 3.6 | 3.9 ] 7.1 18.0] 23.8] 28.3] 26.3 | 26.8 ] 20.6
3.0m T 3.6 | 4.0 ] 1.1 ]1 17.9] 23.6 | 27.9] 26.3 | 26.7[ 20.5
4.0m T — - | 1.1 1.8 — — — [25.7]20.4 —
5. 0m C — — - — — = — — — — —
6. 0m T — — — — — — — — — — — —
JE I T 3.6 [ 4.0 [ 7.0 [ 17.6]17.6]23.5] 27.7]26.2]26.5]20.4] 16.6] 10,2
*DO AKE | mg/l — - | = — — — — — — — —
R mg/1 10. 1 8.7 75 7263 39] 83 ] 7.7]94] 9.5
0,5m ug/1 0.0 1.2] 817668 63]37]82] 1.3]93]09.4
1.0m ng/} 9.9 (1.2 7.6 | 7.6 [ 6.7 | 6.0 3.7 81| 7.2 89| 9.4
2.0m mg/1 9.6 [ 11.1] 7.4 ] 7.6 ] 6.4 [ 5.1 37|80/ 62|88/ 9.2
3, 0m ng/1 9.4 [10.6] 7.4 | 7.4 | 6.8 44| 3. 7] 78|60 82] 9.1
4, 0m ng/1 - Jas| — ] 1.1 - — — 15| 5.4 7.0 —
5. 0m mg/l — - - —_ —_ - - - - _ —
6. 0m we/l | — - - — — — — - — — - -
B mg/l | 12.4] 0.3 ] 0.8 | 7.6 7.0 5.8 ] 3.6 | 3.6 6.2 6378859
ke KB | Lux | 25190] 10600] 86700 70100] 24990 [ 34300 37000 21700 31200 | 12000 ] 16430 5430
i Lux {21160( 8140 | 67300 66800 18570 22800 186901 11250 25100 8980 | (1760} 3420 |
0. bm Lux | 6740 | 2302 | 17500] 4480 | 1313 | 3630 | 3370 | 910 | 8010 | 2029 | 2190 | 513
1.0m Lux | 5210 | 957 | 5460 | 481 | 123 | 680 | 317 | 104 | 3900 | 466 | 572 | 166
2. 0m Lux | 187 | 149 | 654 | 19 1 34 5 2 517 | 32 35 16
3.0m Lux | T 24 90 1 0 0 0 0 81 2 1 9
4.0m Lux 15 — 217 — 0 — - — 1 0 0 ~
5, 0m Lux — — — — — — — — - - - —
6. 0m Lux — — — — — — - — — - - —
T Lux - — — — — — — — — — — —
EEE.EORP | oV | 135 | 122 | 130 [ T3 | 43 [ 162 | 257 | 225 | 23 32 | 187 | 54
[E5 + DOD Oz X B HE i E




KEER (TD1)

SE A% L34 (200148)

Bl Eigi K% FUAR)| e Bl
IH H Bhr | 1/9 | 2/6 | 3/6 | 4/17 | 65/8 | 6/6 | /3 | 8/7 | 9/19 | t0/2 | L1/6 |- 12/4 | Bk | & MiE| FioE
- - i a8 [ i a8 & 2 s 5] [} 8 551
KK 4> | 10:16]10:19] 11:38| 9:45 | 8:50 [ 7:13 | 9:40 | 9:42 | 9:45 | 9:46 | 10:51| 9:45
ENRZY m |6.64]6.50]6.98]6.82]6.8 |6.36]6.41[603] 716 7.17]6.64]6.46
FR KR m [0.50[0.50]0.60]0.60]0.50]0.60]050]0.60]0.50]0,5]0.50] 0.50
& R Cc | 46| 47 10| 11.8]19.6]2.6]29.0[240]289]24.56]15.2] 8.4 v
K M c | 41 ] 3.6 69 |1n.6]17.7]230]27.3]25.9]26.2]20.8[16.1]10.1]27.3] 3.6]16.6
57|» @ (‘@,JFH) — BOKBE | WRIME | BRONE | SIS | RS | RINE | RNE | WRINE | RIBAE | KRS | dE | M
2 &K ik e AR AR AR AR AR AR A AR
frtiilin em | 23.2(or.sl a4t tnr 40 22,20 15,9 24,00 30,0 24,01 26,5 | 16.0
EUE m |0.54]0.46]0.61[0.40]0.28]0.27]0.26|0.563[0.63[0.68]0.68| 0.57 [ 0.68 0.26 | 0.48
K _fa — 13 16 16 16 17 16 16 17 17 17 17 17
pH — | 782 7.91[822]8.87]8.06] 839809 7.93]8.62]8.47)8.89]8.91]891]7.82]8.35
DO mg/l [12.78]13.19]12.42[11.43] 9,06 [ 9. 03[ 8. 30 7. 12 | 11.06] 9.94 [ 8. 79 [ 1. 6113, 19] 7.12 | 10.39
BOD mg/1 | 3.42] 3.06] 3.11 [ 4.16(3.601]2.99] 2.79] 2.34 [ 409 2.47(3.67]3.30[ 4.15 ] 2.34[ 3.23
ATU-BOD | mg/l | — -~ — — — — — — — — — — - — —
COD (Mn) wg/) | 769 770 7.76 | 8.32[ 8,68 7.66 | 8.06 | 7.87(8.17] 8.41[8.19] 8. 14[ 8.58] 7.69 | 8.05
D:CODOm | mg/1 | — - — — — — — — — — - — — — -
'PeCODG | mg/t | — | = | = | = | = | - | = | = | - || =] =|=1]=1]=
COD(Cr) wg/l | — — — — — — — — — — — — — - -
D:coD({n | mg/l | — — — ~ — — — - — — — — — — —
SS mg/1 | 11.6] 10.3] 10.0] 16,6 31.0] 156.6] 24.6 | 16.0] 10,0 14.6] 20.5] 23.0] 31.0{ 10.0 | 16.9
j(ﬂ%%ﬁ& uPN/100m1 | 2, 3B42 | 2. 3B42 | 3. 3E+2| 4. 9842 | 7. 9842 | 1. 7B42| 4, 9842 | 1, 7TE43 | 1, 3B+3| 2. 3B+2 | 1. 3E+3 | 4, OB+1 | [, TE+3| 4. 9E+1 | 6. LB+2
TN mg/l | 129 [ (.42 ] 1.32]0.93[0.89[0.78]0.88] 0.98[0.77 ] 1.03] .43 .62 1.2 0.77] .10
TP mg/1 [0.109]0.096]0.085/0.121]0.162[0.130[0.165]0.166]0.106]0.119]0.119]0.122]0.166]0.085]0.122
NH,—N mg/l [ 0.02]0.00]0.00]0.00]0.03[0.02]0./06/[0.08][0.02][0.00]0.02]0.02]0.00][0.0t]0.03
NO,—N mg/1 10.011]0.013]0.009[0.001]0.001]0.001]0.007]0.012]0.005]0.021]0.023]0.022]0.023]0.001]0.0L(
NO,—N mg/1 ] 0.35]0.67]0.28]0.02]0.00]0.00[0.01]002]001]0.19]0.63]0.707[0.70]0.00]0.24
‘1IN mg/1 [ 0.38]0.69]0.30]0.03[0.03]0.02]0.08[0.11[0.04[0.30]0.67[0.74[0.74] 0,02/ 0.28
ON me/1 | 0.84[0.70 ] 0.87] 0.8 0.81 [0, 70]078]078]073]072]075]07]08]07]078
D' ON we/l | — - — — — — — — — — — - - — -
‘P - ON mg/l | — - - - - - - - - - - - = — -
‘DTN ng/l | — - — - - - - - - - - - - — -]
VPN mg/1 | 1.22) 1.39 [ 1.17]0.91 ] 0.84) 0.79 ] 0.88] 0.89 ] 0.77 ] 1.02 ] 1. 42| 1.49 ] 1.49 | 0,77 | 1.07 |
D:PO4—P | mg/l |0.009]0.004]0.003]0.003]0.003]0.004]0.011[0.043[0.005]0.013]0.003]0.007]0.043] 0.003 | 0,009
D-TP mg/l | — — — - — — ~ — - — — — — — —
‘P.TP mg/l | — - - - - - - - - - - - - - -
1C g/l | 146 140 140 [ 1015 0] 13.6]13.9 ] 14.7]16.0] 1. 4] 13.7]14.2] 16.0] 13,6 14.4
TOC mg/l | 7.3 7.3 w68t r7|68] 2817380 76| 7.3]s81]68] 175
TC wg/l [ 209 2t 9 a7 2.1 ]22.8]20.4] 2.1 22.8]23.3] 22,4213 2at.5) 23,9 20.4] 22.0
D-0OC ng/l | — — — — — — — — — — — — — — —
'P.OC ng/l.| — - = — — — - = — - — — - - -
D:Fe mg/l ] — - - - - - - - - - - - - - -
D-Mn g/l | — - — — — — — — — — — - — - —
Fe mg/l | — - - — - - - - - - - - - - -
Mn mg/l | — — - | = - - - - - .| = - - - - -
B B o148 131 t3.6 187267 16.5] 183 143|112 145 17.6|2L.8] 2.7 101.2] 16.7
BERO0C) | ps/en| 312 | 293 | 304 | 302 | 326 | 311 | 312 | 326 | 326 | 293 | 263 [ 268 | 326 | 263 | 302
Ca mg/l’ — — - — — — — — — — — — — — —
Mg mg/l — — — — — — — — — . — — — - - —
pH4. 87 V] mg/l [ 60.7]60.8 ] 64.4 ] 61.4[72.9]569.3]60.4[66.9]66.0[67.2[47.7]567.7]72.2]47.7][61.1
p HY. 08 2| mg/1 | 7.60 | 6.60 | 3.57 [ 5,68 6,80 8.67[10.90] 9.23 [2.72 | 7.98 | 6.09 | 4.02 [ 10.90] 2.72 | 6.56
pHY 07 NAHVE mg/l | — - — — — — — - - - - — — — -
S0,2~ ng/l | — — — — — - - — - - — - — - —
cl- mg/l | 38.8 | 34.7]46.0( 38.9 ] 47.8] 46.2 | 42.5 | 45.8 | 62.4 [ 37.56 | 27.0 | 27.7[ 62.4 | 27.0 | 40.4
N a ng/l — — — — — — — — — — — — — — —
K mg/ I — — — — — — — — — — — — — — —
T « 10, ng/l | — — = — — — - — - - — — — — -
ERE I N e N R I R I I I I e
Chl-a pe/ 1] 66.3|59.6(5%.9(75.9]63.6]29.9|64.253.0[756]8L.5]59.6]|8.1]8.5]29.9] 627
Chl-b pe/l] 1460 269867 3.1 6364 44]63]44]1.8]86] 1.8/ 5.7
Chl-c weg/1] 9.4 [ 6.1 [ 1.6 ] 7.9 3.8 9.3 | 12.4[17.8] 145 6.6 ] 2.0 | 171.8] 1.5 | 8.7
JrA74Fy |\ pne/1] 16.6]22.9] 13.9] 4.5 18,3 2.1 | 56.3| 7.2 | 1.6 | 38.4|12d.5]124.5] 1.6 | 26.9
bt A gEmtesl | ne/l | — — — — — — — — — — — — — —
i EORBRAKOFRIZ L Dk, 3. P-ON=(ON)—(D-ON) 6, P-TP=(TP)~(D-TP)
I, P-COD=(COD)—-(D-COD) 4. D-TN=(IN)}+(D-ON) L, TC=(ICY+(TOC)
2. IN=(NH4-N)+ (NO?2-N) + (NO3-N) 5. TN=(IN)+(ON) 3. P-OC=(TOC)—(D-0OC)




KEER (£D2)

B e | s K4 [FHRI )14 B Pkl 34 (20014F)
JH B | B | 1/9 | 2/6 | 3/6 | 4/17| 5/8 | 6/6 | /3 | 8/T [ 9/19 | 10/2 | [1/6 | 12/4 |eRfl|fme/IMill| Y3l
2—MIB g/ 1]0.002]0.023[0.024[0.152]0.032|0.0120.007]0.001{0.000]0.002|0.0030.013) 0.162 | 0.000 [ 0.023
PAAZ wg/ 1]0.006]0.016]0.006[0.0140.020]0.003]0.003]0.001]0.000]0.001]0.002]0.005]0.020 | 0.000 | 0.006
Mpnag kA (ep) | mg/1 | 0.091]0.097(0.154|0.044]0.088[0.096|0,129|0.142}0.081)0.081[0.060|0.068)0.154)0.044]0.093
yooibhAEpRAE | we/1 | 0.037]0.047]0.084)0.025]0.038/0.049]0.068|0.071[0.032]0.041)0.03]]0.035]0,084]|0.0265]0.047
7 uey ymarvERk | mg/l |0.034)0.034]0.0490.013)0.033)0.032)0.041(0,047(0,030)0.028]0.020)0.018]0.049|0.013|0.032
V7 eyt | mg/l 10.018]0.016|0,019]0.006)0,016]0.014)0.018]0.022({0.017)0.01i]0.008)0.005]0.022|0.006|0.014
7' nEhAERRAE | me/L [0.002]0.001(0,002]0.0010.001|0.001]0.002]0.0020.002)0.0010.001)0.000]0.002] 0.000] 0.001
TNLE wg/l | 1.29 | 1.42 | 1,32 0.93]0.93)0.78]0.88]0.88 ] 0.77(1.03)1.43)1.52( 1.62]0.77) .10
TNHE - | mg/l [1.30) 1.44 | 1,26 | 0,92 | 0.86 [ 0,78 | 0.90 1,02 | 0.84 | 1.01 | 1.30 | 1.37f 1.44 | 0.78 | 1.08
TNTE mg/l | 1,38 ] 1,16 1.240.88 ] 0.89 ] 0.83 ] 0.92 | 1.00 | 0.85 | 1.08 | (.24 | 1.41) 1. 41| 0.83 | 1,07
TP.LE mg/l |0.109]0.096|0.086/0.121]0.121|0.130]0,165)0.165{0.106)0.119/0,119/0.122)0,156]0,085| 0.12
TPHE ng/1 |0.102|0.098|0.086)0.104|0.155]0,134|0.166]0.160(0.139]0,119)0.113)0.114f 0.16 [0.0860.123
TPTH mg/1 |0.105]0.084]0.085]0.107]0.169]0.141]0.247[0.178]0.100(0.127]0.113[0.1080.247|0.084]0.130
COD.LJE mg/l | 7.69 | 7.70 | 7.76 | 8.32 [ 8.32 | 7.66 | 816 | 815 | 8.17 (8,41 | 819 8. 14] 8.41 | 7.59 | 8.06
COD*HE ng/l | 7.67 | 7.77| 7.57 807|860 7.74)819]9.68]7.64)849|826|792)9,68]757]8.13
CODTJE | me/l | 7.96 6.98 | 6.62 | 7.60 | 8.62 | 8.43 | 8.35 | 9.36 | 8.06 | 8.88 | 7.68 | 7.83 | 9.36 | 6.62- | 8.02
KR KE [ € | = | = | = [ = = | — [ =1 -1 =-1-1-1-+=
il T | - -1 - -1T-T-1T=1T-T-T=-1T=-1T-=
0.5m T | - | - - [ -1 T -1T-1-=-T-1T=1M"-—""1"-=
1.0m c | -1 -] -1T-1T-1T-1T-1T=-T-T=-T-=-"1T-=
2.0m < | - [ - [ =1 -1 -1 -"1T-"1T-=-1T-=-1="1T-=-1-=
3.0m T | - -1 -[-T-T-1T=-1T-1-"T-=-T-=-1+=
4.0m Tl -1 -1 -1 -1 -"1=1T-=-1=-1-1=-=T-=1=
5.0m T | -1 -1-1T-1T-1T-1-1T-T-1T=-T=-71T-=
§.0m < | - [ -1 -1 -1-1T-1T-1T-=-1T-1=-1T-=-1=
R T -l -l -J-l=1=-] === =1]=1=

*DO_ Kb w/t| -~ | = [ - -] -1 -1 =-1=-]=71T=1=1+=
I /1| - | - | -]l - =-]l-]=-0 -] =1]=1=1=
0.6m | mg/l| — - - - - | - - - - - - -
L.0m e/l | - | - [ - [ - - -1 -1 -1-1-1-1+-=
2.0m e/t | - [ - | - | [ -1 =] -1T=-1T=7T=-T-1T+=
3.0m mg/l | — - - - - - - - - = = -
4.0m pg/l | — - - - — - - - - — - -
5.0m /1| - [ - | - [ -1 -1 -1-1T-1T"-T=-T=-T1T+=
6. 0m g/l - | - -]~ -] -] -1T=-1=1=71=17=
JE T mg/l | = | ~ | =]l =] -1 —-—]=-1=|=1=71="1=

RepdEE kb | Lux | - [ - | = | =] = | = | = | = |~ || =] =
B iy | - | - -] -7 -=-7T=-t=-1=-1=-1]1=1=1-=
0.5m wx | - | - | - | =~ =-1T-1-1T-T1T-1T-1T=
[.0m w | - | - | - [ =1 -1-1-1-[T=-T-1T-=-T1T=
2.0m w | - [ = [ =1 =-1T=-1T-1-T-T-=-T=-T=-71T=
3.0m w | - [ - [ -1 =1T-1T-1T-T=-T7T=T-1T-=-1T=
4.0m by | = | =] -] ===l =-1l=-]1=1]1=/1=1=
5. 0m w | - [ - [ =-1T-1T-1T-1T-1T-1T-T-=-T1T-=-T=
6.0m wx | - | - [ =1 =-=1T-1T-1-T-=-T=T=-1T=-1T=
JEm Lux - - = — - - — — _ — — -

ERE@EORP | o | — | — [ =1 -~ ["=— 1 -1 ~-1—-1 =1 =-1=1~
[FE2 + DOIID ORMz & B iR




) KEER R0O101) -

D W K%E% FIAR)1) Jil£ o S0 348 (200148)

b B | Mar | 1/9 | 1/23 | a/6 | /13| 3/6 | 3/13 | 4/10 | 4/17 | 5/8 | 6/15 6/12 | 1/3 | 1710 | 8/1
E — [ &8 & & [ & [ [ & 2 & 8 a8
HEIKEER) ey [ 7ets | 730 | 7:07 | 7:65 ] 8:40 ] 6:54 | 7:30 | 7:47 | 5:52 | 8:35 5:28 | 5:40 [ 6:50 | 6:10

EXRA m |6.30]612]609]591]6.95]6.15]610]6.12]6.15][86.01 5.94 | 6.81[6.81]5.76
KRG m | 0.50] 050050 ]050]050]050]0507]0.50(0.50][0.50 0.50 | 0.50 | 0,50 | 0.50
! C .6 | 2.8 2.9 .2 687 2.0 13.8]166]16.9]25.5 18.0 | 23.2 ] 25.5] 23.4
K OH T 3.6 | 3.0 [ 3.3 [ 35| 6.4 6.7 [13.6]160]16.5 22.0 ] 26.0] 26.8 | 265.8

A B () — BN | RN | MRINE | AR | BRNEA | KBNS | SRR | BRI | U8 | BtkeN MIBE | BB | WIKAS | BRANE

G EEAAE AR E AR A R AR A T AR T AR AR
B ew | 20,6 31.5 | 23.0 | 37.6 | 23.5[ 26.5 | 26.0] 23.1] 24.9 20.3 ] 24.3] 19.7 ] 20.0
SHEH m |0.47] 0,80 | 0.52]0.67]0.49] 0.58 ] 0.60 | 0.49 | 0.63 | 0.6l 0.44 | 0.51 ] 0.45 [ 0.48
KB — 18 16 16 16 1§ 18 16 16 16 17 16 17 |17

pH — | 7.80 7.8 ] 7.78] 7.82[ 8,05 7.88| 8.06[ 8.18 | 8.13 7.98 [ 7.85 ] 7.78 ] 7.93
DO wg/l [12.96] — |12.86] — [12.54] ~— — 110.39] 9.92 — [6.79] — ]s.87
BOD me/l [ 3.11] — [2.8] - [3.4] — — [ 3.41] 2.6l — | 1.49 — [ 2.32

ATU-BOD [mg/l | 1.97] — | 231 — [3.25] — ~ - — — — - —
C OD (Mn) mg/l [ 700 7487674766 7.4l | 7.46 717 7.62 7121 6.79] 6.45 | 7.51

D-CODMn | mg/1 | 4.62 ] 4.76 | 4.656 [ 5.05 [ 4.91 | 4.70] 4.67] 4.79 | 4.54 4,891 5.20 | 5. 4. 89

'P.CcOoDG | me/l | 239 272 2.87[ 200 2.75 [ 2.7 [2.89]238]3.08 2.23 | 1.69] 1.38 | 2.62

. COD(Cr) mg/t [16.82] — [16.42] — [17.712] — — |16.62] 16.41 ~ [16.02] — [15.13

D.-CODCr) | mg/1 |9.81| — [841] — |891| — — |10.41] 8.30 — |10.91] — | 832

S S g/t [ 13.6] 9.6 [14.0] 9.6 [ 12.3[ 11.0] 10.0]12.5][ 16.5 17,5 [ 12.0 [ 12.0 21.0
KIS |wywom| 20841 | — 70841 — [7n.9EH1| - — | 2.384+2] 4. 9841 — Ly — |39
TN mg/l | 1,05 ] 1,30 0.94f (.36 (.15]0.90[0.92]0.8]0.76] 0.73 0.81 ] 0.79] 0.87] 0.87
TP mg/1 |0.119]0.058] 0.090]0.072.0.085[0.077]0.102]0.093]0.116[0,097 0.111]0.126[0.142]0. 164

NH,—N mg/1 [ 0.02]0.03]0.01]0.04]0.02]0.06]001]002[0.02]0.03 0.01]0.09]0.19]0.09
NO,—N wg/1 [0.009]0.010]0.009]0.008]0.007]0.008]0.002]0.001]0.001]0.001 0,001]0.018]0.035]0.023
NO,;—N me/t [ 0.24 [ 0.18]0.31]0.31[0.16][0.02]0.00]0.02[0.01]0.00 0.00 | 0.04 | 0.06 | 0.05
‘IN mg/1 | 0.27]0.22]0.33]0.36[0.18[0.08[0.01]0.04]0.03]0.03 0,00 [ 0.15]0.29] 0.16

ON mg/1 [ 0.7210.94]0.66]0.88]0.85]0.66[0.87]0.75]0.71]0.70 0,78 ] 0.63] 0.51 [ 0.70
D+ ON mg/1 | 0.46 | 0.44 | 0.40 | 0.47 ] 0.45 | 0.38 ] 0.39] 0.39 | 0.34 0.39 [ 0.41] 0.4 | 0.4l
'P - ON mg/1 | 0.27]0.50]0.26] 0.41]0.40] 0.28[ 0.48] 0.36 | 0.37 0.39]0.23 ] 0.58 [ 0.29
‘DTN mg/l | 0.72 [ 0.66]0.73]0.83]0.63]0.46 | 0.40] 0.43] 0.37 0.40 | 0.56 | 0.29 | 0,57

'TN mg/l ] 0.99] 1.16]0.99] 1.24]1.03]0.74 ] 0.88] 0.79 ] 0.74 0.79 ] 0.79 ] 0.87] 0.86

D:-PO4—P | mg/l [0.009]0.007]0.004]0.006]0.0020.004]0.000]{0.004]0.003[0.005 0.001]0.019]0.050]0.045
D-TP mg/1 [0.059]0.009(0.017]0.020]0.022]0.016[0.016]0.016/[0.044]0.011 0.036]0.036 | 0.086] 0. 069
'‘P.TP mg/1 |0.060]0.049[0.073]0.052[0.063]0.061]0.087]0.077]0.072]0.086 0.075]0.091[0.056]0.095

1C mg/l [ 13.9] — 133 — [13.7] — ~ [13.5] 143 - 167 ~ J1n1
TOC we/l | 6.1 | 6.6 69 7876|179 172|718 7.9 | 7.4 ] 6.8 ] 6.2 [ 7.1

e mg/l [ 2000 — [20.2] — [21.3] — — T20.7] 221 25,8 7.4 [23.5] 0.0 | 24.2
D-0OC e/t | 40 [ 3.8 42| 47 ] 44 45 ] 42 ] 40] 4.2 3.9 | 42| 47| 44| 4
‘P.OC g/l | 2.1 [ L8 2.7 3t 32] 26| 37]32] 3.6 40 3.2 2.1 ] 00] 2
D-Fe mg/l [ 0.03] — [o06] — [0.03] — [ — [o.08]0.02 0.00] ~ 005 — 0.0
D+ Mn mg/l [ 0.00] — [0.00] — [0.00] — — [0.00] 0.01 0,00 — Jo00] — Jo.0

Fe mg/l [o.20] — Jost| = Jo22| — — o3 ]o0.19 0.2 — o4 ] — |05

Mn mg/1 [ 0.05] — [0.03] — [o0.06] — — o1 004 0,06 — |[o0.05] — [0.0
W E g 1] — [141] — [18.7] — — | 13.4[ 15.5 7.0 — |12.4] — |11

BERQC) |us/co| 330 [ — 331 — 36 | — — 31 333 — 325 — 336

Ca e/l 191 — [190.3] — [19.6] — — |18.6] 18.2 — [19.3] — [ 20.5

Mg mg/l | 9.03] — [854] — [8.69] — — | 8.57]9.60 — | 841 — |44

pH4. 87V V| ng/l [60.3] — [62.2] — [863.7] — — [ 62.1]66.3 — [60.4] — 166.3
p.HY, 02 B me/1 [6.39] — [6.69] — |4.99] — — | 6.72] 6.46 — [10.90] — |8.86
pHY. 0PIV ) B mg/l | — — — — — — — — — — — — —
S0O,%” mg/l [ 341 — [3.0] — [231] — — | 34,4 38.7 — | 361 — | 349
ci- mg/l [ 441 — [44 1] — [20.5] — — | 41.5] 49.9 = |47.3] — [49.3

N a pe/l | 36.4] — [340] ~ [337] — - | 34.0] 338 — 35| — |31

K g/l [6.22] — [557] — [472] — — | 516 5.59 — |42 — [s.21
T + S10, we/l | 21.8] — [1ne| — | 41] — — | 1.6 ] 12.8 — [26.6] — |29

Har)h we/l [11.23] — [1L.97] — [11.06] — - |4l 610] - — | 13.59] — |18.42
Chl-a g/ L] 63.6]61.8]36.8]42.8[560.6] 76,2 50.9/42.6] 39.7] 42. 50.6 | 26,1 22.9] 62.0
Chl-b peg/l 64 13 4t ] st r9] 9] s 2] 41] 5.0 3.4 | 6.9 5.0 5.4
Chl-¢ pe/tlto.t ] 57 20| s 26 [10.2] 1.7 ] 3.8 113 6.8 | 11.4] 8.2 | 3.6

JaxA74Fy |pe/1]23.5] 1.0 [ 44.6]20.6] 8.8 2.7 ] 0.6 1.6]12.8 2.6 | 13.1] 14.2] 24,3

M A RmwEtER | mg/t [0.00] — [oo00] — oo = [ — [oo1]o.o0i — o000 — [o.o0l

e OB H IR OB EIc L bRk, 3. P-ON={ON)—(D-ON) 6. P-TP=(TP)—(D-TP)

I.P-COD=(COD)—(D-COD)

‘4. D-TN=(1N)+(D-ON)

5, TN=(1N)+(ON)

1. TC=(IC)+(TOQC)
8, P-OC=(TOC)—(D-0C)

2. I N=(NH4-N) +(NO2-N) +(NO3-N)




KEEX (FD1D2)

B4 Wit K74 FUARJI [IES B SR 34E (200148)
H E | BAAZ | 8/14 | 9/19 | 9/25 | 10/2 | 10/9 | 11/6 | 1L/13] 12/4 | 12/11 | K8 B/ IME| T
X B -~ & 8 | 2 & 8 | K ™ [
KK B4y | 7:00 | 6:53 | 6:48 | 7:00 | 6:67 | 7:31 | 8:00 | 7:26 | 8:10
2R m |548[6.38[56.96[6.33[6.97]6.10]6.10[5.91]5.95
FRAK K m |0.50[0.50]0.50] 0,50[0.50]0.50]0.560 | 0.50 | 0.60
& H C | 240|244 17.8]19.4 ] 17.5[145]13.8] 8.2 | 6.8
KR C |[25.6]25.9(20.5] 2057 19.0[16.1]13.0[10.2| 887/ 26.8] 3.0 15.7
5 B/ O(BH) — | omE | news| enes | wrem| aen | soea | oves| wes | wees |
B K vk — | R | £#R (&R | GR | 82 | 88 | BB | ER (PR
BERE em | 28.5 | 34.8 | 26.3| 25.4 [ 16.4[ 39.0[ 30.0 23.5 [ 19.0
HBREE m | 0.50]061]066]058[0.38]0.96/0.68]0.71]0.62/]0.96]0.38]0.68
K8 — 17 16 17 17 17 17 ] 16 17 17
pH — | 8.26]8.64] 8.668.35] 8165|835 804]8568]|8.16/[868]|7.78]8.12
DO g/l | — [9.40] — |9.d40] — [lo.14] — |[10.74] — |12.96] 6.79 |'10.08
BOD mg/l | — [t.52] —~ [too] — [1.68] — [ L.s6| — | 4.43] 1.09 | 2.46.
ATU-BOD | mg/l | — — — — - | = — — — | 3.25 | 1.97 ] 2.51
COD (Mn) ng/| .07 7.46 | 1.74 | 7.76 | 6.36 | 6.74 | 6.57 | 7.41 | 7.88 | 6.36 | 7.26
D CODGMn) | ng/l 5.38 [ 5.44 | 5.36 | 4.44 | 4.45 91| 4.02 | 4.74 [ 5.44 | 4.02 | 4.81
‘P CODG | meg/l | 1. 1,79 | 2.02 | 2.38] 3.32 | 1.91 2.55 | 2.67] 3,48 | (.38 | 2.45
COD () mg/l | — 1606 — |17.718] — |15.28 14.99] — [17.91]14.99] 186.27
D:CODr) | mg/l | — [10.90] — [11.66] — [9.04| — |8.8 | — |11.66] 830 9.65
SS mg/l [ 12.5] 9.6 [16.5 ] 17.0] 30.5] 12.0 [ 1.5 16.5] 19.5] 30.5 | 9.5 [ 14.4
Kipwmesk  [wwoont] - [1smt3] — [roemtz| — [roems2| — [t — [1.3m+3]2. 0841 3. 3642
TN mg/l | 0.73 ] 0.60f{0.68[0. 73] 0.82]0.66]0.68]0.80 | 0.79] 1.36 ] 0.55] 0.85
TP mg/l [0.145[0.100]0.095]0.(03[0.126[0.074]0,078]0.092(0.105]0.1640,058(0.103
NH4—N mg/l [ 0.05]0.00 [ 0.00[002]0.01[0.02]003[0.05]0.00]0.19]0.01]0.04
NO,—N mg/1 [0.026[0.001]0.002]0.001[0.001]0.002]0.004]0.006]0.003]0.035[0.001]0.007
NO3z;—N mg/t | 0.02 | 0.00[0.00[0.00]0.08[0.01]0.44]0.05]0.040.44 ] 0.00] 0.08
'IN mg/l [ 0.10[0.00 [0.01]002]009]003]|0.47]0.11[005]0.47]0.01]0.13
. ON mg/l | 0.63]0.61|0.66]0.67]0.70|0.54|0.60]0.69]0,74]0.94] 0,51 0,7
D:ON mg/) | 0.37]0.46) 0,48 [ 0.45]0.38] 0.38] 0.36]0.36] 0.40| 0.48 | 0.34 | 0.4l
‘P ON mg/l | 0.26 [ 0.16 [ 0.18]0.22]0.32]0.16]0.24]0.33]0.34] 0.58[0.16] 0.32
‘DTN mg/} | 0.47]0.46 ] 0.49] 0.47] 0,47 ] 0.41 ] 0.83] 0.47] 0.45] 0.83 ] 0.29 | 0.52
'TN mg/] | 0.73 ] 0.62[0.67]0.69]0.79]0.67]1.07[0.80)0.79] i.24 [ 0.67] 0.84
D:«PO4—P | mg/l |0.040{0.007]0.007]0.008]0.018]0.004|0.004|0.007]0.006]0.050]0.000(0.01(
D'TP mg/1 [0.074]0.020(0.019]0,025[0.030]0.016/0.016]0.016|0.019]0.086]0.009] 0.030
'‘P.-TP me/l [0.071(0,080]0.076]0.078]0.095]0.058]0,062]0.076|0.086]0.096]0.049 | 0.074
I1C ng/| — 16.8 — 16.4 — 14,1 - 14,9 — 17.9 | 13.3] 16,1
TOC g/l | 6.2 | 6.2 65 ] 7082 ]65]66]62|72]82]%66]170
T C mg/l | — [22.0] — [23.3] — [20.6] — [at.1| — ]26.8] 0.0 | 19.4
D:0OC mg/l | 4.4 | 4.6 | 4.7 4.6 [ 4.1 ] 3.9 4.4] 8.6 4.1 ] 47| 85| 4.3
‘P-OC mg/l | 1.8 | 1.6 1.8 33 [ 41|26 66[27]31]66]00]29],
D:Fe- g/l | — [o002] — [oo04] — [0.02] — |0.03] — [o0.06]0.00]0.03
D Mn me/1| — [000] — (000 — Jo.o00] — Jo0.00] —-]0.01]0.00]0.00
Fe mg/1 | — [0.18) — [0.82] — |0.29] — o3| — ]0.58]|0.13]0.29
Mn mg/l | — Joo02] — [o03] — |o0.03] — |o0.04[ — Jo.11]0.02]0.05
w g )i — [t10.2] — [1&s5] — | 93| — [13.7] — [186] 9.3 | 142
WERO0C) |ws/em| — | 336 | — | 30| — | 332 — |32 - 350 | 313 | 329
" Ca mg/l | — [20,0f — |19.6] — [182] — |18.9| — |20.6]18.2] 19.2
. Mg mg/l | — [9.43] — [o.36] — [9.62] — |865| — | 9.60] 4.42 | 8.62
pH4& 87 WHUE| me/l | — [63.9] — |63.2] — [5656.6] — |62.0] — | 66.3] 66.6| 62.3
p HY, 0F Bl mg/l | — 200 — |68 — [7.48] — [1i4.4] — [14.40] 2.00] 7.35
pHY. 07 WHUE| mg/l | - — — — — — — — — — — —
504%° mg/l | — [365.6] — [984.6] — |29.4] — |[283| — [387[22.1]32.2
cl- wg/l | — [56.3] — [52.9] — |42.3| — |40.8] — | 66.3] 29.5] 45.5
Na mg/1 | — [39.2] — [40.3] — [36.1] — |392.0] — |40.3][32.0] 35.1
K mg/l | — [6.08| — [694] — [6.76] — [6.01 ] — [694]|472[574
T » 8i0, mg/l | — [t12.7] — 28] — [1L.5] — |12.4] — | 266 7.0 | 15.3
U mg/l| — 860 — |68 | — [53] — |508] — |18.42] 5.08] 9.30
Chl-a ueg/ 1] 42.5 1 57.2 | 64.3 ] 50.6 [ 66.4 ] 23.2 | 68.2| 68.5| 83.1 [ 83.1 | 22.9| 48.7
Chl-b we/ L] 5.0 3.6 | 1.3 ] 3.2 .6 [ 2.9 [ 40| | 1.9 ] L2 ] 46
Chl-¢ ne/l] 5.8 [ 16.6] 5.1 | 16.7 . 6.6 | 7.8 ] 9.6 | 17.0] 17.0] 0.3 | 8.1
JrAT74F> |ueg/1| 2.9 ] 3.6 [36.3]22.4 [ 13.1] 8.4 [ 4.3 | 24.2] 0.0 | 445 0.0 | 13.5
A A SRR | e/l — 0.01 — 0.0! — 0. 00 — 0. 00 — 0.01 [ 0.00 ] 0.01
{2 1HIOFEAAR OB L DR, 3. P-ON=(ON)—(D-ON) 6. P-TP=(TP)—(D-TP)
' [.P-COD=(COD)—(D~-COD) 4. D-TN=(IN)+(D-ON) 7.TC=(IC)+(TOC)
2. I N=(NH4-N) +{(NO2-N) + (NO3-N) 5. TN=(I N)+(ON) 8. P-OC=(TOC)—(D-0C)




KEER (ZO201)

S B0 K%t FlARI i1 45 Bri SRR 34E (20014F)
H B | Bfr | 1/9 | 1/28 | 2/6 | 2/13 | 3/6 | 3/13 | 4/10 | 4/17 | 6/8 | 5/16 | 6/6 | 6/12 | /3 | /10| 8/7
2—-MIB |4g/1]0.006[0022]0.013[0.022[0.022]0,032]0.105]0.105]0.0t7]0.025]0.014]0.006| 0,005 0.003]0.000
DA AZ>  [ne/1]0.006[0.000]0.014][0.012]0.004]0.010]0.025]0.011]0.017]0.013]0.003]0.002]0.002]0.001]0.001
Wanay skt riiee) | me/1 | - — — — — — — — — — - — — - | = —
yooibhdEpfiE | me/l | — - - — - — — — - - - — - — -
7 bty IomigvERL | mg/l - - - - - - — — - - - — — - -
yrwedbiEs | ng/l | — — — — - - - — — — — -~ - - —
7 pekbhdi ke | mg/l | — — — — — — — — — — — — — - —
TNEE mg/l [ L0 1.80] 0.94 [ 1.36 [ 1.15]0.90[0.92 [ 0.8 [0.76[.0.73]0.74]0.81]0,79 ] 0.87 [ 0.87
TNJE mg/L | L1t — o090 — [t.12] — — lo.80]072] — 078 — |0765] — [0.85
TNTE me/t [ LL10] — [o091| — [ L10] — — losr{om] — Jowm] — [o083] — |o87
TPLEE mg/1 [0.119]0.068]0.090]0.072]0.085]0.077]0.102]0.093]0.116[0.097]0.113]0.111]0.126]0.111]0, 164
TPHE mg/l [0.119] — [0.093] — [0.086] — — |0.098]0.122] — |o.106] — [o0.106] — |o0.164
TPFIE mg/l [0.119] — [0.096] — [0.090] — = 10.099]0.122] — lo.t14] — |o0.227] — 0. 1686
COD L mg/l | 7.00 | 7.48 | 7.62 | 7. 14| 7.66 | 7.4t [ 7.46 | 7.17] 7.62 ]| 7.82 [ 7.88 | 7.12] 6.79| 6.45 | 7.5l
CODHE ng/l | 8.37] ~ [71.32] - 763 — ~ | 611|141 — 9.0t — |6s51] — | 759
CODFRE |me/l[8.32] — [681] - |1.31] — — | 144768 — |7.18] — [1.5] — | 8.05
A kb C - — - - | = - — — — — — — — - -
#i T 3.7 0 8.2 | 33| 3.6 [ 6.4 6.7 ] 13.6]160] 165] 19.1]23.4]22.0] 26.1]| 26.6] 25.8
0.6m T 3.7 0182 8.3 35 [ 6.4 67 13.6[160]16.4] 19.1]23.2] 22,0/ 26.0/ 26.8] 25.8
1.0m C 3.7 (132 3.3 3.5 | 6.4 ] 6.6 | 13.5]15.9]16.4]19.1]22.9]22.0](26.0] 26.8( 26.7
2.0m T 3.7 3.2 83| 3.4 6366/ |13.5[15.9]164]190]22.9]22.0]26.0]26.8]26.7
3.0m T 3.7 1 32| 3.3 3.4 ] 63| 66][135]159]164]19,0]22.6]22.0/ 265.9] 26.8] 25.6
4,0m T .70 3.2 3.3 | 3.4 63 ] 6.6 | 13.6]16.9]16.3]19.0] 22.6/[ 22,0/ 25.6[ 26.8] 25.6
5.0m T 3.7 3.3 | 3.4 3463 606 [13.4]16:9]16.3]18322.6[22.0[26.4]26.8]26.6
6.0m T 3.7 | 34| 3.4 — — |65 |12.8]16.9]16.2]183]22.4] — — - —
B T 3.7 1 3.4 | 3.4 3.4 6.3 65 [12.8]169] 16,2 18.3]22.1[22.0[26.3] 26.8] 25.5
* DO KE | mg/l — — — — — — — — — — — — - — —
Fdii] wg/l | 12.4(10.0) 9.6 [1.6] 109|112 87| 7.6 7.8 82 6756867/ 49/ 4.9
0.5m mg/1 [ 12.2] 9.9 | 9.6 |8 10.9] 1.2 87| 7.4 .8 81 [ 6.7 6.8] 57 49] 49
. 1.0m g/l | 12,0 9.9 ] 9.6 |11.9]10.8]11.1} 86| 7.3 7.8 | 81 | 6.6 | 5.8 [ 5.6 [ 4.9 [ 4.8
2.0m mg/l | 12.0] 9.8 ] 9.6 | 11,9 f10.8]11.1] 86| 7.3 | 7.8 7.9 6.3 | 5.8 [ 5.7 4.9 4.8
3.0m g/ | 11.8) 9.6 | 9.6 109107 11.0] 84 ] 7.1 | 2.8 7.9 | 6.7 6.8 5.6 4.9 4.9
4,0m mg/l [ 1.6 9.1 [ 9.6 | 16.9]10.6[10.7] 83 ] 7.0] 7.8 7.9 [ 6.4 ] 6.8 ] 6.6 4.9 | 4.6
5.0m mg/t J11.4] 89 ] 9.6 |12.0]10.6[10.6] 7.8 6.8 7.8 6.0 63] 57| 5.4 497/ 4.5
6, 0m mg/l [1L.2] 9.0 91| — — [10.3] 6.8 6.6 ] 7.8 5.1 ] 38| — — - -
B mg/l ] 10,0 86 | 9.0 | 12,0 40,56[10.2] 6.0 ] 6.7 ] 7.8 6.0 3.1 ] 6.2] 29 2.3/ 4.4
ReHEEE sk | Lux | 10040[ 2291 | 2623 | 6170 | 63000] 16090 ] 406007} 11250 10510 90010 57200 4720 | 10300 | 10500 [ 5940
FTH Lux | 9350 | 1736 | 2174 | 2960 | 44700( 9620 | 29860 | 9540 | 3270 | 81400] 41900| 2960 | 7370 | 7770 | 4210
0.5m Lux | 2670 | 894 | 6509 | 1467 [ 14890] 4220 | 12660 3310 |- 1247 | 30800 19570 1072 | 1990 [ 1499 | 1110
1.0m Lux | 450 | 408 | 230 | 702 [ 65690 | 1898 | 4120 | 982 | 306 | 11260 6740 | 364 | 711 [ 422 [ 257
2.0m Lux | 153 | (45 | 43 | 188 | 1499 | 371 | 590 | 208 | 53 | 2378 | 1459 | 44 60 26 15
3.0m Lux | 30 51 7 139.2] 299 ] .| to2 | 47 12 | 429 | 267 3 3 -] 2 1
4.0m Lux | 6 10 1 3 59 18 17 | 11 2 111 | 54 0| 0 0 0
5.0m Lux 1 3 0 3 13 4 3 7 0 22 12 — 0 0 0
6. 0m Lux 0 1 0o | - | - 0 0 0 0 0 — - — -
B w | - [ - [ = [ =TT =1 =T -/ =1 [ 1 =—1T="1T-"1T+=1-+=
EREEORP | nv [ 149 [ 126 [ 161 | 8 | 140 | 83 52 33 67 | (77 | (72 | 186 | 97 76 82
e ¥ DOID OF

Tz X B TR




KREER (ZD2D2)

B4 B KAE% FIAR1] SIER Al TR 34E (2001 4F)
| B | B | 8/14 | 9/19 | 9/25 | 1072 | 1079 | 11/6 | 11/13] 12/4 | 12/11 |BeA4l | Fe/Mili| S48
2—MIB g/ 110,001(0,000]0,002{0,000/0.000]0.001|0,002]0.006[0.004]0.105]0.000]0.017
CAAZ 102/ 110.001]0.000}0.002]0.0010.000(0.001]0.001]0.002]0.002]0.026/0.000] 0.008
Mty @ne) | mg/l — - —_ - - - - — — — — —
JOmRAERLEE | me/l — - — — — — — - - - - -
7 oey yomyrAk | mg/l — - — — — — — - — — — —
vy nesdabvag | mg/l — — — — — — - — - — — —
-7 DERbAERRRE | me/l — — — — — — — — - — = —
TN.EE me/1 | 0.73]0.60 ] 0.68]0.73]0.82 | 0.65[ 0.68]0.80]0.79] 1.36 | 0.55 | 0.85
TNHE ng/1 — 0,66 - 0.73 - 0.65 — 0, 86 — 1.12 | 0.65 | 0.82
TNTHE mg/l.| — 0. 60 — 0.76 — 0.67 — 0.84 — 1.1 | 0.67 | 0.82
TPLE mg/1 |0.145]0.100|0.096|0.103|0.125[0.074|0.078]0.092]0.105]0.164 (0,058 0,100
TPHE mg/l | — [0.096] — 10.099| — 0,077 — [0.088 — [0.164[0.077]0.100
TPTE ng/1 ~ |0.130| — [0.117] — [0.080| — |[0.092] — ]10.227[0.080]0.120
CODLEE mg/l | 7.62 | 7.17| 7.76 | 7.74 | 7.76 | 6.36 | 6.74 | 6.57 | 7.41 | 7.88 | 6.36 | 7.30
CODE wg/| - 8.29 — 7. 66 — 6.52 — 6.98 — 9.01 | 6,62 [ 7.51
CODTFE mg/ 1 - 7.42 — 8.61 — 6.89 — 7.16 — 8.61 | 6.81 | 7.52
KR KE T — — — — — — — — —
A T 26.6 ] 25.3 | 20.8 [ 20.5 | 19.0 | soewmw| 13,0 | 10.2 | 8.8
0.5m T 26,6 25.3 [ 20.6 ) 20,5 19.0| 16,1 | 13.0[ 10.2 | 8.8
1.0m T 26.6 | 25.3 [ 20.5 ) 20.65 | 19.2 | =exa| 13,1 | 10.2 ]| 8.8
2.0m T 26.5 ] 26.2 ] 20.3 | 20.5 | 19.3 |mmxrw| 13,1 | 10.2 | 8.8
3. 0m T 26.4 | 25,2 20.0 ) 20.5 | 19.3 | #werm | 13,1 | 10.2 | 8.8
4,0m T 26.41 26,2 20.0| 20.5 | 19.4 | wmarar| 13,1 10.2 | 8.8
5. 0m C 26.3 [ 26.2 | 20.0) 20,6 | 19.6 |®exm| (3.1 ] 10.2 | 8.8
6. 0m T — 26.0.| — 20. 6 — | meww | 13,1 — -
JEm c 26.2 [ 25.0] 20.0 [ 20.5 | 19,3 | meww| 13,1 [ 10,2 | 8.8
*DO AKE | mg/l — — — — — — — — —
Etidl) ng/1 1.1 8.1 9,2 1.5 8.0 |mmre| §,8 9,2 9.4
0.5m g/l | 7.1 8.1 9.2 7.6 7.9 | wesa| 8.6 9.2 9.4
1.0m mg/1 6.7 8.0 9.1 1.h 7.9 |=meFm| 8.6 9,2 9.4
2. 0m ng/1 6.7 7.1 9.1 1.4 7.9 | seFs| 8.5 9.2 9.4
3.0m mg/1 6.8 1.9 9.0 7.4 7.8 | mesm| 8.5 9.1 9.3
4, 0m ng/1 6.0 | 1.6 8.8 1.4 7.8 | weFw| 8,3 9.0 9.3
5.0m mg/l | 3.5 | 6.6 | 85 | 7.4 | 7.7 |mexw| 8.3 | 8.8 | 9.3
6. 0m wg/| — 3.8 - 1.3 — | waFw| 8.2 — —
JEE TR ng/1 3.4 3.8 8.0 1.3 7.0 |meFa| 7.9 8.6 9.3
KlEEE K1 | Lux | -9760 | 8200 | 48400( 9460 | 16420 ( 3530 [ 38900( 1058 | 19380
Eoqil] Lux | 6260 [ 6460 [ 32700 6840 | 12650 | 2155 | 28100 800 | (4190
0.6m Lux 1984 | 2332 | 11200] 1979 | 2432 | 660 [10280| 507 | 4330
1.0m Lux 890 | 1376 2810 | 858 951 358 | 4930 98 1230
2. 0m Lux 108 213 430 122 88 101 655 15 118
3, 0m Lux 14 14 13 17 8 38 115 3 13
4.0m Lux 2 21 8 4 0 5 21 0 2
5. 0m Lux 0 5 2 0 0 0 | 3 0 0
6. 0m Lux — 0 — 0 — 0 0 — —
JETH Lux — — — — — - — — —
ERE EORP )] 213 56 204 128 184 | mwww | [47 116 116

%




KEER (EO 1)

R DM KE4 FIRRI FIIE2 Byl ik 34 (20014)
B B oar | /9| a6 | 3/6 | 4/1T | 5/8 | 6/6 | 1/3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 [SKHE|BIME| IS
X R - & 8 i i [ 8 [ & a8 [ £ il
okl ¢4y | 6:46 | 6:40 | 8:18 | 7:12 | 5:20 | 6:40 | 6:06 | 6:40 [ 6:36 | 6:40 ) 7:05 | 7:0
RIKIE m 65,80 | 6.73 1 6,77 | 6,78 5.70 [ 5.70| 5.43 | 6.563 | 6.06 | 6.14 | 5.64 | 6.80
KK m 0,50 [ 0.50| 0.60 | 0,50 0.50| 0,50 | 0.50 [ 0,50 | 0.50 | 0.50 | 0,50 | 0.50
QR C 1.6 3.0 6,2 | 16.2 | 16.8 | 21,0 23.1 | 23.2 | 23.6 | 20.2 | 14.4 | 8.2
KR T 3.6 3.3 6.0 | 16.0 | 16,0 23.0| 25.9| 25.7 | 256.2 | 20.2 | 16.0| 10.5] 26.9 | 3.3 16.0
4 B (&8 — | mmw | v | vonnm | vonnm | sonns | wua | woeme | seons | riees | sewes | s | soms
B & (%) EEETIEARETIRE AR IR TR AR AR AR L0 AR
BHEE [41] 1375 | 29.0 | 24.6 | 27.8 | 26.9| 27.0( 22.2 | 23.6 | 40.0 | 32.5 | 38.6 | 22.0
BE m 0.38 ] 0.62 ] 0.52|0.60]0.70]0.29] 0.47| 0.67|0.80 | 0,71 | 0.91 | 0.68] 0.91 | 0.29] 0.60
K B — 17 16 1 16 16 16 16 17 16 17 17 17
pH — 7.80 | 7.83| 8.03|8.26|8.07} 7941} 7.83| 7.98 | 8.43 | 8.33 | 8.22| 867 | 8567 | 7.80 | 8.11
DO mg/1 |12,31]12,96(12.34| 9.75 | 9.61 | 7.67 | 7.33 | 7.69 | 8.96 | 9.06| 9.40 | 10.58] 12.95| 7.33 | 9.80
BOD mg/l | 2.98 ] 2.69 | 3.67 | 3.16| 2.37| 1.62| 1.17 | 1.75] 1.80 | 1,33 | 2,00 | 1.84 | 3.67 | 1.17 | 2.19

ATU-BOD | mg/l | — - = — = - _Z _ — : :
COD Gin) mg/l | 7,98 7.865 | 7.43 ] 7.30 | 7.31 [ 6.50 | 6.39 | 7.49] 7.34] 7.63] 6.66 | 6.63 | 7.98 | 6.39 | 7.20
D:CODGWN | me/l | — - — — — — - | = — - — -

‘P CODGD) | me/t | — - — — = —
COD(r) ng/l | — — — — — — — — -
D COD(Cr) | ng/l — — — _ — — _ — —

SS mg/l | 26.3 ] 9.0 | 11.6] 10,0 | 14.6 | 12.6 | 12.6 [ 19.0 [ 7.0 | 14.0 [ {3.0 | 16.5| 25.3 | 7.0 13.7
KBRS |unwvioom| 2. 0841 | 4, 9B+1 | 4. 9841 | 2. 38+1 | 3. 3841 | 3. 3m+1 | 7. 9m+1 | 1. 3B+3] 2. 3843 | 7. 9B4+2| 7. 98+2 | 1, 3B+2 | 2, 3E+3] 2. 0B+1] 4, TB+2
TN mg/l | L.12 ] 0.94 | 1.120.76| 0.76] 0.64 | 0,74 | 0.88 | 0.69 | 0.66 [ 0.68 [ 0.77| .12 | 0.54 | 0.80
TP mg/l 10.134]0.084[0.076|0.083|0.107|0.092(0.098|0.153|0.105|0.081[0.084|0.084]0.163] 0,076 0,098

NH,—N | mg/l |0.02]0.01]0.02]002][0.04]0.01]0.09][007]0.02]0.01]0.03]0.04]009]0.01]0.03
NO,—N | meg/l [0.009]0.008]0.006]0.001]0.00i[0.001]0.013]0.006]0.001]0.001]0.003]0.008]0.013]0.001]0,005],
NOs—N [ mg/1 [0.32]0.20] 0.16 ] 0.02 0,00 0.00] 0.04]0.02]0.00]0.00]0.00]0.04]0.32[ 0.00 | 0.07
'IN mg/1 | 0.35]0.220.18]0.04[0.04]0.01[0.14[0.10]0.02]0.01]003[0.09]0.35]0.01]0.10
ON mg/1 [0.75 ] 0.72 [ 0.79[0.70 [ 0.70 [ 0.62 [ 0.60 [ 0.74 | 0.66 | 0.66 | 0.65 | 0.69  0.79 | 0.62 | 0.67
DON _[m/] — | -] - [ -T-T-1T-1 -
‘P_+ ON mg/l | — | ~ | = | = | =] =1 =

'weTN | w/l | - | = =] =] =]=1=1= -1 = -
'TN mg/] | 1.10]0.94[0.97]0.74 [ 0.74 ] 0.65] 0.74 0.84 [ 0.68-] 0.66 [ 0.68 | 0.78 [ 1.10 [ 0.65 | 0.78

D:-P0O4—P | mg/l [0.010]0.003]0.002[0.002]0.002]0.004]0.016]0.051[0.006/0.004]0.007]0.007]0.051]0.002] 0.009
D+«TP mg/1 - — — — . _ _ _ — — _ — -
'P-TP wg/|

1C mg/l | 13.8]13.9 | 13.2 | 13.4]13.6) 12.9]13.7 ) 18.1 | 16.2 | 14,6 | 11.1]12.8] 16.2 | 11.1 | 13.6
TOC wg/l | 7.0 | 6.3 | 6.6 | 7.0 | 6.2 | 5.8 | 6.0 | 6.0 [ 6.4 | 6.6 | 6.9 [ 6.9 | 7.0 | 6.8 | 6.3
‘TC ng/1 | 20.8120.2|19.8| 20. 4| 19.7 | 18.7(19.7 ] 19.1 | 22.6 | 21.1 | 17.0| 18 7] 22.6 | 17.0 | 19.8
D.-oc_ |wm/l| — | - | - [ = [ ~-[=-[-[=-T=-—T-T-T-+- - | =
'P.OC g/t | — | = | - | -] -] -] -l =]l=|=]=1=1=1=1 =
D-Fe w/l| - [ - [ =T -T-T-T=T-1-1T-1T-1T-T=1T-=-1T=
DMn |m/t| — | - | = | = =" =—1T-1T-[-T-[T-1T-1T=71T-=77-=
Fe mg/l | — - - - - - - | = - - - - - - -
Mn Tl e I e I e I O I = I I e e
W IE J [ 25.4 | 11.8 ] 13.7 | 11.6] 13.9| 12.3 | 1.5 (5.1 ] 8.6 | 14.3 | 10.0 | 13.2 | 26.4 | 8.6 | 13.4
WAAR(0C) | us/en| 330 | 337 | 317 | 322 | 366 | 338 | 338 | 361 | 360 | 376 | 336 | 309 | 376 | 309 | 339
Ca g/l | — ] = - - - - - | = - — - -1 - - -
Mg /1| - | - -1 -T-1T-1 = -

pH4. 87V hUHE| me/l | 59.8 | 61.8|63.2 | 62.6 | 67.2 | 69.3) 63.5 | 68.6 [ 66.2 | 66.2 | 67.7 | 61.6 | 68.6 | 57.7 | 63.1
p HY. 0B % wg/l | 7.08 | 6.83]5.36|6.20]714]946[1072]8.49|3.81 |6.34)8.69]9.33]10.72|3.81 | 7.41

pHS. O7NAVE| ne/l | — — = = = Z _ — —

50,4°% ng/t | — - - - - - — — - - - - — - —

cl- mg/l [ 44.5 ] 45.0 | 47.2 42.8 | 56.6[ 53.2 ] 49.7 | 56.7 | 59.6 ] 59.5 | 43.3 | 40.5 [ 69.6 | 40.5 | 49.9
Na mg/l | — - - - - - - - - - - - - - -

K ng/l | — - - — — — — — | = - — — — — —

T « S10, wg/l | — - | = — — — - | = — - - — - ~ -
AR DA wg/l | — - — - - - - - - - - - - - -~

Chl-a . [pg/) | 54.2 | 37.6(49. 7| 41,6 37.8[16.2|26.1|47.6[69.1[656]287]73.4|73.4 16.2 [ 44.7

Chl-h pe/1] 5.3 3.9 6.2 4581086649 2.3 [ 2.1[385 ] 41 81]08]44

Chl-¢ pe/ 1 0L L7 [ 47 4.4 0.2 [16.8] 7.2 [ 140189 8.6 | it.1[189] 0.2 | 9.0

TxAT4Fy |ue/ 1181 44.2] 15 | 1.9 19.2 2.0 | 50.5] 86 [ 3.1 [ 181 | .3 |60.6[ 1.3 [ 153
B & > RmEEA | ne/l — — — — — — — — — — — — — — —
% SHIOFB AR ORI X D skdie, 3, P~-ON=(ON)— (D-ON) 8. P-TP=(TP)—~(D-TP)

1.P-COD=(COD)~—(D-COD) 4, D-TN=(IN)+(D-ON) 1. TC=({IC)+(TOC)
2, IN=(NH4-N) +(NO2-N)+ (NO3-N) 5. TN=(IN)+(ON) 8. P-OC=(TOC)~(D-0C)




y KHEER (TD2)

ERUAES ol KA FIARIT {IIES B W ' ik 1 34E (20014E)

H B | Bz | /9| o6 | 3/6 | 4/17) 6/8 | 6/6 | 7/3 | 8/7 | 9/19 | 1072 | 11/6 | 12/4 [BeAMl|m/IME

2-MIB Jpug/l| — | - [ - | - [ = - | -~ - [ - =1~

UAASY ug/l] — | = | = = | = | = | =

Mnnpz AR B (TivEe) | mg/| - - | - — — — - - — —

JoURVAESREE | me/l | — = - - - - - - - - - — -

7 oy yunasvsg | mg/l - - — — - — — - — —

¥ ueyhha vk | ng/l — - - - - — — - — — —

7 uERbAERRRE | mg/l | — - - — — — - — - — — -

TN.LE mg/l | 1.12]0.94 | 1.12 | 0.76 | 0.76 | 0.54 | 0.74 | 0.88 [ 0.69 | 0.66 | 0,58 | 0.77 | [.12 | 0.64

TNHE wg/l | — — — - — — - = — —

TNTE mg/t | 1.09]0.90 [ 1,16 ]0.79[ 0.76 | 0,68 [ 0.77 | 0.90 | 0.69 | 0.69 | 0.68 | 0.74 | 1. 15 | 0.68

TPLE mg/1 | 0.134]0.084|0.076[0,083[0.107 0092 | 0.098|0.153]0.105|0.081|0.084 0,084 0.153]0.076

TPHE ng/l | — - = = = — — — - — —

TPTE mg/1 |0,140)0.0920.081[0.083[0.122]0.095 0.116] 0. 152 0.086] 0. 084 0.0770.083 0. (62 0.077

CODLE mg/l | 7.98 | 7.86 | 7.43 | 7.30 .31 )6.50|6.39| 749 734] 763 6.66|663]798]|86.39

CODH/g ng/l | - -~ — — - — = Z = -

CODTE mg/l | 7.67 ] 7.66] 7.8 | — — 673 — — — — — — [ 7.8 [6.73

K Kk C - | = - = — — — — P — — -
i e — — — — — — — — — — — —
0.bm T — — — — _ _ = _ _ - — —
1.0m T - — — — — — p _ _ iy - —
2.0m T — - —_ — — — — = _ _ _ -
3.0m C — — - — — = — _ — — — —
4.0m c — — — = — Z = — _ — — —
5.0m C — — — — — = - — — _ — .
6. 0m T — — — — — — _ _ _ - - —
i T — - — — — = _ — - — — —
*DO AKE | ng/l — — - | - — - — — — — - —
Edl] e/l | — — — - — — = _ — — — -

0, 6m mg/1 — — - — — — _ = = _ — —
1. 0m mg/} — — — — — = — _ — — — =
2.0m mg/1 — — - — = _ _ — — — — —
3.0m mg/| - — - — — _ = = _ _ - -
4, 0m ng/ | — - — — — = _ = . — _ -
5. 0m ng/1 — — — — — = — _ — — — —
6. 0m mg/ !} — — — — — Z — — — — — -
J: i) g/l | — — — — — - — = - _ = -
KebfagE KB | Lux — = 1 = — - - — — — — —
xi Lux — — — = = — = — = - —
0.5m Lux -~ - — — — — — — — — — —
1.0m Lux — - — — — - — — - - _ —
2. 0m Lux — — — — — _ — = — — — —
3.0m Lux - — — — — — — — — — — —

" 4,0m Lux — = = _ - — — - - = = —
6. 0m Lux — - — — — _ = — — _ — —
6. 0m Lux — — - — — — — — _ — — —
JEETH Lux — — — = _ — — — o — — —

ERBIORD ] & | = 1 — [ — 1 = =

«

WE ¥ DOWD Oftic X 5 WERE




KEFER (20 1)

RIS

FEAETD KR4 FAR) 1144 B SR 1 34F (200 14F)
- Bo| mar | /9| 2/6 | 3/6 [ 4/t7] 5/8 | 6/5 | /3 | 8/7 | 9/19 | 1072 | 11/6 | 12/4 |BeAktE| R ME| EIOE
X #& - & 8 | B i & 8 5 8 | & g & =]
BokiRzl Besr [ 01:30] 11:36] 13:10( 9:42 | 65:16 | 14:05]| 6:20 | 6:43 | 6:46 | 6:55 | 7:22 [ 13:81
KR m [ L79]1.78]1.65] 1.62| 1.56 | .60 L.66 | (.25 ] 1.83 ([ 1.89] L. 81 [ 1.80
Kok m | 0.50]0.60]0.60] 0.50]0.60]0.50]0.50] 0.50 | 0.50 [ 0.50 | 0.50 | 0.560
S R c | 15| |10 19.0]168]27.0] 24.0] 23.8| 24.5 ] 20.6 | 17.2] 10.0
K OHE C | 42| 4288 183|166 23.5] 25.4] 26.2] 26.2(20.2] 16.9] 10.6] 26.4] 4.2 | 16.5
4 B (@) — | BORIBE | BURINE | WS | ROE | RSB | RINE| RNE | RNE | D05 | DIWNE | aiE | ey
R & (k) — | B R | R | S| R | &R EE ) BR ) &L | SR | &R | K8
BRE em | 24.6 [ 26,0 24,6 | 23.3] 22,0 18.0| 22,0 | 22.5 | 33.56 [ 28.0 | 28.5 | 18.5
B m |0.59]0.55]056]036]040]026]045[035/[0.65]056/[0.46]0.19[0.85]0.19] 0.45
K& — 17 16 16 18 18 16 17 18 17 17 17 16 -
pH — | 7.86]8.03(8.33] 879841808 7.80]8.00]838)843[817]823]8.79]7.81]8.2l
DO me/l | 13.42]13.16]13.77]10.43] 9.63 | 8.65 | 7.93 [ 7.32 [10.20] 9.27 | 8.95 [ 10.47] 13.77] 7.32 | 10,24
‘BOD mg/l | 3.20]3.60 377 449|423 2,44 2.79 161 [ 2.39| 1.96 ] 4.73[3.98]| 4.73 | 1.61 ] 3.26
ATU-BOD | nmg/1 | = — — — - — — - - - - - — - -
COD (M) mg/) | 7.87] 7.91 | 7.70 ] 9.06 | 8.60 | 7.46 | 7.93 | 7.65 | 8.34 | 8.10 | 7.40 | 7.08 ] 9.05 | 7.08 | 7.92
D CODM | mg/1 | — — — — — — — — — — — — — — —
‘P CODGN | ne/l | — — — — - - — = - — — — — - -
COD(Cr) wg/l | — — — — - — — — — — — — — - -
D-COD(r) | mg/l | — - | - - - - — — — — — — — — -
SS me/1 [ 13.6] 16.0] 14.3] 16.0] 19.6] 23.0] 18.0] 23.0| 13.6°| 21.0[ 18.07] 24.5| 24.5 | 13.56 | 18.3
j(}}%%iﬁ%%{ upy/ioomt| 4, 6B+1 | 3. 3E+2 [ 3.3B+§ | 1. 3E43 | {.3C+2 | 7.9E+2| 4. 9842 | L. 3E+3| 3, 3E+3 | 4. OB+2 | 7.9E+1 | 4. 9E+1 | 3. 3R+3| 3. 3L+1| 6. 9E+2
TN we/1 [ 1.12]0.93] 1.07]0.88]0.85] 0.66[ 0,89 0.80]0.93]0.73]0.74]0.70]1.12]0.66] 0.86
TP mg/1 | 0.120]0.085[0.088]0.106]0.111]0.092[0.138]0.141]0.099[0.099]0.088]0.099]0.141]0.085]0.108
NH,—N mg/1 | 0.00]0.00] 001 [0.00]002]002]008]004]005[002]002]002]008]000]003
NO,—N wg/1 [0.008]0.008]0.007]0.000]0.002]0.001]0.003]0.002]0.010[0.001]0.003]0.001]0.010]0.001]0.004
NO3z—N weg/1 | 0.09[0.31 ] 0.11]0.03]0.00]000/[001]0.02]0.12[0.00][0.00]0.00][0.30]0.00]0.06
‘IN mg/t [0.11]0.32]0.13]0.04]0.02]0.02[0.09]0.067(0.18[0.02]0.02]0.02]0.327]0.02]0.09
ON mg/1 | 0.95]0.68]0.77[0.84]0.79]0.62]0.77]0.70 [ 0.75]0.70]0.69] 0.68] 0.95] 0.62] 0.75
D+ ON g/l | — - - — — - — - - — - - - — —
‘P ON ng/l | — — — — — — - - - - - - - — —
‘DTN wg/l | — — - — — — — - - = - - - - -
'TN wg/l [ 1.06] 1,00 0.90] 0.88]0.81 | 0.64]0.89]0.76]0.93[0.72]0.71]0.70[ 1,06/ 0.64 ] 0.83
D:PO4—P | mg/l [0.010]0.003]0.001]0.001(0,003]0.004][0.0140.032[0.004[0.004[0.006]0.,005]0.032]0.00t]0,007
D:TP ng/l | — — - — - — — - — -~ — — — — —
‘P-TP wg/l | = - - — — — - il - - - - - —
IC e/l [13.6] 4.6 13,6 1. 7] 14 p| 132|424 1o e n1as] s 1ol 12.3] 141
TOC we/l | 2.8 21 e 9] 7866 7.8 1.1 | 7.0 7.1 ]69]64] 9] 64] 172
‘TC me/l | 20.9 ] 2283 21.2] 22.6]22.3 ) 19.8] 20,6 21.6] 24,0 20.8)19.2]/19.2]24.0[19.2] 21.4
D:«0OC pg/l | — - | = - — — — — — — — — — —
‘P.OC wg/l | — — — — - - — — — - - - - ~ -
D'Fe mg/t | - - —~ - — — — — — — — — — — —
D-+Mn wg/l | — - - - — - - — — — - -~ — — —
Fe ll]g‘/l — — — - - - — — — — — — - — —
Mn. ng/l | — - - - - - - - - - - - - - -
W OE B | 16.6] 16,6 15.4 | 18.7] 20,40 21.5] 16.5] 19.4 [ 12.9] 2.0 ] 3.2 (8. 1] 21.5.] 12,9 17.4
BHEROQOC) |us/em| 363 | 353 | 321 | 460 | 395 | 372 | 512 | 362 | 362 | 385 | 366 | 359 | 612 | 321 | 384
Ca mg/l — — b — — b hd — — — — — — — -
Mg mg/l | — - - - = - - - - | = - - - - -
pH4& 87 V| ng/l | 62.4 | 63.9 ] 64.2 | 71.6 | 69.6 | 61.5 | 64.3 | 69.1 | 69.4 [ 66.2 [ 61.0] 62.3] 71.6 | 61.0 | 66.5
p HY, 0f #| mg/1 | 6.91]6.96] 464 6.20] 7.65 | 9.11 [12.61] 9.97 [2.00 | 7.25 [ 9.04 | 12.8]12.80] 2.00 | 7.84
PHY. 07 NHUE| mg/l | — — — - — — — - - - - - - —
S0,% we/t | — - - - — - — - — - - — — — —
cl1l- mg/l | 541 47.3 | 46. 7] 81.7] 64.8] 63.5 [ 100.0[ 66.8 | 72.4 | 63.6 | 50.6 | 56.1 | 100.0] 45.7 | 63.0
Na mg/l — — — — — — — — — — — — — — —
K g/l | — - — — — - — — — — — — - — —
T + Si0, /1| — [ -1 -1 -1T-1T-T=-1-1T-1T-T-T-=-1T-1T-=-71=
HEaT Uy weg/) | — - - - - - — - - - - - — - | =
Chl-a ne/1]63.5]39.8[44.0 [ 37.7] 44.8]19.9] 42,7 43.8 | 64.6 | 48.2 ] 28.9] 35.4] 64.6 | 19.9] 42.8
Chl-b ve/l| 14 44| s 276720 s 7.8 2.0 183 t9]32] 18] L9] 45
Chl-¢ pg/1 15| 1.4 ] 3.5 856 [ (0.3 2.6 [ 24.2]12.8]12.3)13.1] 2.9 3.8]24.2] 1.4 8.9
TJxFd74Fy [png/l] 40 [ 301236 2.3 1 17.3] 49 [ 7.5 [ 28.6] 9.9 | 87 [ 150 16.7[37.1] 2.3 | 14.5
Ba-f A SRl | e/l [ — — — — — — — — — — — — — — —
=g SHIOHE AR O L ki, 3, P-ON=(ON)— (D-ON) 6. P-TP=(TP)—~(D-TP)
, L P-COD=(COD)—(D-COD) 4. D-TN=(IN)+(D-ON) 7.1TC=(1C)+(TOC)
2. I N=(NH4-N) +(NO2-N) + (NO3-N) 5. TN={(I N) +(ON) 8. P~OC=(TOC)—(D-0OC)




KEER (£D2)

Bs KRk b KR%E 3 ETEHT i)l % Bl L% 1 34 (20014F)
H B | Bar | 1/9°] 2/6 | 3/6 | 4/17 | 5/8 | 6/5 | /3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 |BKAE| B/AME | EEHH
2—MIB [wg/1[0.008]0.015]0,026]0.098]0,025{0,006]0.001/0.001]0.001]0.000[0.001]0,0040.098]0.000]0.015]-
PAAI>  |ue/1]0.006]0.007]0.004]0.030]0.015]0.002]0.002]0.001]0.000]0.00(]0.001]0.001]0.030]0.000]0.007
Mnoagvemse avep) | mg/1 [ 0.113]0.099[0.127]0.097]0.098]0.099]0.167]0.133]0.082]0.080]0.078]0.0568] 0.167]0.058] 0. 103
yoophaEREAE | mg/1 ] 0.047]0.042]0.056(0.030]0.038]0.044]0.061]0.060]0.035]0.029]0.031]0.022]0.061]0.022]0.041
7 oy Jundyrsat | mg/1 |0,042(0.035]0.044]0.036]0.038]0.035]0.060]0.046]0.030]0,030{0.029]0.022]0.060](0.022] 0,037
v 7 oeityysk | me/l [0.022[0.020(0,024]0.030]0.020(0.018]0.040]0.024]0.016[0.017]0.016]0.013]0.040]0.013]0.022
7' nEfbAEREAE | me/1 [0.002]0.002]0.003]0.001]0.002]0.002]0.006(0.003]0.002]0.004]0.002]0.001]0.006]0.001]0.003
TNEE me/l ] 1. 127]0.93 ] 1.07]0.88]0.88] 0.66-] 0.89]0.89[0.93]0.73]0.74]0.70] 1.12 | 0,66 | 0.87
TNHE. mg/1 | 1.t6 ] 0.95| 1,00 | 0.80 | 0.85 | 0.70| 0.80 | 0.81 | 0.92 [ 0,74 | 0.70| 0.71 | 1.(5] 0,70 | 0.84
TNFBE mg/1 | 1.16]0.95] 1.o7]0.82]0.80]070[0.8]075[097]073]0.77]074]1.16]0.70] 0.85
TP LEJE mg/1 |0.120]0.085[0.088]0.106[0.106]0.092]0.1:38]0.138]0.093]0.099]0.088]0.099]0.138]0.085] 0.108
TPHE ng/1 ]0.122]0.085[0.076[0.104]0.115]0.091[0.139]0.136]0.092]0.097]0.081]0.103]0.139]0.076] 0.103
TPTFRE mg/1 |0.126]0.088]0.076[0.107]0.111]0.083]0. 144[0.139]0.091]0.097]0.083]0.099] 0.144]0.076] 0. (04
CODLE mg/l | 7.87 ] 7.91(7.70[9.06]9.06] 746 [ 7.93| 7.03[8. 34810740 7.08]9.06]7.08]7.98
CODFE mg/1 | 8.16 [ 7.03 [ 7.47]8.21] 8.86 | 7.35 [ 7.58| 8.15| 8. 15| 8,14 6.87 | 7.26] 8.86 | 6.87 | 7.84
CODTFHE mg/l | 8.28 | 7.75[ 7.80 [ 8.62 ] 8.07] 7.86[ 7.76| 7.43 [ 8.44] 7.68 [ 6.79 ] 7.26] 8.62 [ 6.79 ] 7.8l
KX kE | C | - - [ - -1 -1 -T-T-T1T-=-—1T-T-=1+=
& Tl - - =1 =-T-T=T-T=T=T=7T-=-71T°=
0.6m C — — — — — — — — — — — —
1.0m T — — — — — — — — — — — -
2.0m T — — — — — — — — — — — —
3.0m T — — - — — - — — — — — —
4.0m T — — — — — - - — — — — —
5.0m T — — — = — — — — — — - -
6. 0m T — - — — — — — — — — - —
JEETH Tl - -1 =-1T=-1T=T=1"=T=-7T=1T=T1T=71T°=
*DO  AKRE|wmg/1]| - — — — — — - — — - — —
i ng/l | — - — - - — —= - - — - —
0.5m ng/l | -~ — — — — — — — — - — —
1, 0m ng/1 - - — - - - - - — - — -
2,0m ng/1 - — - - - - - - — — — —
3.0m mg/l | — - - — - — - - - i -
4, 0m ng/l | — - - - — — — - — — — —
5.0m ng/l | — — — — — — — — — - - —
6.0m wg/1 - — - - - - - — - = - =
R mg/l | — - = — — - - - - - - -
KPR KE| Lo | — | — | — [ — [ — [ -] = [ — T — T — 1 —T=
i e I e I e e e e e e e
0.5m Lux — — — — — — — — — — — —
1.0m Lux | — — — — — — — — — — — -
2, 0m Lux | — — — — — — — — — — — —
3. 0m Lux — — — — — — — - — — — —
4. 0m Lux — — — — — — — — — — — —
5.0m Lux — - — — — — — — — — — —
6. 0m Lux | — — — — — — — — — — — —
JEH w | - | - [ - [ -1 -1 -1 -1-"1T-1-"T-71T=
BERR.LORP | nv — — — — — — = — — — - —
e + DORD OFH LAl iR




KEER (€0 1)

T DA (200046)

A v un KEE FUARJ!| 1)1 4 EIA
H B | Ber | 179 | 2/6 | 3/6 | 417 | 5/8 | 6/6 | 1/3. | 8/7 | 9/19 | 1072 | 1/6 | 12/4 |BEAME| B/l E3gfH
X & — 2 8 [ I 8 ES ] £ g s & &
KL Mesy | 13:20] t6:19]14:36] 12:36] 11:30] 12:44] 13:16] 14:38[ 13:08] 12:47[13:50[ 12:36
SKE m [t 45745 148 0| 46| 709 6.96] 7.66 [ 7.63[ .11 ] 7.08
AR m | 0.50]0.50]0.60]0.60] 0.50] 0.60 | 0.60 [ 0.50 ] 0.50[0.50] 0.60] 0.50
& R C | 47| 84 ]13.6]21.3]185]26.5]31.8[25.2]20.8]27.0[16.9]10.0
K C [ 4.8 42| 7.5 [ 185 17.0]24.0]27.8] 26.1] 26,0 21.0[16.5] 10.8] 27.8| 4.2 [ 17.0
2 B (i) — | mnmm | siniem | moams | anew [wanes| aoes | swma| gex |ness| s | wes | s
B & (kD) EEETIETIE AR TR IR AR AR AR A 0 AR
BARE em | 22.7] 21,2 [ 20.8] (4.8 22.6] 26,8 22.1] 24.5] 26.2] 20.8 | 20.9 | 26.5
HEHE m |0.55]048[0.44[0.39]0.47]0.29]0.45] 0.568] 0.55] 0.62]0.61 ] 0.76] 0.76 [ 0.29 | 0.52
K — 16 16 16 16 16 16 16 16 16 17 17 17
pH — [828]7.56]8.16][887 ] 7.80| 7.67| 855|839 851|868 7.91]801]887]17.566] 82l
DO mg/1 [12.00]13.19]13.02(15.30| 9.564 | 10.26{10.26[ 8.84 | 10.74] 12. 46| 9.57 [ 10.09] 15.30] 8.84 | 11,27
BOD mg/l | 3.97] 464 4.96]56.91 ] 2.78] 3.47] 3.03 | 3.63|3.46] 4.82 ] 2.14]3.03]6.31]2.14] 3.75
ATU-BOD | mg/l | — — — - — — — - — — — — — — —
COD (M) mg/l [ 9.60 ]88 [9.20]9.72] 7.9 7.77]8566]9.66]9.03[10.16]823]822]10.16] 7.77] 8.90
D:-COD@n | mg/l | — — — - - — — — — - | - — — — —
'P-CODQOW [ wg/l | — | = | = | = | = | - |~ | -]~ |—-|-1l-1]=1]=1=
COD(Cr) g/l | — - — — - — — — — — — - - — —
D:COD(r | mg/l | — — — — - — — — - — — — - - —
SS mg/l [ 18.2] 16,0 16.6 | 23.0 3.2 13, 7[10.7] 19.0 ] 14. 2] 16.5] 14.0[ 16,2 23.0] 10.7] 15.9
j(}}ﬁ’[iﬁ##( wpy/toonl| 2, IR+1| 1, IB41 | 3. 1B+1| 2. 0B40 | 2. OB+0 | 7. 8E40 | 9.4E+1| 3. 3842 | 4. 9E4+3 | 3. 3B+3 | 1. 7TB42| 2. OB+0 | 4, 9B+3| 2, OB+0| 7, 4842
TN mg/l [ 104 121 | 1.26 ] 1.26 [ 0.76 | 0.92 | 0.84 | .26 | 1.01 | 1.44 [ 1.86 ] t.24 | 1.86 ] 0.76 | L. 17
TP wg/] | 0.076]0.084]0.083]0.100]0,085[0.117]0.086]0.261]0.162]0.161]0.102[0.087]0.261]0.076]0.117
NH4—N wg/1 [ 0.04]0.02]002[0.02]0,00]0.02]0.00]0.16]0.00]0.03][0.02]0.00]0.16][0.00] 0.03
NO,—N ng/! [0.006]0.009]0.010]0.002]0.002]0.003]0.002[0.003]0.00({0.016]0.024]0.008] 0.024 | 0.001 ]| 0.007
NO,—N mg/1 | 0.08]0.24[0.27] 0,00 0.01]0.00]0.00]0.00]000/0.1]084[0.28[0.87]0.00]0.15
"IN mg/1 | 0.13]0.27]0.30]0.02]0.00]002]000]016]000]0.16[08]0.29]0.88]0.00]0.19
ON mg/l | 0,98 0.99[0.99]1.22]0.76] 0.95]0.85] 1.10] 1.03 | 1.29 | 1.00] 0.96 | 1.29 | 0.76 | 1.01
D - ON wg/l | ~ — — - — - - - - — — — - — —
‘P . ON wg/l | — - — — — - - - - - - - - - -
‘DTN mg/t | — - - - - - - - - - - - - — -
PPN mg/l | L] e 29 t2dfo77]o97]0.8] 1.6 1.03] 1,456 1.88] 1.26] 1.88]0.77 ] 1.20
D-PO4—P | .mg/l |0.005]0. 012]0.003]0.004]0,003]0,002]0.002]0.160]0.062]0.025]0.004[0.003]0.160]0.0020.024
D' TP wg/l | — ~ - | = — — - — — — — — - — | -
'‘P-TP wg/t | — - - - - - - - - - - - - - -
I1C mg/L | 10.7] 9.0 ] 9.6 | 106 | 10.6] 11.6]10.2]12.0] 11.7]10.4 ] 18. 1] 13.0f 181 [ 9.0 | 1L.5
TOC mg/l | 8.2 7487926862 ] 80848t 9l]r3]rn2]o2]s62] 1y
‘T C mg/l [ 18,9 164182 19.7]18. 4 17.8]18.2] 20.4[19.8]19.5(25.4]20.2 26.4] 16.4 ] 19.4
D:0C weg/l | — — — — — - — — — — — — — — —
‘P.OC ng/l | -~ - — - — - - — - - - — = — —
D-Fe mg/l b - - —_ — - — — _ had - - - - -
D+*Mn mg/l — — — —_ - _ - - - — — — - - -
Fe mg/l — — - —_ _ b — — — - - — — — —
Mn ng/1 - - - — - - — — - - - - - - -
O B olani22.6] 22,635, 2] 19.1]19.2[18.0] 26.4[20.2]26.7[21.67 24,6/ 35.27 18.0] 23.6
BBERO0C) |ps/em| 292 [ 297 ] 278 | 277 | 286 | 288 | 293 | 322 | 294 | 287 [ 266 | 279 | 322 | 266 | 288
Ca mg/l — — — — — — — — — — - it — - —
Mg mg/l — — — — — — — — — — — — — — —
pH4 87 )VHUEE| mg/l | 68.1]70.9]66.2 ] 76.2 ] 69.8 | 65.2 | 70.2 ] 83.2 [ 8.1 80.9[63.9]|62.9]83.2]62.9[ 7.6
pHY, 0f B mg/t 493 2.1t aot ot 372402 2.0 402 .91 ] 131 ] 402] 300493 1.01]292
pHY. 07 NHVE| ng/l | — — - — — — - — - — — — — — -
S0,%” ng/l | — - - — — — — - — — — — — — —
Cl- wg/l | 36.442.4] 32.2[35.6] 29.2] 31.9(36.8] 48.5 | 41.1 | 38.3 [ 28.2[ 32.4[48.5]28.2] 36.1
Na mg/l — — - — — — - — - — — — — — -
K wg/l | — — - - - - - - - - - - - - -
T - Si0, wg/l | — = — — — — — — — — — — — — —
AU g/l | — — - - - - — - - - - — — - -
Chl-a e/ 1] 98.5]96.7]87.7]123.0] 34,1 56.6] 56.4] 8.0 69.3[110.3] 87.0[ 92.4]123.0] 34.1 [ 82.7
Chl-b v/t o] LoJo2lroltoloofoalozlotlod]l a5l ns] ol | ot
Chl-c ve/tl o5 [t o7 o9 20 3.3 ] 323662 9.9 1.4[133[17n.1] 297 8.3
JxFd74F |ne/ Ll 26919017296 10.6]18.8]32.0] 6.2 ] 9.2 [14.1[34.9]290.5[27.6[34.9] 6.2 ] 21.6
B A REwmts | ne/l | — — — — — — — — — — — — — — —
fifi#% tEIDTHE AR OFHEIC & Dked e, 3. P~-ON=(ON) — (D-ON) 6. P~-TP=(TP)—(D-TP)
1.P-COD=(COD)~-(D-COD) 4, D-TN=(IN)+(D-ON) 1. TC=(IC)+(TOC)
2. 1 N=(NH4-N) +(NO2-N) + (NO3-N) 5. TN=(IN)+(ON) 8. P-OC=(TOC)—(D-0C)




KEEXR (£D2)

BREA B KE% FUARI SIS Jbali 51 24F (20004E)
L H Bhr | 1/9 | 2/6 | 3/6 | 4/17 | 6/8 | 6/6 | /3 | 8/7 | 9/19 | 1072 | 11/6 | 12/4 |FKfl| B/ M| SEI3EHE
2-MIB e/ 1[0,004]{0.006]0,005]0.217(0.010]0.009]0.017]0.001(0.001]0,002]0.003]0,003|0.207]0.0010,024
PFAI Y g/ 1]0.001]0.003]0.006)0.004]0.016]0.007[0.003]|0.001]0.001]0.003]|0.003]0.002[0.016]0,001]0.004
MIRRAS VSRR (TRFP) | g/ — - — — — — — - - — — - | - — —
JonhhAERREE | me/l | — -~ — - — — — — — — = - — — —
7Y AR | mg/l ~ - - — — - — — — — — — - — -
Vo ueatvkeg | me/l | — - - - — - -~ - - — — — - - -
7 ntibhERRAE | ng/l — — — ~ — - — — - - - — — — —
TNELE wg/t | 1.04 ] 1,21 [ 1.26] 1.25] 0,76 0.92 | 0.84 | [.2a5 [ 1.01 | .44 [ (.86 ] (.24 ] 1.86 [ 0.76 | 1,17
TNHE ng/1 —= — — - - - - — — — — — = — -
TNTFHE mg/l | (.14 1.23 ] 1.34 | 1,19 0.79 | 0.84 | 1.00 | L.21 | 1.O7 | 1.28 | 1.34 | 1.18 | 1.34 ] 0.79 | 1. 13
TP.LE mg/l |0.076]0.084(0.083]|0.101|0.085[0.117[0.086)0.261|0.162]0.161|0.102]0.087]0.2610.076]0,117
TPHfE mg/1 - — — i = — — — — — — — — -
TPFE mg/1 [0.107]0.083]0.092]0,100]0.088|0.109/0.101[0.261|0.167[0.163[0.100]0.092]0,261(0.083[0.122
CODEE mg/l | 9.61 | 8.86(9.20[ 9,72 | 7.95| 7.77| 8.56 | 9.55| 9.03 | 10.15| 8.22 | 822 | 10.16] 7.77| 8.9
CODHIE ng/ 1 — — — - - - — - — — - - - - -
CODTHE ng/1 - — — — ~ — — — — — — - — — —
K KE T — — — — — — — - - — — -~
xE T — — - - — = - - - ~ - -~
0.6m T — — - - = - — — - - - -
1.0m T — — = - - - - — —~ - - -
2.0m T — - — — — — - - - — - —
3.0m T — - - = = - — — - - - -
4.0m T — - - - - - = — — - - -
5.0m T — — — — — - - - - - - —
6.0m T — — - — - - - — — — - -
B T — - — — — - — — - — - ~
DO KE|[mg/l | — — — — - - - - — — — -
E] 74T I I I I N R I A I A I
0.5m ng/1 ~ - — — - - — — — — — —
1.0m ng/1 — - — - - — - — — - — -
2.0m mg/1 — - — - - - —- - - - - -
3.0m ng/| — — — - - — - — - — — =
4.0m ng/1 - — — - - - — — - - — —
b. 0m ng/1 - — — — — - - — — - — —
6. 0m ng/l | — — — - - - — = - - — -
T e/l — | - | - [ = [ = == =[=1-1=—1+=
AR HEE KE | Lux — - - — — - - — -~ - = —
Ml Lux — — = — — — - — -~ - — —
0.bm Lux — - - - — — — — - - - —
1.0m Lux - — — — - - — — — — — —
2,0m Lux - - - - — - - - - - - -
3.0m Lux — — - — — — - - - - — —
4. 0m Lux: | — — - — — — - = —= - - -
5.0m Lux — — - — — - - — - -~ ~ -
6. 0m Lux — — — — — — - - - - -~ —
B Lux — — — — — — — - -, — - -
ERmLORP | aV - - — — - - — — — - = —
e ¥ DOWDOFHz LB YEER




—  aems

KEER (E01)

SRk 34E (20014F)

(e ZAHM KpH FIARJI] 4 Jbi
b= B By 1/9 2/6 3/6 | 4/17 | 6/8 6/b /3 8/7 | 9/19 | 10/2 | 11/6 | 12/4 | KMl | me/IMlE| F3EE
X & - - & 2 ) ) 8 2 i 2 % % 2 %
FRAKEEA Wisr | 12:44 | 14:43| 14:03| 11:48|10:65]12:02(12:38]13:50| 12:26] 12:12[13:2012:01
RKE m 6.65 | 6.42 | 6.48 | 6,70 | 6.05 | 6.98 | 6.25 | 5.98 | 6,76 | 6.93 | 6.59 | 6.60
B K R m 0.50 | 0.50 | 0.50 | 0.60 | 0.50 | 0.560 | 0.60 | 0.50 | 0.50 | 0.50 | 0.60 | 0.60
ol T 4.7 8.9 | 13.6] 20.6 ] 18.6 | 27.0 | 31.5] 23.7] 28.4 | 26.6 ] 16.9| 9.8
K _#H T 4.8 4,2 7.5 | 18.5 | 17.0 | 24.0 [ 27.9 ] 25.8 | 25.8 | 21.3 | 16.6 ] 10.9 | 27.9 | 4.2 17.0
4 (B48) — | wmnn | s | wens | vornes| waner| onen| KRR | BROR | RRNE | MOREAE | es | sees
B & (k) - e | s | e | s | BA | BR | B RE | ERR | BR | KR
B (41} 20.8 | 23.8] 21,0 20.3 | 23.1| 24.5 | 24.9 [ 26.0 | 26.8 [ 23.8 ] 29.0 | 26.0 :
B m 0.52 | 0.55 | 0.44 | 0.52] 0,60 0.37| 0.52 | 0.54 | 0.58 | 0.73 ] 0.82 ] 0.75] 0.82 ] 0.37 | 0.58
KB — 16 16 16 16 16 4] 16 {6 16 17 17 17
pH - — .24 7.72 813 844 | 7.91 | 7.70 | 8.76 | 8.45 | 8.41 [ 8.46 | 8.26 | 8. 36| 8,76 | 7.70 | 8.24
DO mg/1 [11.80|13.16|12.75]12.30] 9.61 | 9.89 [11.41] 8.34 | 9.67 | (1.00] 10.36]10.78] [3.15] 8.34 |10.9I
BOD mg/! | 3.83] 3.93 ] 4.66 | 3.97 | 2.67 | 2.64 | 2.83 ] 2.91]3.02 | 3.14[2.68] 3.32 ] 4.66 | 2.64 [ 3.30
ATU-BOD mg/t | 3.80 | 4.86 | 6.63 | 3.66 | 4,04 2.81 [ 3.91 ) 3.69 ] 2.77| 2.56 [ 2.45| 3.07 ] 5.63 | 2.45 [ 3.59
COD (Mn) mg/) | 9.67 ] 9.09| 9.44 | 9.09 | 7.93 | 6.48 | 7.76 | 9.49 | 8.26 | 9.60 ] 8.563 | 9.04 | 9.67 | 6.48 | 8.69
D-CODMn)| mg/l | 6.46 | 6.20 | 5.87 | 5.44 | 6.80 | 5.02 | 65.36 [ 7.18 | 6.44 [ 7.17 | 6.44 | 65.73 | 7.18 [ 5.02 | 6.01
'P.-CODGn) | me/1 | 3.21 [ 2.89[3.67[3:66|213]1.46|2.40) 2,31 | 1.82)2,33]3.09)3.31)3.656/(1.46 ) 2.68
CcOD(Cr) v/l | 21.60(20.40] 19,67 18. 54| 16. 74| 13.11]22.91(21.38] 18.9919.93|19.76[19.69] 22.91 [ 13,11 19,39
D-COD(r) | mg/l | 13.13|11.41|10.73| 7.36 [ 10.49] 9.16 | 16.04| 11.90| 12. 15[ 12. 27| {1. 40| 10. 71| 16.04| 7.36 | 11.48
SS mg/l | 18.2 | 16,8 | 1650 16.2 | 10.2| 9.2 | 10.5] 18.0 | 12.0 | 12.5 [ 12.6 | 14.4 ]| 18.2 | 9.2 [ 13.8
KIBEIESe  {wewroom | L 2B+ | 1 4B41 | 4. B+ | 203841 | 2,0B+0 | 2. 3841 | 2,38+1 | 3. IBH [ 3.6B+3 | 2. 7B+1 | |. 7B+2 | 4. 0B+0| 3. 5B+3 | 2. 0E40| 3. 2E42
TN mg/l | 0.97 | 1.04 | 1.03| 0,95 0.78]0.76[0.91 | 1.20]0.99]0.93/0.96| 0.85] 1,20 0.75 | 0.96
TP mg/1 |0.078|0,100(0.074]0.0900.074(0.070]0,073(0.263)0.159]0.138[0,094|0.084]0.253|0.070]0.107
NH,—N meg/1 | 0,020,021 0,02]0.00]0.01|000]0.01] 0.04]0.00]0.02{0.02|0.00] 0.04 | 0.00] 0.01
NO,—N mg/1 | 0.004|0,006(0.006(0.00t)0,001{0.002|0.001|0.002|0.002|0.001]0.002]0.002] 0.006 | 0.001|0.002
NO;—N mg/1 | 0.07]0.06[0.01|0.00]0.01f0.00]0.01]0.00]0,00]0.00]0.00]0.,00] 0.07]0.00] 0.01
‘IN mg/l | 0.09]0,08]0.04[0.01]0.02]0.00]0,02([0,04]0.00/[0.02]0.02]0.00]0.09]{ 0.00] 0.03
ON mg/1 [0.93] 03| o2 0,96 0.79]0.73]0,92]1.17] 1.00]0.92[0.93]0.87] 1,17 0.73] 0.94
D+ON mg/1 | 0.38 ) 0.6t 0.36] 0.27(0.27)0.29(0.32 | 0.48 | 0.39| 0.43 [ 0.36] 0.35] 0.51 | 0.27 | 0.37
'P - ON mg/l | 0.56 | 0.62] 0.66 0.69 0.62 | 0.44 | 0.60 | 0.69| 0.61 | 0.49 | 0.67| 0.52 ] 0.69 [ 0.44 [ 0.567
‘DTN mg/1 | 0.47 | 0.59 | 0.40 ] 0.28] 0.29 | 0.29] 0.34 ] 0.52| 0.39) 0.46 | 0.38 ] 0.36] 0.69 | 0.28 | 0.40
TN | mg/t ) 1,02 111 | 1,06]0.97|0.80|0.73]0,94(1.21 | 1.00] 0,94 |0.95|0.87] 1.21]6.73]0.97
D-PO4-—-P mg/1 [ 0.002|0.002(0,003(0.002)0.002|0.000|0,002|0.152]0.066]0.046)0.006]0,002]0.152|0,000]|0.024
D'TP mg/1 |0.022(0.029(0.029]0.023)0.026(0.022]0.022|0.175]0.088]0.071[0.025]|0.018]0.176[0.018]0.046
‘P.TP mg/1 |0.066(0.071]0.045]0,067|0.048|0,048]0.051{0.078(0.07(L[0.067]|0.069}0.066]0.078[0.046|0.061
1C mg/1 | 10.9] 9.0 | 14.3 [ 12.2 | 12.9 [ 12.9 | 11.5 | 14.6 [ 10.4 [ 11,1 [17.0] 14.3] 17.0] 9.0 [ (2.6
TOC mg/1 8.1 8.2 8.3 8.7 6.8 5.9 6.1 8.4 7.0 8.4 8.0 8.8 8.8 6.9 7.8
‘'TC mg/1 | 19.6 ] 17.2 | 22.6 ] 20.9| 19.7| 18.8 | 17.6 | 22.9| 17.4 | 19.5 | 26,0 | 23.1 | 25.0 | 17.2 | 20.4
D:0C ng/l 6.0 5,3 4,2 4.2 3.9 3.4 3.9 6.5 3.1 6.5 4.8 2.2 6.5 2.2 4,6
'‘P.OC ng/1 2.1 2.9 4,1 4.6 2.9 | 2.6 2.2 1.9 3.3 1.9 3.2 6. 6 6.6 1.9 3.2
D-Fe mg/1 | 0.02 | 0.13 [ 0.06-] 0.01 | 0.05]0.02] 0,03 [0.03]0.03]0.04]0.06|0.02]0.13]0.01 | 0.04
D+*Mn mg/1 | 0.00| 0.00 [ 0.00] 0.00| 0.00| 0.00] 0.00| 0.00] 0.00| 0.00] 0.00] 0,00] 0.00 | 0.00 | 0.00
Fe mg/1 | 0.26 | 0.19] 0,22 0.11[0.26]0.13|0.16[ 0,31 [ 0.13 | 0.17]0.33]0.26] 0.33] 0.11 ] 0.21
Mn mg/1 | 0.06 | 0.03] 0,05 0.06| 0.04]0.04]0,06 | 0.11]0.06]0.07)0,06]0.04]0.11]{0.03]|0.06
W E B 26,2 22,9 | 21.7 | 24.4 | 17.4 ] 13,2 | 15,9 | 26.1 | 18.8 | 19.2 ]| 20.6 ] 22.4] 26.2 | 13.2 | 20.7
HERQ0C) | us/en| 31 305 28 304 329 303 302 | 346 346 338 293 287 345 285 312
Ca mg/1 | 16.6 | 16.8 | (6.2 [ 16,97 16,4 | 16.2 | 16.2 | 17.3 | 20.2 | 19.2 | 17.9 | 16.5] 20.2 | 16.6 [ 17.1
Mg mg/l | 7.23 | 7.29 | 7.26 | 8.86-| 7.70 | 7.90 | 8. 17| 8.70 | 9.08 | .06 | 7.74 | 7.51 ] 9.08 [ 7.23 | 8.04
pH4L 8P HUEE| we/l | 67.6 | 72.3 | 66.6 | 70.6 | 68.2 [ 65.5 | 68,2 | 85.0 | 83.0 79.9 | 71.0 | 68.0 ] 85.0 | 66.5 | 72.2
p H9. 0fk Bl me/t | 413 22| 402 1,21 4.02]4.02]3.02]3.02]2.21 (352|452 350 4.52| 1,21 337
pHI, 07 VAU EE| neg/l — - — - — — - — - - - - — — -
50,2 mg/l | 22,9 24.7| 26,65 26.8 ] 28.7| 80.6 | 28.1 | 13.4 | 24.2 | 20.0 | 22.5 | 23.2 ] 30.6 | 13.4 | 24.2
Ccl” mg/l | 40.5 | 42.6 | 35.0 | 40.5 | 42.2 | 89.8 | 41.3 | 62.7 ! 43.9 | 48.5 [ 39.0 | 37.4 | 62.7 | 35.0 [ 42.4
Na mg/l | 33.2| 31.4| 31.0 33.8| 34,2 | 31.8|31.8| 31.8|32.7|36.3[27.8/26.9] 36.3] 26.9{ 31.9
K mg/l | 4.82 | 4.02 | 4.16 |'6.31 | 4.34 | 4.60 | 4.5 6.3 | 65.29 ] 6,66 | 4.78 | 4.67 [ 6.65 | 4.02 | 4,94
T » Si0, mg/l | 25.5 | 26.1 | 15,9 | 20.5 | 21.6 | 23.1 | 21.6 | 17.8 | 20.3 | 9.1 |.21.4 | 18.9 ] 26.1 | 15,9 | 21.0
) h mg/l | 9.68 [ 18.87|11.69] 9.66 |11.28|14,30| 11,6 | 13,3 [11.80|11.41|13.10]| 11,64 14,30] 9.66 | [1.93
Chl-a pne/1]179.2]83.2 | 75.2|42.4]30.7|26.4|58.7|77.5|65.8]62.4|67.7|569.5]83.2]| 26.4 | 69.1
Chl-b weg/ 1] 0.5 0.5 0,1 0.6 0.7 0.5 0.3 0.9 0.3 0.3 2.0 1.9 2.0 0.1 0.7
Chl-¢  |ug/l| 8.1 8.6 | 11.3] 4.2 2.9 1.1 1.2 3.2 4.5 4,8 8.7 9.5 11.3 1.2 5.8
Tk 749y |ug/1| 259 26,2 | 27.1 | 3.1 [ 11.0| 889 2.2 3.6 8.0 | 12.6 | 19.9] 17.3] 27.1 2.2 | 13.17
B A RmstH | me/1 1 0.02 ] 6.00 ] 0.00(0.02]0.00] 0.00[0.02]0.03]0.02]0.02]0.01]0.03]0,03]0.00] 0,62
; e sEIOME B R OB B X DR, 3. P-ON=(ON) —(D-ON) 6. P-TP=(TP)—{(D-TP)
I.P-COD=(COD)—(D-COD) 4. D-TN=(IN)+(D-ON) 7.TC=(1C)+(TOC)
2, I N=(NH4-N) +(NO2-N) + (NO3-N) 5 TN=(1N)+(ON) 8. P~-OC=(TOC)—(D-0C)




KEFER (20 2)

B4 v Run K% . FARJ )il ElR SRR 1 34E (200148)
H B ML 1/9 | /6 | 3/6 | 4/17 | 6/8 | 6/6 | 1/3 | 8/7 | 8/19 | 10/2 | 11/6 | 12/4 [ AHE| B/IME| S &
2—-MIB 208/ 110.004/0.007[0.016]0.131[0.018{0,007]0.036]0.001]0.001/0.002[0.002{0.003]0.131]0.001]0,019
VAAZI S g/ 110.002]0.003]0.007|0,005[0.041/.0.004]0.003]|0.001]|0,.002]0.003]|0.002]0,003]0.041]0.001]0.006
MnyyH g fe (Tivee) | mg/ 1 — — — — - — — — — - — - — — -
yomiphERREE | me/l — - - — — — — — — = - -~ —~ —= —
7 0ey pondd R | ng/l — — - — -~ — — — — — - - — — —
v 7 iR | me/l — — — — - — — — — — — — — — —
7' DEbbERREE | me/l — — - — — - = — — — ~ — — — —
. TNEE wg/1 [ 0.97] 1.04] 1,03 [ 0.95]0.78|0.76]0.91 | 1,20 0.99] 0,93 | 0.95| 0.85( 1.20 | 0.76°| 0,95
TNHE mg/1 ] 0,95 L.03 | 1,04]0.93)0.75([0,71]0.87 ] [.18]0.91]0.95/[0.92]0.8 ] 1.18 | 0.71 | 0.92
TNTE mg/l | 0.96 [ 1.02[1.07[1.02]0.77]0.77|0.82 | 1.24 ] 0.88 | 1.00]0.94] 0.82 | .24 0.77] 0.94
TPLE mg/l 10.078]0.100]0.074]0.090]0.074{0,070)0.073)0,253]0,169]0.138]0.094|0.084]0.263] 0,07 | 0.107
TPHE mg/L [0.074]0.080]0.076]0.087]0.074]0.068]0.077]0.254]0.162]0,140]0,093[0.077]0.2640.068]0. 105
TPTE mg/| |0.083]0,077(0.085(0.105|0,074|0.075|0.096|0.263]0.163|0.145|0.097]|0.086]0.263|0.074]0.112
CODLE mg/1 | 9.67 ] 9.09| 9.44| 9.09| 7.93| 6.48 | 7.76 | 9.49 | 8.26 | 9.50 [ 8.63 | 9.04 | 9.67 | 6.48 [ 8.69
CODHE wg/1 | 9.569 | 8.96 [ 9.59 | 8.89 [ 7.93| 6.62| 8.02 | 9,45 | 8.46 | 9.01 | 8.12 | 7.92 | 9.59 | 6.62 | 8.5
CODTFRE mg/1 | 10.99] 9.11 [ 9.77 [10.17] 8.01 | 6.66 | 8.40 [ 10.06] 8.46 | 9.31 | 8.42 | 8.08 | 10.99| 6.66 | 8.95
K KE T — — — — — — — - - | = — — ]
FH T 47 [ 3.9 7.6 [ 18.4]16.3] 24.4| 28.6 | 26.9] 26.9 | 2L.3 | 16.6 10.9 )
0.5m T 4.7 3.9 7.5 [18.0]16.3] 24.4] 27.6] 26.9] 25.8 | 21.3 ] 16.6 | 10,9
1.0m T 4.7 3.9 7.5 | 17,6 16.3 | 28.4| 27.0) 26.9| 26.8 | 21.3 | (6.5 ] 10.9
2.0m T 4,71 3.9 | 7.5 [16.8 | 16.3] 23.3 ] 26.4 | 25,9 | 25.7 | 20.9 | 16.4 | 10.9
3.0m T 4.7 [ 839 7.4 | 16.5(16.3 | 23.0| 26.2 | 26.9 | 26,7 20.4 | 16.3 ] 10.9
4. 0m T 471 39 7.4 | 16.4] 16.3] 22,9 26.83] 25,9 25.7| 20.4| 16.3 ] 10.9
6. 0m T 4,71 3.9 [ 7.4 | 16.4]16.2| 22.7[26.2 | 25.9 | 25.6 | 20.3| 16.2 ] 10.9
6. 0m T 4.7 1 3.9 [ 7.4 | 16.4]16.2| 22,0 | 26.6 | — | 25,2 20.3 | 16.2( 10.8
BT T 4.7 1 3.9 | 7.4 | 16.3 ] 16.1 | 22,0 25.6 | 26.9 | 24.9) 20.3 | 16.2 | 10.8
* DO RE | ng/l — — — — — — — — — — —
Ei] me/l | 12.9] 9.6 | 11,0] 9.0 | 6.9 | 7.3 | 9.6 | 86 | 88 | 9.0 ] 9.2 | 9.3
0.6m me/l | 12.9] 9.6 | 10,9 88 | 7.2 | 7.3 | 9.6 | 86 | 88 | 9.0 | 9.0 ] 9.2
1. 0m mg/l | 12.9) 9.6 [10,9] 86 | 7.3 | 7.2 ] 9.4 83| 87| 9.0 89 9.2
2. 0m g/l | 12,9 9.4 [10.9] 86 | 7.4 | 7.0 | 9,2 | 81 | 87| 83 | 88| 9.2
3.0m mg/l | 12,8 9.3 [10.7] 7.8 | 7.4 ] 6.7 ] 88 80| 86 | 7.2 86 | 9.2
4.0m mg/) | 12.6 9.0 [10.7] 7.6 | 7.4 | 6.6 | 85 | 7.9 | 856 | 7.1 [.8.0 | 9.1
5. 0m mg/l | 12.6] 8.9 [10.6] 7.8 | 7.4 | 5.4 | 8.1 | 7.7 ] 82| .0 ] 7.8 9.0
6. 0m mg/l | 12.7] 9.0 [10.2] 7.0 | 7.4 | 2.2 | 5.8 — 8.3 69| 7.7 89
JETH mg/l | 12.6 6.2 | 10.4] 6.0 | 7.4 | 2.t | 1.4 ]| 7.1 | 6.9 | 6.4 | 7.6 | 8.8
K ERE Kb | Lux | 2793032800 | 54700 26600 32700 | 53400 | tor400 [ 18120 | 67300 | 71100 | 14230] 11300
KE Lux | 2269014660 28200| 21480 | 26960 | 41600 | 73200 | 11310 52700 | 7100 | 10030 | 7160
.0.6m Lux .| 7600 | 6060 | 18500 11580] 10310 | 18070 25800 | 28356 | 20690 | 2170 | 2910 | 2980
1.0m Lux | 2750 | 1871 | 6430 | 7780 [ 4570 | 8670 | 13640| 844 | 14060| 1397 | 1472 | 1709
2. 0m Lux 700 | 547 | 764 | 2024 | 1861 | 2720 | 836 | 129 | 3260 | 6512 | 284 [ 265
3. 0m Lux 70 86 168 | -566 | 675 | 885 | 266 13 869 | 127 5l 63
4.0m Lux 14 ! 32 154 | 328 | 240 | 131 1 222 29 11 12
5. 0m Lux 2 0 1 46 96 18 17 0 16 5 | 6
6. 0m Lux 0 0 1 10 25 23 3 43 0 0 0
JE T Lux - — — — — — — — — — —
ERHEORP my | +176 | 186 64 53 119 | 167 | 226 | 184 | 134 1 260 26

fii%
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KEER (ZD 1)

BRFT 4 HEE FAR)I i7)(144 EA % L 34E (200148)
H . B | B 1/9 3/6 | 4/17| 5/8 | 6/6 | 1/8 | 8&/7 | 9/19 12/4 | BRfE | B /Ml
X & — & [ [ # & % ) % il
Bk kel K& 11221 13:42 11:28[10:30]11:36] 12:11[13:17[12:00 11:30
2K m | 2.59 2.22 ] 2.84 ] 2.60 ] 3.24] 2.26] L.56] 2.04 2,14
KR m | 0.50 0.50 | 0.50] 0.50 [ 0.50 ] 0.50 | 0.50 | 0.50 0.50
i T 4.6 13.8] 19,0 18.6 [ 28.0 [ 31,7 24.6 | 28.2 9,2
K € | 4.4 7.9 | 18.6 | 17.0] 24.0] 28.6 | 26.2 | 26.4 10.6 | 28.6 | 4.4
4 B (AR —~ | e DEIEE | aN (wamen| aRom | RGBS E | REISE Wi
B K (BRp - | &5 R | mE | mn | mS | mE | @R | iR R
B enm | 14,6 1665 [ 19.8[17.9]19.2]13.9] 16.3] 14.4 17.5
B m |[0.32 0.38]0.42]0.35[0.23]0.21]0.44]0.33 0.62] 0.62 [ 0.20
K — 16 16 16 16 15 17 18 17 17
pH — | 8.08 810 8,19 7.94] 7.78 ] 8.11 ] 8.28] 807 8.15 | 8.28 | 7.76
DO mg/1 | 12.08 12.78]12.30] 9.94 ] 9.76 | 9.43 [ 9.67 | 8.25 10.12]13.39] 8.25
BOD ng/l | 4.17 4.88 | 4.16]3.08] 312 ] 2.70] 2.49] 3.26 2.42 | 4.88 [ 2.42
ATU-BOD | mg/l | — — — - - — — — — — —
COD (¥n) wg/1 | 11,16 10,81 9.74 [ 9.65 | 7.99 | 9.07 | 9.45 | 8.50 8.01 [ 11.15] 7.99
D:-CODGM | mg/1 | — — — - |- = — — — — — —
‘P-CODGN) | mg/l | — — — - Z - _ — — — —
COD (1) ng/l | — — — — — - - - — — —
D:CODEr | mg/1 | — — — — — — — — — — —
SS ng/1 | 26.7 212 | 16.7] 22,0 18.2] 20.0[ 31.2] 28.0 23.7] 31.2 | 16.7
jﬁ}]%%ﬁi%( ¥PN/100n1 | 3. 341 |, 3842 | 2. 0B+1 ( 4.0B4+0 | 3. 3B+2 | 2. 3B+2 | 3. 3E+3 | |, 3B+4 1, 1E+3| 1. 3E+4 | 4, 0E+D
TN ng/l | 1306 0,99 0.88]0.89[0.92]0.91]1.10]0.92 0.77] L.10 ]| 0.77
TP mg/1 [0.103 0.082]0.096]0.096|0.086]0.116]0.178]0.133 0.080] 0. 178] 0,080
NH,—N mg/1 | 0.07 0.02]0.02]0.01]0.02]0.01]0.04]0,00 0.01 ] 0.07 [ 0.00
NO,—N mg/! |0.004 0.003] 0.002]0.001]0.002]0.002]0.002][0.002 0.002]0.007] 0.001
NO;—N ng/l | 0.07 0.01 [ 0.01]0.02[0.00][0.01]0.00]0.00 0.00 ] 0.07 | 0.00
IN mg/1 | 0.14 0.03]0.03]0.03]0.02]0.02][0.04[0.00 0.01 [ 0.14 ] 0.00
ON mg/1 | 0.98 0.98]0.890.88] 0.90 [ 0.92 [ 1.07 [ 0.92 0.77] 1.07 ] 0.77
D+ON ng/1 — — — — — — — — ~ — —
‘P - ON ng/l | — — - - — - - - = - —
‘DTN wg/l | — — - - - — - — -
TN ng/1 | 1.12 1.01]0.92]0.91]0.92[094]111]092 0.78] 1.12 ] 0.78
D:PO4—P | me/l |0.004 0.003]0.003[0.002]0.000]0,0030,058(0.0268 0.004] 0.058] 0.000
D' TP mg/l | — — — — — — — —
‘P. TP wg/l | — - - - = - = - —
1C ng/1 | 11, 9.8 | (4.7 16.8] 13,4 12,71 14.2]10.7 16.6.] 186 9.8
TOC mg/1 | 10.1 9.8 | 89 85 ] 61| 84 841 7.7 7.8 8.1
'TC mg/1 | 21.7 9.6 923. 6] 24.3]19.5] 21.1] 22.6] 18.4 24. 4 17.2
D:0C wg/l | — — — — - - - — — —
'P.0OC ng/t | — - — - - - - - - - -
D'Fe mg/l | — — — — — — — — — - —
D*Mn mg/l | — — — — - — ~ = - — -
Fe wg/l | — — — - - - — — - — —
Mn mg/l | — — — - - - - — — — —
W B B ] 336 25.2 | 24,7 29.8] 22.9[ 28.4] 39.6] 32.9 26.1 [ 39.6 | 22.9
EERQ0C) |ws/cn| 423 306 | 438 | 526 | 411 | 421 | 613 | 445 344 | 613 | 306
Ca mg/l | — — — - — - — — - - —
Mg mg/! — — — — —
p H4, 87V h )| mg/l | 76.7 68.4 [ 79.6 | 79.8 ] 67.0] 78.2 ] 84.2 | 79.2 73.3 | 84.2 | 67.0
p H9. 0fk 2| ng/l | 4.63 3,00 3.32 4423820 3.62]56.23] 47 3.60 | 5.23 02
pHI 07N AVEE| mg/l — — — — -
$04%° ng/1 — — — — — — — — — — —
cC1- mg/1 | 69.6 41.4 1 73.8]93.2] 62.0 67.7[123.5] 78.1 67.1 [ 123.5] 41.4
Na g/l | —= — — — — — — — - - —
'K mg/l | — - - - - - - - - - -
T + 510, wg/l | — — — - - - - — - -~ —
e Uh mg/l | — - — — - - — - - - -
Chl-a ue/ L] 50,1 2| 57.5]30.1]40.4[29.6| 44.5 [ 64.4] 5867 3.2 74.1 (208
Chl-b ue/ 1| 1.1 4]o4f[tojosg]o7]o01l]03]08]0 2.4 [ 2.4 ] 0.0
Chl-c pe/ 1| 4.8 9 [ 6.1 [30] 45 ]07] 23] 29]s517]:8 6.1 [ 85 | 0.7
JxA74Fy (pue/1 1.8 16,3 2.8 42136t | 26| nL]|91]0 8.0 | 21.8] 0.2
B REEEA | ng/l | — — — — — — — — — — —
fH# sHOEE KA ORI L bRk, 3. P-ON=(ON) —(D-ON) §. P~T P=(TP)—(D-TP)
I.P-COD=(COD)—(D-COD) 4. D-TN=(IN)+(D-ON) .TC=(IC)+(TOC)
2. I N=(NH4-N) +{NO2-N) + (NO3-N) 5. TN=(I N)+(ON) 8, P-OC=(T0OC)—(D-0C)




KEER (£02)

Bpd (M Kk FAR ES AL Pk 1 34F (20014F)
H H | B0 [ 179 | 2/6 | 3/6 | 4/17| 5/8 | 6/6 | 7/3 | 8/7 | 9/19 | 10/2 | L1/6 | 12/4 [BRKAE|Be/IME| P
2—-MIB pg/1]0.006]0.010)0.0(7)0.088]0.009)0.006/0.028]0.0010.000|0.001]0.001]0.003]0.088(0.000]0.014
VAR te/1]0.002)0.005[0.010]0.016]0.026/.0,0030.003)0.00L0.001]0.002]|0.002]0.004[0,026|0.001] 0.006
bonup it (e | mg/1 [ 0.167]0,163]0.142)0.169(0,188]0.142(0.161]0.216]0.176]0.176]0.116]0.129]0.216]0.116 0. 161
JoniihAzpEE | me/l | 0.060)0.063[0.064|0.060)0.053[0,0465]0,060]0.076]0.052|0.052|0.0470.043]0.076] 0,043 | 0,055
7 ney yungbyAin | mg/1 ) 0.061]0.060(0.040)0,046)0.054)0,041)0,046)0.061)0.0510.051]0.033|0.039] 0,061 0.033] 0,047
V7 eyt abv g | mg/1 | 0.046)0.0410.032(0.049|°0.062]0.044|0.0440.062] 0,086 0.056] 0.030] 0,038 0,062 0.030] 0.047
7' DERVAZEREAE | mg/1 | 0.010(0.009)0.006]0.014]0.019/0.012]0.011{0.016]0.017]0.017]0.006)0.009[0.019]0.006]0.012
TNLE mg/t | 1,06 1.02]0.99/0.88]0.83/0.92(0.91]1,10[0.92]0.98]06.8]0.77|1.10]0.77 ] 0.9
TNHE mg/! | 1,02 1.01]0.96{0.92]0.86[0.80.92] 1.14]0.8]0.91[08]0.72] 1.14]0.72]0.92
TNTHE mg/l | 0.98)0.97 | 0.,96] 1,01 |'0.88 | 0.88 | 0.94 | 1.16] 0.87 | 0,95 0.82 | 0.69 | 1.16 | 0.69 | 0.93
TP LR mg/1 | 0.103)0.096|0.082[0.096|0.096/0,085|0.116)0.178]0.133/0..119)0.112]0.080{0.178]0.080]0.108
TPHE mg/1 |0.096]0,092|0.085/0.111]0.102{0.087(0.((9/0.182/0,(38(0.110)0.110]0.0780.1820.078]0D.109
TPTHRE mg/1 |0,096|0.089]0,085|0,126)0.097]0,084)0,123(0.181|0.141]0.130(0.1(08(0.077]0.181]0.077.] 0.111
COD.LE mg/l | 11.16| 8.86 | 10.81] 9.74 | 9,55 | 7.99 ) 9.07 | 9.45 [ 8.50 | 8,97 | 8.38 | 8,01 | 11,16] 7.99 | 9.21
CoDdE mg/l | 11.06| 8.86 | 10.10| 9.36 | 8.67 | 8.21 | 9.27 | 9.76 | 8.67 | 8,50 | 8,26 [ 7.20 | 11.06] 7.20 | 8.99
CODTHE mg/1 |10 00)9.11]9.49]10.16) 9,14 | 7.87 | 9.47 [10.39]| 9.07 | 8,77 | 818 | 7.00 | 11.11] 7.00 | 9.14
R Kk | C -l -l -l =-l=-lT-|=-]1=-1=-1=-1=1=
R T -l -l -] =]l=-1=-]l=]l=]=-1]1=1=1+=
0.5m c | -1 -1T-T-T1T=-T=T-T-=-T1T-T=T=71T+=
1.0m c |l -1T-T-T-T=-1T=-1T-T-T-T=-T-=-71T-
2.0m c |l -1T-1T-T-T-T-T=-T-T-=-T-T-1T=
3.0m c |l -1 -1T-1T-1T-T=-T-T1T-T-1T=-1T=1>-
4.0m c |l -1T-1T-1T-1T=-T-T-T=-1T-1T=1T-=-1+=
5.0m c |l -1 -T-T-T1T=-"1T-=-T-1T-1T=-1T-1-7T=
6.0m tc |l -T-1T-T-TtT=-T-T-T-=-T-=-1T-=-T-1T=
JE T T -l -l =-1=-1=-1=-1=-1=/=]=1=1=
* DO Kb mNn| — | = | = | = | =] =] -] =]—=]=1=1=
Egil mg/l | = | = | =] =] =] -] -] —=-]=]=1=1=
0.5m g/l ] — [ - T - T -T-T-T-T-=-T-=-1T-=-T-=1=
[.0m mg/l | = | - | -1 -] -]-1-1-1T=-T=1T=71T=
2. 0m ng/| - _ — - - — = - - - - -
3.0m mg/t | — | = | - =-]=-1=-1=-]1=-]=-]1=1=171=
4.0m ng/1 - - _ _ _ - — — - —_ _ _
6.0m mg/l | — - - - - - - - - - - -
6. 0m ng/1 - - - - - - - - - — - -
JETH g/l | = | = | =] =] =] =] —-1=-]=1=1]=1-
ARAREE RE | Lux | — | —~ | = | = | = | = | -] - | = |=1]-1]-= J
Eadl) Lux - - - - - —_ - - - - - -
0.6m by | — | -] =] -1 =]=-]-1=-]=]=1=1 =
1.0m wx | — [ - T - T -—T=-T-=-T-T-1T-1T-T=1+=
2.0m b | = - | -] =-]=1=-7T=]1=-]=1=71=1=
3. 0m Lux - - - - - - - - - - - -
4.0m by | = | -] -} -] =] =-0=1=1=1=
5. 0m by | = | =] =] - == -]=]=1]1=71=1 =
6.0m i | - [ - T -T-1T-T-T-T-=-T-1T-1T=
JESTA] box | = | = | = | =] = =-—|=1=-]=|=1=17=
EREEEORP | oy | — | — | — T — T -1 -1 =T -—T—-—T-T-1T=
(25 + DOWD OFfIC & 2 WIEHIR:




KEFER (2D 1)

B4 ke K%EA FIARJ1I w4 HBEEFAR ] SERELSAE (20014F)
H B | Buc| 179 | 2/6 | 3/6 | 4/17| 5/8 | 6/5 8/7 | 9/19 | 1072 | 11/6 | 12/4 |Bk{H| B/ Ml | SE1E
X & — i & [ ! [} 2 It i 8 E]
FKERAL. Wesr | 7231 | 7:07 [ 12:00] 6:17 | 6:22 | 11:65 7:16 [ 7:14 | 7:24 | 7:53 | 12:33
EORZ m |4.10]4.26]4.56] 4.90]4.10] 4.57 4,15 | 4.70 [ 4.77] 4.58 | 4.54
KR m | 0.60]0.50]060]0860]0.50]0.50 0.50 | 0.60 | 0.50 | 0.60 | 0.50
& _# T 1.5 | 2.3 [ 11.3[13.0] 18.8] 26.5 23.8 | 25.3 ] 20.0] 16,5 11.0
K H C | 4.2 (3.8 8.4]16.5]16.9] 239 26.0 | 25.3 | 21,0 15.8 [ 10.9] 26.3] 3.8 | 16.6
A8 (A — | vwiE | s | hEeE | AueE | jues | RUAR RIDEE | MENE | DEILE | RRE | RNE
B K k) e IR AR AR AR IR ECIECAE IR TR
B em | 24.7 ] 26.6 | 27.6 [ 23.3 ] 26.0 | 24.5 23.0 | 24.5 [ 31,0 20.8 28.4
prli )i m |0.70]0.64]0.67]0.38]0.32]0.37 0.39] 0.68 ] 0.60]0.38]0.40 | 0.70 | 0.32 ] 0.48
Kk £ — 17 17 17 16 16 16 17 17 17 17 16
pH — [so05] 77811 [813]839] 1717 8. 11| 817]810]7.78]7.88]8.39] 7.70 | 8.00
DO mg/1 [12.20]12.95[12.89]10.00f10.8L] 9.44 8,29 9.60 | 8.99]9.93 ] 10.41]12.95] 7.96 | 10.29
BOD ng/l | 468 3.85 [ 4.17] 3.79 | 4.25 [ 2.98 2.36 | 2.68 | 2.33]2.39] 3.55 | 4.58 | 2.33 | 3.32
ATU-BOD | mg/l | - - — — — — — — - - — — — -
C OD () mg/l | 8.72] 8.62 8.24] 8.89[10.59] 7.83 8.11[7.60 (824 7.218.42]10.59] 7.06 ] 8 29
D CODGm | ng/1 | = — — — — — — - - - — — — —
'P.CcODGM) [ mg/l | = | = | = | = | = | — -l -l === =] =] =
COD(Cr) ng/l | - — — — — — - - — — - - - —
D:COD(r) | mg/1 | — — — — — — — — — — — — — ~
SS mg/1 | 12,2 12.7 ] 11.2]18.5]23.8] 19.2 sl 1ne 175225 147 23.8 ] 1.2] 17.3
j(}lgﬁ'i}%& NpyN/100m) | 2, 2842 | 1, 3842 | 9. 4B+1 | 4. 9B+1 | 3. 3B41 | 4. 9841 1, 3E+3 | 7.9842 | . IE+3 | 7. 0B+1 | &, 7B+1| 1. 3B43 | 1. TE41 | 3. 3E+2
TN we/l | L3222 i 1] 1.08]0.86 0.92]0.77]0.89]0.93] 0,80 ] 1.32] 0.76 | 0.98
TP mg/1 [0.078]0.070]0.072]0.090] 0.087(0.075 0.113(0.0880.084[0.081]0.072] 0. (13]0.070[0.083
NH,;—N mg/l | 0.08]0.04]0,02]0.02]0.00]0.01 0.0810.00]0.08]0.06[0.00]0.08[0.00][0,04
NO,—N mg/1 [0.018]0.010]0.010]0.004]0.001]0.002 0.010[0.001]0.008]0.008]0.002] 0.018] 0.001[0.007
NO;—N wg/1 [ 0.26[0.28 [ 0.21 [ 0.00] 0.02] 0.00 0.01] 0.00]0.06]0.09[0.00]0.28]0.00[0.10
'IN mg/1 | 0.35]0.33[0.24]0.02]0.03]0.01 0.10]0.00 [ 0.14]0.16]0.00] 0.35 | 0.00 | 0.12
ON mg/1 | 1.02]0.91]0.90] {,09] 1.10] 0.88 0.86]0.79]0.79]0.82]0.80] 1,10 0.73 [ 0.89
D+ ON mg/l | — — — — — - - — — — — — - —
‘P-ON mg/l | — - - = - = - - - - - - - -
‘DTN mg/l | — - - - - - - - - - - - -
'TN e/l | 37| 124 ] 4] L1t 13 ] 0.89 0.96]0.79]0.93]0.98]0.80] 1.37] 0.79] 1.0l
D-PO4—P [ mg/l [0.003]0.003]0.004]0.002]0.002]0.000 0.026]0.010]0.009]0.003]0.003] 0.025 | 0.000] 0.006
D-TP ng/l | — — - — — — - - — — — - — —
'P-TP g/l | — |- = - - - - - - - | = - - - -
1C we/l | 12.6] 9.7 | 133 14.2] 13.7] 13.3 12.6 | 8.0 | 9,5 [ 15.8| 14.6] 15.8] 8.0 | 12.5
TOC mg/l | 8.2 68 ] 7.2 7.7] 9.5] 6.2 Bl 63| a6 7.8] 956 62] 7.3
'TC mg/l | 20.8] 16.5 [ 20.6 [ 21.9] 23.2[ 19.5 9.9 14.3]16.9]22.3]22.4] 23.2] 14.3] 19.8
D-0C ve/l | — — — — — — — — — — — — — —
‘P.OC mg/l | — - - - — - = - - — - — — -
D-Fe wg/l | — — — — — — — — — — - — — -
D-+Mn mg/l — - — — — — — — b — — — — -
Fe mg/l | - — — — — - — — — ~ - - - -
Mn me/l | - - - - - - - - - - - - - -
W OE B o[ 17.7]19.0] 15,3 26.0| 33.7 | 24.3 28.8 1 20.1 | 24. 4| 22.5 ] 19.6 [ 33.7 ] 16.3 [ 22.7
BAREOQC) [ns/em| 519 | 431 | 440 | 495 | 633 | 442 652 | 371 | 413 | 384 | 412. ] 633 | 371 | 461
- Ca- mg/1 — — — — - — — — — — — — — —
Meg ng/| — - — — — — — —
pH4. 87N A VEE| mg/1 | 78.2 | 84.9 | 71.4 [ 78.7[ 86.6 | 71.6 3.1 8.6 77.1]7.5]69.7] 85.5] 69.7] 77,2
p HY. 0f | mg/l | 3.5213.727]3.22]3.02]3.62]6.03 33 52 | 5.23 | 5.13 | 3.60] 6.33 | 3.02 | 4.31
pHAL 07NV A VE| ng/l — — — — — — — — — —
50,42 ng/| - — — — — - - — — - - — — —
c1l- mg/l | 84.5] 61.4 ] 62.7].87.4 | 117.9] 65.4 102.3] 54.8 ] 66.2 | 58.3 | 64.9 | 117.9] 54.8 | 74.6-
N a mg/1 — — - | = — — — — - — — — — —
K . mg/l - — — — — — — — — — — — — —
T « 810, we/l | — — — — — — - — — — = - — —
s )h mg/l | — — - — — — — — - — - ~ - -
Chl-a 1g/1]50.7]46.6]66.9] 64.3]69.6] 44.7 2.6 [ 7.5 ] 4.2 [ 41.9]50.3] 70,5 38.7] 54.3
Chl-b ve/1] 06] 1.o]o0.7] 0810205 Ol 02 o2 | o 2502709
Chl-c pe/l]l 60 75 6.2 7.4 8.4 1.6 4082 5.3]9.2] 93] 93] 1.6/ 6.3
JrxAd7 45 |pg/t 14280 1.2 [14.8] 8.7 td.4 8 1 10.6] 3.6 | 5.6 |14 7] 14.8] 3.6 ] 10.0
& A Rt | me/1 | = — — — — — — — — — — — — —
=g SEOEBIARDFER L bR — =(ON) —(D-ON) 8. P-TP=(TP)~(D-TP)
1.P-COD=(COD)—(D-COD) . =(IN)-+(D-ON) 7. TC=(IC)+(TOC)
2. I N=(NH4-N) +(NO2-N) +(NO3-N) N=(IN)+(ON) 3. P-OC=(TOC)—(D-0C)




KEFER (ED2)

(SRS S KR FUARN W4 R A% L34E (20014R)

H H BAr| 179 | 2/6 | 3/6 | 4/17 | 6/8 | 6/6 | /3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 |5 fl|R/ME| RioE
2-MIB |pe/1| - | — | — [ = [ - [ - = = [ — T -1 =-—T=1T-1-=-1-+-
PFAI ug/l| - - — - — - - ~ - - ~ — — — -

PIRAS A FRIRCTHYRD) | mg/1 — — - — - — — — — — - — — — —

JominhEREE | me/l - - - — — - — - - - - — - - -
7 e yondyv AR | mg/l — — — — — — — — — - — — — - —
¥ 7 oepdii ke | ne/l — — — — — —~ — — — — — — — — —

7 neihhEsREE | mg/l — - — — — — = — - - - - - = —

TNEE g/l [ 1,32 | 122 | Lir | .11 ] 1.08 ) 0.86 | 0.76 | 0.92]0.77]0.89] 0.93]0.80| 1.32 ] 0.76 | 0.98
TNHE ng/! — — — — — — — — — — — — — — -
TNTE mg/l | 1,29 | 1.28 [ 1.09 | 1.07 | 1.13 ] 0.89] 0,70 | 0.96 ] 0.78 ] 0.87] 0.90 | 0.75 | .29 | 0.7L | 0.98
TP LB mg/1 [0.078]0.070]0.072]0.090(0.087]0.075]0,091(0.113]0.088]0.084(0,081]0.072/0.113]0.070]0.083
TPHE ng/1 — — - - — — - — — — - — - — -
TPFE wg/l |0,076[0.087]0.078|0.09(]0.085[0.087(0.08.|0.112]0.100]0,083]0.090(0.072]0.112]0.072(0.087
COD LB mg/1 | 8.72 | 8.52 | 8.24 | 889 [10.59| 7.83 | 7.05 | 8. L1 | 7.61 | 824 7.21 | 8.42[10.69( 7.05 [ 8. 29
copdf |mg/1| — | — | - = [ -1 - - [ T =T - -1 -1 ~~1+=713=
CODTE ng/| — — — — — — — — — — — — — — —
KB KE i — — - - - — — - — — —~ ~
Eedii] T — — — - — - — — — — - —
0.56m T - - - - - — — - - - — —
1.0m cl-1T-T-1T-1T-1T-1T=-1-T=-T=1-=-175=
7. 0m T | - | - -1 -1 -1-1 -1 -1-1-1-1°+=
3.0m c |l -1 -T-T-1T=-1T=T=1T=T-1T=-1-1-=
4.0m C |l - - T =T=-T-=-1T=-T1T-=-1T=7T=T=1T-1=
5.0m c |l -1 -1T-T-T-T-1T-1-T=-T=1T=71-=
6.0m c ]l -1-1T-1T-1T-T-T-T-=-T=-T-=-1T-=-13-=
JEH T — — — — — - - — - — - —
¥DO AKE | meg/l — — — — — — - — - — - —
il mg/1 — — — — — — — — — — — —
0.5m ng/! — - — — — - - - — — - —
1.0m ng/1 — — — — — - — — — — - —
2.0m wg/l | = | - | =] = =] =-]=]—-—]-1=1=1=
3.0m mg/1 — — — — — — — — - - — —
4.0m | — | - [T =T -1 =-1T-=-1T=-1=1T=1=-71-=
5. 0m mg/1 - — — — — — — — - — — —
6.0m mg/1 — - - - — — — - — — — -
K ng/1 — - — — — — - - - — — -
KAEE KE | Lux - — — — — — — — — - — -
FH Lux - - — — - — — — — — - -
0.5m w | = | - — T - T - -1 =1T=T=T=7T-=-1-=
1.0m w | - | - - [T -1T-1-1T=-1T=1=-1-="7T-+-
2.0m w | - [ - [T =T =1 =T-1T-=-1T-+=T1T=71T-13+-=
3.0m w | — [ - T - =-T=T-=-T=T-T=T-1T-=-7T3=
4. 0m Lux — - - — — — - — — — - —
5.0m w | — [ — [ = [ =T=-=T-T-T-1T=T1T-1-"13=
6.0m w | — [ - =T -—1T=—1T=-T-1T-=-T="7T-=71+=
JEH Lux — — — — - - - — — — - -
EREEEORP | o | — | — | — | — [ = | — [ = [ =T =] -1 =1 =
e ¥ DOMEDOFHIz LB WEKE




) KEER (F0 1)

R4 SLBHH KER% FAEN e B AR AR L 34E (Q00L4E)
H B ! Bz | 179 | a/6 | 8/6 | 4/17) 6/8 | /6 | 1/3 | 8/1 | 9/19 | 10/2 | 11/6 | 12/4 |BKIE| B/ ME| FI1E
X & — & 82 [ ) & 2 2 8 | 8 % & il
KL e | 7:56 | 7:43 | 11:37] 6:34 | 6:40 | 13:45] 7:46 | 7:38 | 7:30 | 7:46 | 8:09 | 10:00
2KE m 2,14 [ 2,24 2.40 ) 1.73 [ 1.80 ] 2.31 | 1.80 | 1.85 | 2. 11 | 2,10 | 2.17 ] 2.28
FK K m 0.50 ] 0.60 | 0.50 ) 0.50 | 0.60 | 0.50 | 0.50] 0.50 | 0.50 | 0.50 | 0.50 | 0,50
& H T 2.7 2.4 | 11,2 16,0 | 18.6 | 26.9] 26.3| 23.9( 25.2 ] 21.8 | 16.3 [ 10.0
K H T 4.2 3.8 8.6 | 16,9 16.6 | 24.01{ 26,1 | 26,2 | 26.3 | 20.9 | 156.8 [ 10.6 | 26.1 | 3.8 | 16.4
A (FE) — | R | M | RINE | GRaR | GEaE | RREeH| SRNE | RINGE | BBAE | MLE | RREE | R
2 & k) - R | mE | ER | R RA | &R &R (NA R &R | ER | &R
R em | 25,0 [ 18.5] 25.0 24,1 25,0 12.4 | 19.0] 19.6] 26,5 27.1 | 22.0 23.7
EHE m 0.63 1 0.35 | 0.62]0.41]0.32(0.26]0.860.3410.43! 0.5210.39 0,31 0.631{ 0.26 1| 0.40
K& - | 17 16 17 18 16 17 18 17 17 (7 17 16
pH .= 8,00 7.72| 815|814 8.30] 803 7.79|8.02] 829807 | 7.71 | 7.8 (830! 7.71 | 8,01
DO wg/l [12.69]12.59]12.65/10.50( 9.88 | 9.66 | 7.93 | 6.91 | 9.42 | 8.45 | 9.44] 9.09 | 12,69 6.91 | 9.92
BOD wg/l | 3.8413.4714.32 (3,82 3.8({3,03]2.30]2.25]3.06]2¢60]| 2566/ 2.72(4.32! 223,15
ATU-BOD |m/i | — | - T - [ =] =T -1T-1T-"T-1-1T-T1T-=-1=T1T-1-
CODGm) | mg/l |9.091876]9.02]895]9.67]843]772]803[8236]7.569]820[803]9.67]7569]849
p.copM|m/t | - | - | - [ -] - =-[~T~1T -] -1T—=-1T-=1-1-"1"1"7+-
'P-CODGM | me/l } — | — } = | — ) - )~ )~ =)= == =)=
COD{Cr) wg/1 — — — - — - — — — — - — — — —
p.-cop@n) [me/1 | — | ~ [ =] = [ -] - -] —-1=-=]-1=-01T=171=
SS mg/l | 12.0] 22.2 | 17.0 | 17.0 | 20.2 | 38.0 | 33.2 | 28.8 | 23.6 | 17.0 | 26.7| 21.6 | 38.0 | 12.0 | 23.0
KIBEIRE  wewoom] 2,384 0 3, 384( | 4.9042 [ 4,0840| 1. 3043 | 2. 3842 | 1. 3B+2 | 7.9842 3.3843 | 4. OB+1 | 1, TB42 | 2,3E41 ]| 3, 3B+3| 4. OB40| 5. 6E+2
TN mg/! | 1.04]1.22] 1,09 0,98 0.96 | 0.86 | 0.86 | 0.95| 0.80 | 0.86 | 0.90 | 0.82 | 1.22 | 0.80 | 0.95
TP "mg/1 [ 0.074]0.093(0,082(0.085]|0.082|0.103]0.097[0.110]0.093]0.076]0.096|0.078]0.110(0.074]0.089
NH4—N mg/1 | 0.05) 0.07[0.03]0.02]0.02[0.03]0.04/[0.10]0.00]0.08[0.07]0.06]0.10( 0.00] 0.05
NO,—N mg/1 10.018]0.011]0,010(0,001]0.000)0.003]0.010]0.014]0.001]0.026]0.008)0.007]0.026)0.000]0.009
NO;—N mg/1 | 0.17]0.33]0.187] 0.00] 0.01 ] 0.00 | 0.01 [ 0.13 | 0.00] 0.02 | 0.08 | 0.04] 0.33 | 0.00 | 0.08
'IN mg/1 ] 0.24 ] 0.41]0,22]0.02]0.03]0.03]0.06| 0.24 | 0.00] 0.13 | 0.16 [ 0.11] 0.41| 0.00 | 0,14
ON mg/1 | 0.86 ] 0.84 | 0.90| 1.02 | 0.95 | 0,86 | 0.8310.71]0.83[0.74[0.78| 0.76| 1.02 | 0.71 | 0.84
D+ ON ng/} — — — — — - — — — — - — — - -
'P.ON ng/l | — — — - - — - - — - - - - - -
‘DTN ng/1 = — — — = — — — - — i R - - =
TN mg/l [ 110 ] 1.26 ] 1,12 ] 1.04] 0,98 ] 0.89 | 0.89 | 0.95( 0.83 | 0.87( 0.94 | 0.86.| 1.25 | 0.83 | 0.98
DPO4-P pg/1 10,003 0.006]0.006|0.003]0.002|0,000]0.007)0.030]0.006]0.009]0.003]|0.004]0.030|0.000].0,007
D:-TP /1| - | - -] -1 -1-1-1T=-1T-7T=-1=1=-1=-7=1=
‘P.TP ng/1 — — — — — — — — — - — — — = —
1C mg/]l | 13.5 ] 10.7 ] 13.6] 13,2 16,0 | 14.0 [ 11.9 [ 13.9| 10.0[ 10.0] 13.9| 16.5 | 16.5 | 10.0 | 13.0
TOC mg/1 8.4 7.2 8.0 8.0 8.9 1.1 6.6 .1 1.1 6.2 8.0 7.7 8.9 6.2 1.6
e mg/l | 21,9 17,9 21,6 | 21,2 [ 23.9 | 2.0 | 18.6 | 21.6 | 17.1 | 16.2 | 21.9 | 24.2 | 24.2 | 16.2 [ 20.6
D.0C g/l — | - [ - T -1 -T-T-17T-=-T-1-=-1T-7T-1t-1T=1T>=
‘P.OC ng/1 — - - — — — — - - - - — - — =
D'Fe wg/l| — | - -] -] ~-]=-]-=-1=-1-1-]=71T=-1=-1=1-=
D:Mn /1] — | - | -] -] -1T-1T=-1T=-1T-1=-1=-7T-1-7=1=
Fe mg/| — - — - — — - — — — — — - ~ —
Mn mg/ — - - — — — — — - - — — — - -
w B iy 16.6 | 30,3} 18.4 | 26.0 | 27.8 | 40.8 | 33.2 | 36.4 | 28.1 | 22.4 | 24,6 | 25.8 | 40.8 | 15.6 | 27.4
AR (0C) | ws/em| 592 | 467 445 502 595 | 458 449 612 428 431 408 426 612 408 484
Ca i I I I I e I I I I I I I I e
Mg ng/| — — — — - — - - — - — - — — ]
pH4 87NV HUEE| mg/l | 86.3190.2 1 78.1] 79.9]86.0] 72.2 | 74.2]83.8]81.6[78.0]76.3] 72.0]90.2]72.0]79.9
p HI. 0@k B mg/l | 2.52 | 3.12 | 3.42 1 3.02 | 3.62 | 4.12 | 3.52( 6.53 | 3.62 | 4.62 | 4.82 | 4.10] 6.563 ; 2.62 | 3.90
pHYOZHMUE| we/l | — | = | — | = | ~ | - | =] =] =] =1 =] - - — -
S0,%” ng/1 — — — — — — — — — - — — — — -
Cl~ mg/l |104.2] 73.3 | 64.8 | 87.7 | 108.8| 74.7 | 72.9 | 122.2]70.9 | 71.9 ] 66.2 | 70.3]122.2| 64.8 | 82.2
Na ng/1 — — — - | = - = - | - — — — - - —
K ng/1 — - — — — — — — = — — — — - —
T » Si0, mg/1 — — — — — - — — — — — — — — —
s Uh ng/| — - — = - — — - — — - — ~ — -
Chl-a g/l 47,3 | 46.7 | 64,3 | 46.1 | 35.3 | 42.0 | 39,3 | 48.4 | 60.1 | 46.5 | 50.5 | 47.2 ] 64.3 | 35.3 | 47.8
Chi-b neg/ 1] 0.4 | 0.7 1.0 1.0 0.2 0.1 0.7 .1 0.3 0.1 0.9 2.3 2.3 0,1 0.7
Chl-c ne/ 1] 4.8 4.9 6.2 [.6.0 5.1 2.6 1.4 ] 3.0 | 7.1 4.0 8.1 9.5 9.6 1.4 b.1
Jxd74F> e/ 1] 10,4 14.4] 10.3 1 9.0 7.1 1126 8.2 8.2 | 12,6 7.3 | 12.2 | 17.8 17.8 | 7.1 10. 8
B A L REEE | ng/l — — — — — — —- — — — — —~ — — —
fii# *HIOTHEIIRADFFEIT & DR 7. 3, P~-ON=(ON) —(D-ON) 8. P-TP=(TP)—(D-TP)
. P-COD=(COD)—(D-COD) 4.D-TN=(1N)+(D-ON) 7.TC=(1C)+(TOC)
2. IN=(NH4-N) + (NO2-N) + (NO3-N) 5. TN=(IN)+(ON) 8. P-OC=(T0OC)~(D-0C)




KEHER (£ED2)

BIER 4 Sh Ry KR% FARI inf )i % AR SRR 34E (J0014F)
b | B Bar | (/9 | 2/6 | 3/6 | 4/17 6/8 | 6/6 | /3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 |[SK{E| SB/ME| F34E
2—-MIB pg/ Ll — — — — — — — — — - - — — — —
VAAI > pg/l| = — — — - — - - — - - - = — -
M v e (Tivee) | mg/ 1 — — - — — — — — — — — = = — =
JupdbAERRAE | me/l | — - - - - — — — — — — - - - -~
7N iR | me/l | — — — — — — _ _ — _ Z . _ — =
V7 eeidaev R | mg/l — _ _ — _ _ _ _ _ _ _ _ _ — —
7' DERAERRAE | ng/l — — — — - — — — — — — — — — —
TNLE mg/l | 1,04 [ 1.22 ] 1.09]0.98]0.96] 0.8 | 0.8 [0.95]0.80[0.86]0.90]0.82| 1,22 0.8 ] 0.9
TNHE mg/l | 1.09 | .20 | [.12]0.96[0.98]0.80|0.76[0.98]0.78]0.84| 0.8 ] 0. 77| £.21] 0.75 | 0,94
TNTE wg/l [ 0.94 | 117 1,16 0.94 | 1.00| 0.87 | 0.79 | 1.0l | 0.76| 0.85] 0.85 | 0.79| 1.17 | 0,76 | 0.93
TPLE mg/1 [0.074]0.093]0.082]0.085]|0.082|0.103]0.097]|0,110]0.093|0.076|0.096]0.078| 0.11 | 0.074] 0,089
TPHE mg/1 [0.082]0.096]0.084]0.081/0.084]0.100]0.090]0.112]0.097]0.079[0.095[0.074]0.112|0.074( 0,09
TPTE mg/1 [0.075]0.089{0.089]0.088|0.088(0.100]0.091|0.113]0.101]0.084|0.093|0,076(0.113/0.075]0.09¢
COD.LB mg/t [ 9.09 | 876 9,02 895 9.67 843 7.72| 803|836 7.69|8.20]8.03]9.67/ 7.69] 8.49
CODHIE mg/1 | 9.60 [ 8.28] 9,09 | 8.95 | 9.01 | 891 7.68| 7568|846 7.80|8.01]|6.92(9.51|6.92] 8.35
CODTE ng/l | 8.92 | 8.12 | 8.88 | 8.40 | 9.47 | 8.53 | 7.86 | 8.24 | 8.67 | 8.30 | 7.79 | 6.88 | 9.47 | 6.88 | 8,34
KR~ KRE T - — — - - - = - - - - - .
R T — — — — — — — — - - — —
0.5m T — - - — — — — — — - - —
1.0m C — — — — — ~ — - — — - —
2.0m T ~ - — — — — — - — - - —
3. 0m T - — — — — — — — - — — —
4, 0m T - - — — — — - — - - — —
6. 0m T — — - — — -~ — — — - — —
6. 0m T ~ — — - — —- — — - - — -
T T — - — - - — - — — - = —
*DO ARt | mg/l — — — — - — - — — - — —
i /1| — | - I = | - ===~ -T=1-1=
0.5m ng/1 — - — — — — — - — — — —
1. 0m ng/1 — - — — — — — — — — - —
2.0m ng/1 — - - — — - - — — - - —
3.0m ng/1 — — — — - — — - — - - —
4.0m mg/| — — — - - — — - — — — —
5. 0m ng/1 — - — — - — — — — — - -
6. 0m -ng/l — - — = — - - — - — ~ —
JEH /1| — | - | — [ — T - = - T =1 -1T-1-1=
K kB | Lux - - — - - - — - — - — -
i Lux - — — — — — — — - - — —
0.5m Lux — — — — — — — — - — — —
1. 0m Lux - — — — - — — — - — - —
2. 0m Lux - — — — — — — — - — — —
3.0m Lux - - - — — — - - - - — —
4. 0m Lux - = — — - — — — — — - —
5. 0m Lux - — — — - - — — - - — -
6.0m Lux ~ - — — — — — - - -~ — —
JET Lux - — — — — - — — - — - —
EREmEORD | W | — [ — [ — | — [ — | - [ — ] — ] = -1 -1
HES t+ DOWD OFtic L B HllEkiR




~

KEER (20 1)

BRIP4 Y] K% FUARJH SWES FEEFAR)] I ik | 34F (2001 48) _
H B | Ba | 1/9 | 2/6 | 3/6 | 4/t 5/8 | 6/5 | 1/3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 |FAAE| B/ IME| FigE
X & — 8 & % % B 2 8 | &8 & [ & il
KRR B4 | 87| 8:09 [ 1117 6:52 [ 6:57 [ 13:50] 8:05 | 8:07 | 7:49 | 8:07 | 8:24 | 10:09
LK m [ 485|478 479 4.78] 4.60] 4.70 ] 4.75 ]| 4.45] 4.78 | 5.03 | 4.87 | 4.87
kK m | 0.50] 0.650] 0. 0.50 | 0.50 ] 0.60 ] 0.50 | 0.50 ] 0.50 | 0.50 ] 0.50 ] 0.50
& i T 3.5 [ 2.7 [t 16.2] 19.8] 26,0 25.3] 24,0 25.2] 21,5 16.0] 10.5
K OHE C | 4.3 41 ] 86 [16.4]16.6]24.1]26.2]26.8]25.3]21.0]16.2]10.9[26.2] 4.1 | i6:6
4 (fR) — | uommim | BommE | pstmE | AREE | RB0E |KrneE| LS | ABE | ARLS | NSE | ankE | AeE
B K (0 e AR AR AR AR AR TN N AR AR AR
B em | 18,9 | 25.5 | 26.0 | 25.0 | 34,0 | 23,5 | 31,0 | 24.5 | 36.5 | 35.0 | 27.8 | 29. 1
R m | 069050 0565{063]0.43]0.55[0.60]0.400.65/(0.70]0.45]0.42{0.70] 0.40] 0.53
KA — 17 16 17 16 16| 16 16 17 17 16 17 16
pH — [ 809775816811 ]824] 811 7.91[8.65]826]|810]777]7.91]8465]77][38.09
DO neg/l [12. 18] 12. 75| 12. 73] 10.40] 9. 70 [ 9.52 | 8.07 | 8.65 [ 9.84 | 9.14 | 9.43 | 10.84] 12,75 | 8.07 | 10.27
BOD mg/l | 3.46 ) 3.36 | 4.48 [ 3,96 3.97 | 3. 16| 2.02 [ 2.2t [ 2.70 ] 2.46 | 1.99 ] 3.47] 4.48 [ 1.99 | 3.10

ATU-BOD | mg/l | - — —- — — — — — - — — - —
COD (Mn) mg/l [ 8.60 822888 0.0t 071|742 66| 772 765749700 738[977n19]38.01
D-COD@M | ng/l | — — — — — — — — - — — — — — —
'P.COD(M | g/l | — - = - | = - - - -
COD (Cr) ng/l1 | — - — - — — — — - — —
D:CcOD(Cr) | mg/l1 | — -l -1 -1-1-=-1- -

S S mg/l | 1407 [ 13.2 | 16.2 | 14,6 17.8 | 4.7 ] 12.7 ] 18.8 | 14,2 | 10.2 ] 16,2 [ 13.7] 188 | 10.2 | 14.7
KIS B TER Npy/100mt | 1, 3843 | I, IB+2 | 2, 3B+2 | 3,3B+2 | 4, 9E+3 | 1. 3E+3 | 1. 3B+2 | 2. 3B+3| 3. 6B+2 | 1. 3843 | 3.3B+2| 1. TB+3[4, 9B+3| L. IB+2[ 1. 2B+3
TN mg/l | 1,01 | 1.23 ) 1,18 ] 0.97/0.93 ] 0.81]0.75]0.88 | 0.7L | 0.75 | 0.77 [ 0.80 [ 1.23 | 0.71 | 0.90
TP mg/1 [0.078]0.086]0.101]0.0830.079(0.0740.076(0.098]0.081(0.069]0.077]0.070/0.101]0.069]0.081

NH4—N mg/l | 0.05 ] 0.05]0.02]0.01]0.02]002[0.02]008]0.01]0.04]010]0.0L]0.10[0.00]0.04
NO,—N ng/1 10.016]0.013/0.010]0.001|0.002]0.003]0.003{0.004|0.002[0.003[0,008]0.002{0.016]0.001]0.006
NO;—N mg/) | 0.16] 0.35| 0,18 0.00] 0.0t [ 0.00[ 0.01 | 0.02]0.02]0.00] 0,02 000/ 0.3 | 0.00| 0.06
"IN mg/l ] 0.23]0.41]0.21]0.01]003]0.02[0.03]0.10]0.03]0.04|0.13]0.01]0.41]0.0t] 010
ON mg/l | 0.85 ) 0.84 | 1.02]0.97)0.92]0.79]0.76]0.80]0.70]0.71]0.,64)]0.8]1.02]|0.64]0.82
D+ON ng/| — - — — - — — - - = — - —
‘P ON ng/1 — - - - - — - -
‘DTN ng/1 - - - - = - = - - - - - -
‘TN mg/l | 1.08 | 1.25|1.23 ) 0.98 | 0.95] 0.81 | 0.79 ]| 0.90 [ 0.74 | 0.76 [ 0.77 ) 0. 81| 1.26 | 0.74 | 0.92

D+'PO4—P | mg/l |0.003]0.005]0.005]0.004]0.003]0.001]0.004]0.026]0.006[0.005]0.008[0.004]0.026]0.001]0.008
D'TP e/t | — — — — — — — — - — — —
'‘P.TP ng/1

I1C mg/l | 12,2 9.3 | 13.3 | 12.6 | 14.7 | 13.2| 13.3| 16,2 | 8.7 | 11.3] 17.56|18.3 ] 18.3| 8.7 13.3
TOC ng/1 8.3 1.3 1.4 8.9 8.8 6.4 6.8 6.3 6.4 6.5 6.5 6.9 8.9 6.3 1.2
e mg/l | 20.5 | 16.6 | 20.7( 2.4 23.6] 19.6] 20.1 ] 2.6 | 16.1 ] 17.8[ 24.0] 25.2.] 26.2 | 15.1 | 20.5
D:0C mg/l | — [ — T = — - -1 -T-T-=-T-1T-T=1T+=
‘P.OC me/l | — — — — i - - — — — — — ~ -
D:'Fe g/t | - T - | -1 -1 -1T-1T=-1T=-7T-=-T=-T-T-1T-1T-1T=
D:Mn e/l | — [ - = - -T=1T-1T-1T=-1t=1T-T=1T=T=1-=
Fe mg/1 — - — — — — — — — — — — — — —
Mn ng/1 — — — — — — — — — — — — — — —
W E B 17.2 | 18,0 18.2 | 22.6 | 26.4 | 20.8 | 16.8 | 26.9 | 18.1 | 14.4 ] 20.2 | 20.1] 25.9 | 14.4 ]| 19.8
HER(0C) | us/cm| 681 473 453 477 567 443 446 582 440 443 452 466 681 440 494
Ca mg/1 — — — — — — — —' — — — — — — —
Mg ng/! ) k

pH4. 87U ng/l | 84.1].90.2 ] 81.4(82.2)87.0[ 759785 |90.483.18.1|7.4]74.0]90.4] 74,0 82.0
p HY. 0% Bl weg/t | 2.11]4.62]2.91)3.12]83.22(3.82)4.12]|432] 2.91(4.02]492(3.50] 492 211 | 3.63

pHI.07)VHUEE| mg/l | — — — — — _ — — — — _ — _ _

5042~ ng/l | — - - | = - ~ — - ~ - — — — - —
cl- wg/1 | 134.5] 74.2 | 69.3 | 80.8 | [03.3] 67.4 | 74.0 | [(4.4] 72.2 | 72.9 | 75.9 | 80.5 | [34.56] 67.4 | 86.0
Na e/t | - | — - =1 =-—1T=1T=-—T=-T-1T-"[=1=-1T-T=-1T-
K Y I e e T I I ) I I e e e I e

Tost0, |me/l| = | = | = | = = =1 =[] -1 -1 ~-1-—1~=1-=1+<=
ke Uh ng/1

5.8 46.4

[
=0
=)
P

37.3

-]
Sl
=

Chl-a peg/1]45.0] 48.4169.3] 49.6 ] 38.7 | 33.7 1] 43.9] 63.7 69.3 | 30.7
Chl-b ve/tfosJos] 2201 ]o7}fo2] o]l oed] 0.8 06 ] 18] 2.9 29 ] 0.1 1.0
Chl-c ue/L| 56 7.9 89] 66| 39| 1.4 042486 39]66[09.7]977] 04] 5.5
Jxd 7 4Fy |ng/1] 103 (L3 1L 11.9] 8.1 | 12.8] 6.8 6.6 [11.0] 8.6 ] 8.0 [ 22.8]22.8] 6.6 | 10.8
B Rmmt | ne/l [ -] — — — — — — — — — — — - | = —
fii#% tHIOEBRAROIEI & o R, 3. P-ON=(ON) —(D-ON) 8. P-TP=(TP) —(D-T P)

’ 1. P-COD=(COD)—(D-COD) 4. D-TN=(1IN)+(D-ON) . TC=(1C)+(TOC)
2. I N=(NH4-N) + (NO2-N) -+ (NO3-N) 5. TN=(IN)+(ON) 8. P-OC=(TOC)—(D~0C)




KEFHR (£D2)

R A IS KRt FIARI e R AR 1 34E (200148)
IH B | BA[ /9] 2/6 | 3/6 | 4/17 ] 6/8 | 6/5 | /3 | 8/7 | 9/19 | 1072 | 11/6 | 12/4 |Beofi| oMl F8{E

2-MIB |pg/l| — | - | - | = [ - -1 =1~=

PARZY Jue/t| — | — | = | = [ - [ = | ==

VWana e e | mg/l | — — — — — — — —

I e T e = N e e — =

7'y sy | mg/l - — - - — — — - - - -

¥ 7 oA ER | ng/l — — — — - - — _ - _ _

7 UERMAERREE | me/l | — - — — - - - = = - — —

TN.EE wg/l | 1.0t

1.2
TNHE mg/1 | 1.06{ 1.2
TNTE mg/l | L2l | 1.3

TP.LE mg/L | 0.078/0.086]0,101|0.083|0.079]0.074|0.076|0,098)0.081]0.089|0.077]|0.070|0.101]0.089 | 0.081

TPHE wg/1 |0.074]0,087[0.092]0.085[0,080|0.074]0.074]0.098]0.083]0,066]0.0750.0640.098]0.064]0.079

TPFHE mg/i |0.098/0,090|0.088|0.085|0.091]0.086[0.072|0.100]0.084]0.072|0.074] 0,064 0.100]0.064 | 0.084

COD.:E mg/l | 8.60 | 8.22 | 8.88 ] 9.01 | 9.71 | 7.42 | 7.66 | 7.7
CODPE mg/l | 8.80 | 8.12 | 8,98 | 879 | 9.11 | 7.44 | 7.46 | 9.15 | 7.86 | 7.11 | 7.40 | 7.04 | 9. 15 | 7.04
CODTH mg/l | 884|820 8,66 8.65|9.69| 7.8t | 716911786822 740|720} 9.59] 715
KR KE T - - — — - — - - - - - —
Edid] T - - - - = - - - — — — -
0.5m o - — - - — = - - — - — -
1.0m € - - — - = = - - - — — -
2.0m T - - = = - - - - - - - —
3. 0m T - - - — - - - - - - - -
4. 0m T - - - - - - - - - - - -
5.0m T - - = - - - - — - — - -
6.0m T ~ — - — — - - - - — - —
Em T - - -~ = - - - - - - - —
#DO  JKE | meg/l - - - - - - - - - - - —
B g/l | = | = | = [ = | = | = =T =-1T=1T-1=7T-=
0.5m ng/1 - - - - - — — — - - - -
L. 0m mg/l | — — - — - — — — - - - —
2.0m ng/1 — - — - - — - — - - - -
3. 0m mg/1 - - - -~ - = — - - - - -
4. 0m ng/1 - — — - = — — - - — — -
b.0m mg/1 - — — — - — - — - - - ~
6.0m | mg/l - - — - | = - - - — — — -
T e/l | - | - [ = [ - [ - [ - = [ =—T=1T=-1T-=-71+=
KRR KE| Lx | — | = | — | — | = | — | = | = [ = = —T-
] Lux = - - = - - - - - - [ - —
0,bm Lux - = - - - — — - — = — —
1.0m Lux - - - - - — - - - - — -
2.0m | Lux - — = — - = = — — — - —
3. 0m Lux - — - — — - — - - - = —
4. 0m Lux — - - -~ - — - - - - - =
5.0m Lux - - - - - - - - - - - -
6. 0m Lux - - — - - = = - — - - -
Em Lux - = - - — - - - - — - -

ERELEORP | my — — — — J — - - = - — —

e + DOWD OBHz KB WEHR




KEER (B0 1)

B4 i KA%H FAR) [lIES ERFR) ik 1 34E (20014E)
H B | B | 1/9 | 2/6 | 3/6 | 4/11| 6/8 | 6/5 | 1/3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 | Skl B M| Fig4E
K @ - 8 8 I % a8 5 % 2 i & [l [l
okl W4 ] 9:23 ] 9:23 | 10:23] 7:40 | 8:10 | 10:48] 9:08 | 9:30 [ 8:67 [ 9:09 9:20 [ 11:19
LIKGE m [ 4.98]5.12]4.82 [ 4.87]5.20] 4.96| 4.75] .40 6.10 [ 5,10 6.46 | 4.75
TR KR m | 0.50]0.50]050[0.50][050]050]050][050]0.50]0.50]0.50][0.50
& H T 6.4 | 5.0 [ (1.0 17.5] 21.3[29.0] 26.5| 26.0| 29.0] 22.1 | 16,9 11.0 ‘
&’ B c 6.0 [ 4.6 [ 81 [ 16.1 | 16.9] 24.1 | 26.1 | 26.6| 25.5] 20.9{ 6.0 11.0| 26.1 ] 4.5 | 16.7
S B (BR) — | i | ovi | wainE | pmes | wamenm| sEneE| YeanE | soE | smes | nams| aus | sos
B K (k) g AR AR IR IR AR AR A E A E T A E T A AR 2
ERE em | 36.5 | 33.0( 27,0 23.0 22.5 ] 29.0] 31,0 34.0] 44,0 33.0] 26.0| 28.5
B m [0.94]0.63 | 0.58 | 0.44 | 0.41 | 0.40 | 0.60 ] 0.56] 0.88 | 0,68 0.45 | 0.39| 0.94 | 0.39 | 0.58
K — 17 17 17 18 16 17 17 17 17 17 17 16
pH — [ 814 773 8.19[8.16] 8.46 | 8.19| 7.93 ] 8.77| 8.46 | 8.19[ 7.77] 8. 08| 8.77 | 7.73 | 8. 17
DO mg/l |12.33|12.67[12.68]10.30]10.71] 8.95 | 6,28 | 8.91 [10.31] 9.63 | 10. 11| 11.41]12.58] 6.28 | 10.34
BOD wg/1 | 3.50 [ 3.16 | 4.63 | 4.47 | 4.39 | 3.35 ] 2.81 | 2.41 [ 3.22 2.90] 2.21 | 4.50] 4.53 | 2.21 | 3.45
ATU-BOD | g/l | — -. | = — — — — — — - | - — — — -
COD (n) wg/1 | 8.64 | 8.14 ] 8.32|9.03[11.04] 8,03 7.53]|8.51]8.26]7.8]7.40(8.37]11.04] 7.40] 8.43
D:CODGN | ng/l | — - — - — — - — — - — — - — —
'‘P.CODM | mg/l | — — — - — — - — — - - — - — -
COD(Cr) mg/l | — — — — — — — — — — - — — — -
D-copn) [m/t | — | -~ T =T T —-—T-T-T—-—1T-1T-T=7T-=-1T-=-"1+-71+-
S S wg/l | 7.0 [10.5 [ 137157 L6 | 140 1|12 0] 6.7t 7| 16.2]10.5] 2.6 ] 7.0 | 13.6
j(}}%’gﬂi#%( NeN/toom)| 4. 9842 | 1. [B4+2 | 2. 3B+3 | 7.9E+( | 3. 3841 [ 2, 3B+2 | 2.3B+2 | 2. 3B+2| 2. 2B+3| 7.98+3 | 2. 2B43 | 7. 9B+2| 7. 98+3( 3. 3E+1| 1. 4E+3
TN mg/1 [ 113 ] 1.3 ] 1.26 | 1.04] .06 0.83 [ 0.78] 0.87]0.81]0.83[0.79[0.83] 1.33] 0.78 [ 0.96
TP mg/1 [0.076]0.090(0.090]0.0880.107]0.079]0.076]0.102]0,087]0.074]0.081]0.075] 0. 107 0.074] 0. 085
NH,—N we/1 | 0.06 [ 0.04]0.02[0.02[0.00]0.00]0.00]0.04[0,00][0.04[0.180]0.02]0.11]0.00] 0.03
NO,—N mg/1 |0.021[0.014]0.012]0.003]0.002]0.003]0.002]0.001]0.002[0.003[0.007]0.007]0.021[0.00170.006
NO;—N mg/1 | 0.24 [ 0.39]0.26[0.00| 0.00]0.00]0.01]0.00]0.00/[0.00[0.02]0.02]0.39]0.00(0.08
TN mg/1 | 0,32 [ 0.44]0.28]0.02[0.02(0.01]0.00]0.04[000[0.04f0.14]0.06]0.44] 0.00] 0.1}
ON mg/! | 0.86|0.89]0.99 ] 1.05[1.06]0.83]0.77]0.84]0.82[0.79]0.67]0.78] 1.06] 0.67] 0.86
D:ON wg/l | — — — — — - — — — — — — — — —
‘P ON g/l | — - - ~ - - - — - — — — - - —
'D: TN ng/l | — — — - — = - — — - = — - - -
‘TN mg/1 | 118 ] 1,83 1.27 ] L.07 [ 1.07] 0.84] 0.78 0.88 [ 0.82]0.83]0.81[0.83] 1.33] 0.78 | 0.98
D:PO4-—P | mg/l |0.003]0.006]0,005[0.003|0.002]0.000]0.003]0.020]0.011]0.005]0.009]0.004]0.020] 0.000] 0.008
D:TP ng/l | — — — - - - — — - — — - —~ - —
‘pL.TP g/t | — — — — — — — — — — - | - - | .-
1C mg/l | 12,3 9.3 | 11.0] 12.6 13.9 [ 13,2 146 [ 11.3] 10.8] 13.9[ 17.2 9.3 | 12.7
TOC we/t | 8.1 [ 7.2] 80/ 8.8 7.4 | 66| .7 1.4 65| 6.6 7.0 6.5 | 1.7
‘T C ng/l | 20.4 | 16.5 [ 19.0] 21.4 21,3 [ 19.7 [ 22.3 | 18. 7| 17.3] 20.4 | 24.2 16.5 | 20,4
D-0C wg/l | — — — — — — — — — — — —
'‘P.OC ng/l | — — - — — — — — — - — — — - —
D-Fe ng/l | — - = - - - - - = - - - - - -
D+*Mn mg/1 - — — — = — — — — — — — — — —
Fe mg/1 - — — — — - — — - - — — — - —
Mn mg/l — — — — — — — — — — — — — - —
W E B |15 | 148 ] 17.7]24.928.9]21.3]18.2]18.920.8| 16.8(20.3] 16.0/ 28.9 | 11.5 | 19.1
BERQOC) | ps/em] 1610 | 490 | 460 | 554 | 685 | 482 | 521 | 1270 | 500 | 542 | 457 | 630 | 1610 | 457 | 675
Ca g/l | — — — — — — — — — - — — — - —
Mg mg/l — — — — — _ - — — — -
pHA. 87NV HVE| me/1 [ 89.2]91.2]82.4] 81 89.3 1 78.0) 78.0| 94.7 | 86.6 | 84. 1] 76.9] 80.1]94.7 76.9 | 84.3
p HY. 07 B| mg/l | 2.01 [ 5.23] 3.62 3.42 ] 3,02 [ 4.0 ] 2.71 ] 2.51 | 4.12] 4.22 90 | 5.23 | 2,01 | 3.47
pHY OV UK me/l | — ~ — — — — — — — — —
S0,42%” mg/l | — — - — — — — - - — — — - — —
c1- mg/l |373.2] 80.6 | 70.0 [101.5[145.2] 77.1 | 93.3 |318.0] 88,8 [102.2] 71.9 | 129.8]373.2][ 70.0 [ 137. 6
Na mg/l — — —_ — — — — — _ — -~ — _ — —
K mg/l hnd - — —_ —_ - - — - - — - - - —
T + Si0, mg/l | — — — — — — — — — — — — — — -
e UAh wg/l | — - - - - — - — - — - — — - -
Chl-a pe/ 1| 34.7)49.6 | 70.1 | 78,6 74.5 | 38.7]38.2]42.71 7.9 66,5 ]37.6(73.6] 77.9] 34.756.6
Chl-b pe/11 0.6 105 [ 01033 Lofol|oolot]or]23]e] 23|01 08
Chl-¢ pe/ll 40 ] 2.9 71 88 |12.2] 1.4 31 ] 2s5]10.0] 53] .8|12.6[12.5] 1.4 6.4
TJxA74F> |peg/L| 0L [ 146 1421652206102 11.8] 6.6 [ 13.8] 255 13.0] 27.8] 27.8[ 6.6 | 15.1
B A pmis | e/l | — — — — — — — — — — — ~ — — —
% SEIOIRE AR ORI & DRk, ON=(ON)~(D-ON) ~TP=(TP)~(D-TP)

I.P-COD=(COD)—(D-COD) .
2. IN=(NH4-N) +(NO2-N) +(NO3-N)

3.P-
4. D~TN=(IN)+(D-ON)
5. T

=(IN)+(ON)

6. P
1. TC=(1C)+(TOC)
8. P-OC=(TOC)—-(D-0C)




KEEFE (2D 2)

B4 A K%% il EXTE FIES # REAR ) Fp% L 34E (20014F)

S B | M| 1/9 | 2/8 | /6 | 4/17] 5/8 | 6/5 | 1/3 | 8/7 | 9/19 | 10/2 | 11/6 | 12/4 | KA\ B/ ME P8
2-MIB |ue/1| — | — [ - | = = | -1 - -1-T1T-T-T1T-—T=1T~=71+=
PFRAI> pe/l| — - - - - - - = - - - - - - -

NI 2 Bl R (TRYRP) | mg/ | — - — — — — — — — - — — — — —

JookbhAERREE | me/l | — - - — - - - - - - - - - - -

7 uey yonpgvaR | me/l — — — — — — — — — — — — - — —

V'Y ot ER | mg/l — — — — — - — — — — — - — — —

7' neibAERREE | me/l ~ — - — — - - - - - - — — ~— —
TNEE mg/1 [ 113 ] 1.33 | 1,26 1.04 | 1,06 0.83]0.78] 0.87 | 0.81|0.83] 0,79 0.83] (.33 ] 0.78 | 0.96
TNHE ng/1 i — = — - — - — — — - — - —
TNTFRE mg/l | 1.2l | 1,27 ] .28 | 1.07 | {10 ] 0,85 0.76| 0.90| 0.78 | 0.77 ] 0.77]0.84] 1.28 | 0.76 | 0,97
TP.EE mg/1 | 0.076(0.090]0.090|0.088(0.1{07{0.079|0.076|0.102(0.087]|0.074|0.081{0.075[0.107| 0,074 0.085
TPHE ng/1 - — — — — — — — — — - — — — —
TPTRE wg/l | 0.071]0.088[0.098[0.099|0.011]0.084]|0.077|0.108[0.083|0.071]0.074(0.079]0.111]0.071]0.087
COD B mg/1 | 8.64 | 8.14 (832 | 9.03 |11.04] 8.03| 7.53| 8.51 | 8.26| 7.88 | 7.40| 8. 37 [11.04] 7.40 [ 8.43
COD®HE mg/1 — - — — — — - — — — — — — — —
CODFE _|mg/l | — | - - - [ =1 - | - | =T -1 -1 T —"1T=1T-1+=

KE  KRE C — - — - - - — - - - - —

£ ol I I N I e e A A I I e

0. bm T |- | - | =TT=-—1T-1T=T=-1T=-T-1T-1=
[.0m c |l -1 -1T-1T-T=-1T-1=-1T-T-1T-1T-=-1T+=
2.0m t | - | - | -1 -~ | -1 -"1=-1T-=-T-=-T-1-1T-=
3.0m C | = - T =1 =-=T-=-1T-1T-1T-T=T-=-1T=1-+=

4. 0m T | - | - -1 -1 -~ -1 =1 -] -1 =1=71T-=
5.0m T |l - | -l =1 =-=T-T-T-=-1T=-T=-1T-1T-=-71T=

6. 0m C — — — — — — - — — - - —
ST C — — — — — — — — — — — —
*DO Kb |m/l] — | — - | - - - - - - - =1 -
& wg/l | — — - - - - - - = - - -
0.6m pg/l | — - - - - - - - - - - -
1.0m mg/l | — - - - - — - - - - - -
2.0m mg/t | — - - - - - - - - - - -
3.0m el I e e e e I e e e e
4.0m ng/l | — - - = - - - - - - - -
5..0m ng/! - - — — — — — — — - — —
6.0m g/l | = [ = [ - [ = [ = [ =1 =-=T-1T-=—1T-=T-1+=
T mg/l | = | = | =] =] -] -0 =] -} = —=]=1]=
KepleBe oKk | Lux | — - -] - = - -1 - - -l -1 =
Eyiil] Lux — - - - — — — — — — — —
0.5m Lux — - - — - — - - — - — -
[.0m x | = | - [ = [ =T =T =1T-T=7T-=-T-1T-=1T+-

2, 0m Lux — — — - — - — - — = — —

3. 0m w | — [ - T — T - [ =1T=1T-1T=-1T-T-=-1T=7T+=
1.0m x | — [ - [ = =T =-T=T-=-1T=1T-—"1T-1—=1+-=
5.0m b | — - -1 -T-1T-T-1T=1T-=-1-1T=1+=

6. 0m Lux — - — - — - — - — - — -
CE Lux — — — — - - - — — - — —
BEEMEORP | W | — | — | — | = | =] = [ — [ =T =1 =] =1T-+=

W%

* DOWED O LR




KEER (£01)

BlEsa A ABI K%t FA tHIES BRI Efik | 34 (20014F)
H B | BL ) 1/9 | 2/6 | 3/6 | 4/17 | 5/8 | 6/6 | 1/3 | 8/7 | 9/19 | 1072 | 11/6 | 12/4 | BAAE| B/ ME| TG E
X & - & g I 1 8 & 8 & @ ;] 2 2
K KL Kg4> | 10:66] 11:03]12:36( 9:12 | 6:53 [12:26( 6:65 | 10:47[10:18]10:30]|10:36| 13:09
2K m |3.24]278(368|3.183.23]3.10|3.24(2.96|3.37|3.37(3.38]3.24
HoRoKEE m J0.50]0.50]0.60]0.50] 05005008005/ 0.50([.0.50]0.50][0.50
& H T 8.1 7.0 [ 12.1] 186 | 17.6 | 27.0 | 23.8 | 26.0 | 33.5 | 28.6 16.9 | 11,0
K ‘C 4,6 4,8 9.0 [ 17.6| 17.8| 24.6 | 26.3 | 26.0 | 27.0 | 21.6 | 16.4 | 10.7 ] 27.0 | 4.6 | 17.1
# B (&R — | wnmmi | dom | dkms | ames Dankes|wknea| s [genos QBaE | BR0E | wrns | s
B & Ak - MR | R | R | BR ) ORR | BRI R BR | ER | BR | BR | 88
BHRE cm 23,0 | 24.8 | 16.0| 26.1 | 20,0 |.20.0 | 25.0 [ 19.6 | 30.0 | 31.0 | 27.9 | 21.4
AR m | 0.456[0,63]0.42] 0.45]0.300.27 [ 0.48( 0.30| 0.56 | 0.66{ 0.45| 0.29| 0.65 | 0,27 | 0.43-
X & = 17 16 16 16 17 17 17 18 18 16 17 16
pH - 8.08! 7.66 8,16 7,96 8231 7.88 1 7.70 8.09 | 8.26 | 8 10| 7.75( 7.93] 8.26 1 7.66 | 7.98
DO mg/1 | 12,70 [ 12.41(11.96[10.40]10.34|10.07| 7.68 | 8.08 | 11.28] 9.66 | 9.43 | 10.26] 12. 71| 7.68 | 10.36
BOD ng/! | 4.32 | 3.91 | 4.60 | 4. 00| 3.94 | 2.17( 3.00| 2.67 | 3.95} 3,11 | 2.44 | 3,20.] 4.60 | 2.17 | 3.44
ATU-BOD | mg/l — - — — — — — - | - - - | = - -~ —
COD (Mn) mg/1 | 9.31 | 7.97 ] 9.65 | 8.48 [ 10.44] 8.03 | 7.68 [ 7.76 {10.08| 8.02 | 801 | 7.16 | 10.44| 7.16 | 8.54
D CODGn | mg/l — — — — — — — — — — — — — — —
'‘P-CODGM | mg/t | — | — | ~ ] = | = | = | =)~ =)= ~=|—-]=]-]=
copen [m/t| - - T -T-T-T1T-T-T-1T-T-T-1T-1T-1T-=-1-
p-cop(n [w| - | - -T-T-T-T-T-T-1T-T-T-T1T-1T-=7T+-=
SS mg/l | 20,5 [ 17,2 ] 28.7 ] (4.2 | 24.4 | 23.2 | 23,0 32.8 | 17.4 ] 12.2 | 17,0 21.5( 32.8 | 12.2 | 21.0
KIBEGIEE  [wevooom| 2. 2R42] (L tE42 | 1. 3R42 | 1L 1B+2 | 7.9R41 | 7.98+1 | 1, 3842 [ 2. 2B42( 7. 0B+3 | 1, 3B+3( 7.9B+2 [ 1. TR+2( 7, OL+3| 7. 9B+1] 9. 4E+2
TN me/) | 1,10 1,30 1,24 0.95] 0.98] 0.91]0.88] 0.96| 0.980.81 ] 0.81]0.79| (.30 [ 0.79 | 0.98
TP ng/l |0.090]0.092|0.103[0.089|0.105|0,094(0.099]0.137(0.103|0.081(0.094|0.086]0.137]0.081]0.098
NH,—N mg/l | 0.04 ] 0.04]0.00[0.02]0.02]0.00[0.09]0.08]0.02]0.03/]0.04]0.01[0.09][0.01]20.03
NO,—N mg/1 ]0.002]0,001]0.009!0.002(0.001|0.002|0.004]|0,003[0.017]0.002]0.002|0.002]0.017]0.001}0.006
NO;—N mg/1 | 0,16 ] 0.37]0.23] 0.00] 0,02 0.00 0.00 | 0.00] 0.05[ 0,00 0.00] 0.00] 0.37] 0.00] 0.07
‘IN mg/1 | 0.20] 0.42 1 0.26| 0.02 | 06,04 | 0.00 | 0.10] 0.08 | 0.09 | 0.03 | 0.04 ] 0.01 | 0.42 ] 0.01 | 0.11
ON mg/1 | 0,96 0,90 101 0.95] 0,960 0.8800.7700,00]0.99]0.8070.7900.79] t.0ot]0.77] 0.8
D ON g/t | — [ - -1 -1T-1T-1T-T-1=-1T-1=-"-—1-1T-1-=
‘P.ON ng/1 - - - = - — — — — - - - - - -
‘DTN wg/l — — — - — - — - - — - — — — —
‘TN mg/l | 1,16 1,32 1.26) 0.97 | 1.00| 0.89( 0.87| 0,98 | 1.02 | 0.83 | 0.83| 0.80 | (.32 | 0.80 | 0.99
D:'PO4—P [ mg/l |0.006]0.004|0.006]0.004|0,002]0.000|0.005|0,022[0.010[0.002]0.002|0.004] 0,022 0.000] 0,006
D+TP ng/1 — — — — — — — — — — — — — — —.
“‘p.TP ng/] — — — — — — — — — — — — — — -
I1C ng/| 9.9 9,8 [ 13,1 | 13.7 | 12.9|13.6 | 13.6 | 14.6| 7.5 | 10,0 | 15,2 | 14.7] 16,2 | 7.5 12.4
TOC g/l | 86| 69| 84| 7.3 9.3 7763)] 69| 96| 76| 17.9|67] 9.8 63] 7.8
TC mg/1 | 18,5 16.7 | 20,6 20.0 | 22.2 | 20.2 | 19.9 | 20,56 | 17.1 [ 17.6 | 23.1 | 21.4| 23.1 | 16.7 | 20.1
poc mh| - -T1T-1T-1T-1T-1T-1T-T-=-T=-T-T-T-=-1T-1T=
'P.OC ng/l | — — — - — — — — — — — — — — —
D:Fe g/l | - [ = | = | =1 -1T-T=-T-=-1T-1T-1T-T-1-1-=-171-
D:Mn wg/l | — - - - - - — - - - - - — - —
Fe /| - [ -1 =T -T-T-T-1T-T-1T=-1T=-1T-T=7T-1T=
Mn ng/l [ — - - - - - - - - - - - — — -
w i3 28.9 ) 24.4) 32,4 21.6) 32,4 32,0 26.9) 39.8 ) 23,1} 19.3 | 20.4) 26.6] 39.8 ) 19.3 ] 27.3
HEBEHRO0C) |us/co| 4056 | 442 427 397 460 403 429 465 398 406 422 394 460 394 419
Ca mg/l — - — — — - - — - — — - — — —
Mg mg/l — — — — - — — - — — — — - —
pH4. 87V VB mg/l | 68.1 | 68.1 [ 70.8] 70.7 [ 78.6( 70.2 | 73.4] 79.2 [ 69.5 | 71.8 | 74.5 | 64.4 | 79.2 | 64.4 | 7.6
pHI. 0ff | me/l | 4.33 | 4.92 ) 3.32 | 2.61 ( 3.32 | 4.12 | 4.62 | 6.03| 4.12 | 3.82 | 4.82 | 4.50| 6.03 | 2,61 | 4.21
pHY. 07 WAV EE| me/l — — — — — — — — — — — — —
S0,°" ng/l | — — - - — - - - - - - - - - -
Cc1l- mg/l | 69.0 | 62.0| 57.0 | 60.7| 77.5 | 57.6 | 69.3 | 76.6 | 52.6 | 66.6 | 60.9 | 52.4 | 77.6 | 52.4 | 61.0
Na mg/l | — - - - - - - - - - - - - — —
K e/l | -1 -1 -1 -1T-1T-1T-=-T-1-1-1~-T=-1T1-=-1T=71-=
T + $i0, /L = [ = [T - = 7T =1 =1 =-1T=1"=TT"T=1"—=7="7°=
e uh ng/ | - — — — — — — | = — — — — — — —
Chl-a e/ 1| 52.9 | 49.6 | 60.9 3.9 66,3 | 43.7] 43.3 | 60.9] 93,1 77.9| 63.6 | 48.1] 93.1 | 43.3 | 57.9
Chl-b neg/ 1] 0.6 0.3 0.8 0.1 0.8 0.8 0.6 0.8 4.5 0.2 2.1 2.0 4.b 0.1 1.1
Chl-¢ ueg/1| 5.3 6.3 | 5.0 48] 65| 2.7] 3.7 50 11.0] 9.0 |10 8.4 [ 11.O| 2.7 | 6.5
Z2axA74F> |pg/ ] 13.4 ] 13,2 16.0] 8.8 | 12.2| 9.0 7.6 | 16,1 | 24.7 | 11,6 18.6 | 24.7] 1.6 14. 1
B A v AmEEA | we/l — —. — — C— — — — — — — — — —
i IOE KRR ORI L D Redjz, 3. P-ON=(ON) — (D-ON) 6. P~TP=(TP)—(D-TD)
‘ I.P-COD=(COD)—~(D-COD) 4, D-TN=(IN)+(D-ON) L.TC=(IC)+(TOC)
2. I N=(NH4-N) +(NO2-N) + (NO3-N) 5. TN=(IN)+(ON) 8. P-OC=(TOC)—(D-0C)




KEEER (2D 2)

BFE A KB FIE] tRIIES BRI Rk 134F (20014)
H H B | 1/9 2/6 | 3/6 | 4/17 | 6/8 | 6/5 | 1/3 | 8&/7 | 9/19 | 10/2 | 11/6 | 12/1 |BAAHE| &/l | EHE
2-MIB_ Jug/1] - | - [ - =1T-T=-T-1T-T1T-T-T-T-=-"1T-="T1T-T1T-
PHAZY |ue/l| - — - — — — — — - - - - — — —
MRy sl (TINER) | mg/ 1 — — — — — - — — — — — — — — —
JondEREE | me/l — - - - - - — - — - - — - — —
708 oy AR | me/1 — — — — — — — — — — — — — - —
¥ 7 et ERE | g/l — — — — - - — — — — — — — — —
7' vekbAERRRE | e/l — — — - - - - - — - — — | = — —
TNEE mg/l | 1,10 1.30 [ 1.24 | 0.95 [ 0.98 | 0,91 | 0.88 | 0.96 | 0.98 | 0.81 ] 0.8{ | 0.79 [ 1.30 | 0.79 | 0.98
TNHE ng/| — — — - | = — — — — — - — — — —
TNTHE mg/t | 122 | 4.3 1271 1.0 | L.O5] 0.96|0.80 | 1.03 | 0.94 | 0.85]0.74 ] 0.74] 1,31 [ 0.74] 0.99
TP.LE mg/1 [0.090]0.092|0.103|0,089(0,105|0.094|0.099]|0.137|0.103(0.08|0.094|0.086/0.137|0.08!]|0.098
TPHE mg/l | — — - — - — — — — — — — — — —
TPTFE mg/1 [0.109]0.086(0.153|0.104[0.108[0.111]0.113[0.140|0.099(0.103|0.094|0.087(0.153|0.086]|0.109
COD.LE. mg/1 ] 9.31 ] 7.97 | 9.66 | 8.48 [ 10.44] 8.03 58 | 7.76 [ 10.08] 8.02 | 8.01 | 7.16 ] 10.44|.7.16 | 8. 54
CODMHE ng/l | — - — - - - - - - - -1 = - -1 -
CODFE |wy/t| — | - | - -1 -T-T-T1T-T-T-1T-1T-1T-—T-7T+=
K KE T — — — — — — — - — — — —
R . T — — - - - - - - - - — -
0.5m T | -1 -1T-1T=-=1T-=-1T-1-1-1-"1-1-=-71T=-=
l.0m T — — — — — - — — — — — —
2.0m c | -1 -T1T-1T-1T-1T-T=-1T=-T=-T~1-1-=
3.0m tc | - -1T=-1T-1-1T-1T-1T-T=1T-=-1T-71+=
4,0m c |l -1 -1T-1T-1T-1T-1T-1T-1T=-1-1T-=71+-=
5.0m c |l -1 -1-T-7T-T-1T-1T-1T-1-T=71T=
5. 0m T — — — — — — - - — — — —
I c |l -[=1T-T-T=-7T=-1T-1T-=-1T=7T-=T-=-71T=
*DO  KE | mg/l — — — — — — — — — — — —
HE ng/1 - - = - — - - - - = - -
0.5m mg/l | — - - - - = — - — - - -
L.0m m/l | - - -1 -1T-1T=-T-T-T-1T-=-1T-71T-=
2.0m g/l | - [ - -—T -1 -1T-1T-T-=-T-1T-=-1T-T=
3.0m e/l | - [ - ~—T -T-1T-1T-1T-1T-1-1=1=
4.0m mg/| — — - - - — — — — — — —
5 0m ng/1 - — - - — — - - — - - —
6. 0m w/l | = [ — 1T =1 -1 =-1-1T=-1T-1T-T-1T-1T=
JEE ng/1 — — — — — — — - — — - —
AKEHEE KE | Lux — — — — — — — — — — — —
FH i | — [ - T -1 -[T=1T-=-1T-T=T"=7T=7T-71T=
0.6m wx | - [ - T -T-1T-=-1T-=-1T-=-T-1T-=-1-71-"T=
1.0m w | - [ -1 -1 -1=-1T=-1T-1T-=-1-1T-=-1T-1T+=
2.0m x| - [ - T -1 -T-1T-T-T-T-=-T-T-1T=
3.0m wx | — [ - =T -T-1T-1T-T-1T=-T-=-T-1T-=
4.0m wx | -1 =T -1 -1T-T-=-=T-1T=-1T=-1T=-1T-=-1-=
5.0m Lux — — - - — — - - - - - —
6. 0m x | — [ - [ T -—"T—-T-T-T-T-=-T-=-1T-T1T+-
JEETH Lux — — — — — — - — — — — —
EREEORP | o | — | — | — [ — | — | — [~ — [ — T - T -1~
e ¥ DOWD OgHlc X A WEHE




KRR (ZD1-1)

BpiE R KRE TR ]l B 51 34E (200148)
H B By | 179 | 1/23 | 1/30) 2/6 | 2/13 | 2720 | 3/6 | 3/13 | 3/21 | 4/10 | 4/17 | 4/24 | 6/8 | 5/15 | 5/22
X B — [ 2 | & a2 I It It ) I T &% 8 ¥ 28
KA s> | 8:42 | 8:15 | -8:20 | 8:45 | 8:49 | 8:02 [ 9:59 | 7:46 | 8:20 | 8:15 [ 8:40 [ 8:58 [ 7:26 | 9:30 | 7:13
2K m 3,95 13.98(3.80 ] 3.7 [3.756)3.98(3.853.97(3.60|3.78]3.75]3.823.66/3.72]3.84
KRB m 0,50 | 0.560 ] 0,60 0.60 | 0,60 | 0.60 | 0.50 | 0.60 ] 0.60 ] 0.50 | 0.50 | 0.50 [ 0.50 [ 0.50 | 0,50
& R C 2.9 1.8 | 1.3 | 2.9 0.8 2.4 | 865 2.0 9.1 | 18.0 | 16.6] 16.4 [ 18.0 | 27.5 | 18.8
KM C 3.4 ] 2.9 2.8 3.4 | 3.4/[ 4.1 6.9 | 6.1 ) 10,0 16,7 17.2] 15.8( 17.0[ 20.5] 21.0
2 B () — | e | s | dorts | v | wopiem | e | wains| e wena| e | niee | aee [ e | wems | aems
R & B =y Ak AR CAIETIE IR AR AR AR AR AR AR A AT
B [l 19.8 ) 21,71 27,01 | 28,6 19.0 | 16.6 | 23.3 [ 18.8] 20.1 | 17.6 | 18.7] 18.5 | 18.9] 12,3 | 13.1
B m 0.38[0.31]0.420.47]0.21)0.20]0,49]0.290.37]0.38]0.38[0.420.330.36] 0.40

K = 16 16 18 16 16 16 16 16 16 16 16 16 17 16 16
pH - 7.60 | 7,60 ] 7.62 ] 7.72 ] 760 | 7.40 ] 7.84 762 7.93[8.47]8.96( 7.90]8,02[8.24]8.24

DO ng/l | 13,73 — - [13.30] — — | 12,46 — - — [1L7] - 9,38 - | =
BOD mg/1 | 1,92 2. 19 - — 2,96 - - — 3. 96 - 2,61 — -

COD (Mw mg/l | 6,19 | 6.64 | 6.38 | 6.98 ] 6,69 | 7.00 | 6.37] 7.19 ]| 6.58 | 8.32 | 7.48 | 7.21 | 7.66 | 8.39 | 6.36

D CODM | mg/l | 3.78 | 4.66 | 4.66 | 4,71 [ 5,40 | 4.91 | 4,64 | 4.46 | 4.22 | 4.67 | 4.95 [ 4.67 | 4.47 [ 4.31 [ 3.96
‘P COD(M) | me/l | 2,41 [ 1,98 ] 1.72 ] 2.27 [ 1.19/2.09] 1,73 | 2.73] 2.36 | 3.65 2.53 | 2.64 | 3.19 [ 4.08] 2.40
‘COD (Cr) mg/l |10.91] — — |13.41] — — 181 = - — [16.42] — |16.11] — -
D:-CODEr) | ma/l | 7.01 [ — - [ 81| = — [1o.00] — - — 11,91 — [890 ]| — -
SS mg/l | 13.0f12.6] 9.3 [ 10.6( 16.0|21.3) 10,0 16.0]12,3[ 18, 3] 18,5 19.3 | 24.0 | 25.0 [ 28.0

- — [8.3B+2| -— — |2.8B|. — — 7. 984 1.3BH| — —

KIBETREC[wew/10001] 2, 3842 ‘ ' . .
TN mg/l | .48 1.21 ] 1,32 0.96 [ .77 [ .61 [ 1.12] 1.22 [ .11 [ 1.14]0.87]0.86] 0.85( 0.82 [ 0,61

TP mg/1 |0.082]0,103)0.097(0.073]0.099(0.109/0.075]0.079/0.074]0,102]0,136]0,107[0,105]0.108]0.090
NH,—N mg/l | 0.02]0.03]0.02[0.010.06[002]0,00f0.06]0.03]0.05/[0.01]0.02]0.01]0,01]0.02
NO,—N mg/t ]0,012)0,011(0.010]0,014]0,016)0.009/0,009(0.010(0.010[0.006]0.009]0.001]0.002[0.001]0.002
NO3;—N mg/1 ] 0,80 0.33(0.43]0,36] 0.93|0.660.30( 0.42[0.28 ] 0.050.04]0.01 ] 0,00 0.01[0.02 -

'IN mg/1 | 0.83]0.37) 0,46 | 0.37 | 1,00 ] 0.59 | 0,32 | 0,48 | 0.32 | 0.11 ] 0.06 | 0.03 | 0.01 ] 0.02] 0.04

.ON ng/l ] 0.61)0.86( 0,77 0,62 0.690.85/[0,75f0.64[0.74]0.8]0.79[0,78]0.77]0.80] 0.60
D+ ON mg/l | 0,371 0,46 | 0.41 | 0.40 | 0. 42| 0.44 | 0,39 ] 0.39 ] 0.40 [ 0.41 | 0.89 [ 0.37] 0.34] 0.36 [ 0.34
‘P ON mg/l | 0.24]0.40)0.36]0.22)0.27)0.410.36]0.26] 0.34]0.48] 0,40 | 0.41 | 0.43 [ 0.45 | 0.26
‘DTN mg/l | 1.200.83)0.87[0.77(1.42]1.03/0.71]0.87]0.72(0.62] 0,45 0.40 [ 0.36 [ 0.37 [ 0.38

TN mg/l | 1.44 1,23 1.2370.991 1,69 1.44)1.07 ) 1.12]1.06]1,00]0,85]0.81[0.78]0.82]0.64

D:-PO4—P | mg/l |0.014)0,012(0,019)0.008] 0,017 0.007{0.008]0.004)0.003)0.009|0.006)0.006)0.008|0,019

0.011

D:TP mg/1 ]0.069]0,012[0.026[0.065)0,020(0.013]0,017[0.016{0.013/0.017]0.0156[0.011]0,041]0.015]0.022
‘p.TP mg/1 ]0.013]0.091/0.072)0.008(0.079(0.096/0.058/0.063]0.061[0.085]|0.124]0.096]0.064]0.093]0.068
1C mg/l | 18,6 — = 14,5 — — 14,3 = — — 14.0 -~ 15,3 — —

TOC mg/l | 4.5 | 6.1 6.2 | 6.9 53 | 6.7 ] 6.2 6.2 ] 6.1 7.6 | 6.6 | 6.1 7.0 | 1.4 ] 6.0
‘e mg/1 | 18.1 — — 20.4 - - 19.6 - - = 20. 0 — 22.3 — —
D:0OC mg/t ] 3.4 1 40 3.7 338 ) 36542 421404037 40]37}3.6]37] 35
‘P.OC g/l [ 1.1 .1 ] 1.6 | 2.1 1.8 | &6 1.0 | 2.2 [ 2.1 ] 3.8 2.6/ 2.4 3.4 37| 1.5
D+*Fe mg/l | 0.03 - — 0,13 — — 0.08 — — = 0.01 - 0.06 — —
D:*Mn mg/1 | 0,00 - - (000 — ] — ]0,00] — — - 1000 — j0.00] — -
Fe mg/l | 0.18 — = 0. 41 — — 0.35 — — — 10.36 - 0. 86 - —

Mn mg/l | 0.06| — — [0.04] — — [0.06) — — - (009 — [0,06] — —

w B 152 — - |[12.3] — - [1] - — — (221 — 232 = ~
BEROQC) |us/en| 312 [ — - | 319 ] — — [ 306 | — — — 302 ] — 318 — | —
Ca mg/l | 18.6 | — - | 19:.4] — - [2.1] — — - |19.2] — 1817 — —

Mg mg/1 | 8.63 - = 8.31 — — 8. 77 — — — ].8.41 - 8.84 - —
pH4 87 NVAVEE mg/1 | 69.4] — | .— [82.2] — — | 683.7| — — —~ [ 64.6] — [66.5] — —
p HS. 07 | mg/l | 6,74 - - 7.06 - - 6.78 - — = 6.00 - 1.31 — —
p H. 07 ) v U B mg/t — - - - - - - - - — ~ .= — - -
S042%” mg/l | 34.6 — — 3.7 — — 36.17 - = — 33.1 ] — 34.2 — —
[ mg/l | 31.4 - — 31.2 - — | 42.2 — — — 36.2 — 42,3 — —

Na mg/i | 31.9 — - 31.4 — — 30. 5 - — — 3.1 — 32.0 - —

K mg/l | 6.01 — = 5.19 — — 4.83 - — — 6,46 — b. 37 - —

T + §i0, mg/l | 22.9 | — - 1.6 — - [150) - - — 1142 = 6.8 — —
e Uh mg/l |13.89] — - | 12.13] — - [11.39| — — - 7.6 — 6,61 — —
Chl-a pg/1]37.4|40.7[32.5(33.4]36.7(39.0]485/([70.4]59.4]78.1]67.1143.4] 41.7]43.7] 49.8
Chl-b /1] 5.7 3.0 47 48] 4.9 1,71 631 07| 44 6.6 6.0]6.81 6.5 2.8 | 1.1
Chl-c g/l 9.0 70 83 )] 06| 4.7 33 [10.6] 1.4 6.6 11.9[13.3]17.3]15.4] 3.2113.7
A 74F pe/l) 6.8 8.7 6.2 1222 6.0 8.2 0.9 2.1 83 [ 04 00 0.8 9.3 |61.8]10.9
a1 A RmEeR | g/l 0,00 ] — — (000 — [ —~ Jo01] — — - 1001 ] — Jo0.0t] — —
2—MIB g/ 1]0,008({0,006(0.010(0,016(0.011]0.019([0.014]0.012(0.019(0.075(0.153(0.099]10.012{0.01110.012
VFAI Y £g/1]0.007/0,007]0,017]0.017]0,011{0,013]0.003[0.006(0.016/0.013/0.011]0.011]0.007]0.006]0,005
Wnotyydsngomee) | ng/l | — - - - - - - - - - - - - - -
e sHIOHB ARG X DRk, 3, P-ON=(ON)—(D-ON) 6. P-TP=(TP)—(D-TP)

, 1,P-COD=(COD)—(D-COD) 4. D-TN=(IN)+(D-ON) 7. TC=(1C)+(TOC)
2. I N=(NH4-N) + (NO2-N) 4 (NO3~N) 6. TN={IN)-+(ON) 8, P-OC=(TOC)—(D-0C)




KEEE (201-2)

P HWEM] KRS FEM GIEA Byl SRR 34F (20014E)
® B | B | 6/5 [ 6/12|6/19 | 7/3 | 1/10 | /17| 8/7 | 8/14 ) 8/21 | 9/19 | 9/25 | 10/2 | 10/9 | 10/16] 11/6
El — g | £ 2 2 1. % 2 £ 8 ¥ W & 4 & 2
ok 5> | 9:20 [ 6:20 [ 6:40 [ 7:34 | 6:51 | 6:31 [ 8:14 ] 8:15 | 6:42 | 8:30 [ 7:35 | 8:23 | 7:44 | 7:46 [ 9:20
2K m |[3.60]3.69[3.4563.34]3.52]3.88]3.53]3.14]3.265]3.87]3.46/4.17( 3.66/[4.02]3.90
Hkkg m [0.50]0.50]0.50([0.50]0.50]0.50][0.50]0.50]0.50]0.50] 0.560] 0.60] 0.50 [ 0.50] 0.50
& A’ € | 26.0]19.2] 2.9 26.7]26.0] 29.6] 23.6[ 27.0] 22.2( 26.2] 21.6] 22.8[ 19.4]18.2] 15.0
] € | 240 22.3]22.8]27.0] 27.6] 28.5| 26.56 | 26.8| 26.1 [ 26.4 | 20.2 ] 20.5 [ 19.3] 18.6 | 15.8
9}» () — AR | MR [ PR SR | MR RN | MR | REE | QR | RN | AR | MKEE | R | i | sues
2 & R = k] MR MR [ R [ R B WUE| R | R (ADOR| SR | ER | mR | e | iR
B em [t 9 ue. 1 10.0] 7.6 [ 11,0] 16,6 22.6] 16.4[16.8] 17.6] 20.0] 18.3] 14.8 [ 18.2
B m [06.30]0620]024[011]012]0.25[0.41[0.3]0.34¢]0.28]0.31]0.33]0.42]0.20]0.38
K & — 17 | 16 17 18 18 | 18 | 17 17 1t |17 | 11 [ 17 17 | 18 17
pH — |'8.61 [ 7.93]8.65]7.94[7.74]7.94]825[835]848[8.18[8.13]8.58]8.22(7.36]787
DO mg/1 | 9.56 | — - |89 = — |1t = — Jo19] = 1932 — - [9.%
BOD me/1 | 3.63] — - |2.00] = — L] = — J1.e3] - [ 1e0] — 2.26
COD (Mn) mg/l | 7.68 ] 6.88 502743 res| a2l na]s17]7.13] 709 6.44
D-CODGM) | mg/l | 4.05] 4,69 4.61 [ 4,27 5.43[ 4.63] 4.49] 4.90] 65.43 | 5.08 6.06 | 4.95 | 4.48 4,06
‘P.coDOM | me/Y [ 3.68 ] 219 2.64 | 2.75 | 2.00 [s2. 12| 3.20 [ 2.6 [ 2.83 [ 2. 18| .71 ] 2. 18 | 2.6l 2,38
COD(Cr) mg/1 | 16.01] — — |12 - — 14| — — [14.28] — Tu16.41] — 16,23
D:COD(Cr) | mg/l | 8.50]| - — [9o01]| — — |10.42] — — 9.8 = Tio.22] — — | 8.18
SS mg/l [ 26.5 [ 36.0] 17.0[ 44.56| 42.6 | 31.6] 28.6 ] 16.6] 28.6 | 24.0 | 18.5 [ 22.5 [ 24.0 [ 26.0 [ 18.5
AIBERE up¥/100nt| 3, 3B+1 — — | L3B+2| — — |78} — — |2, 3843 — |2.3B42 — — |1,3B42
TN me/1 | 0.66 [ 0.68] 1.17] 0.86] 1.06[0.93]0.90[0.89]0.87]0.68] 1.13[0.790.76] 1.35] 1.26
TP mg/1 | 0.102]0.114]0,088[0.142]0.186]0.146]0.138]0.138]0.1565[0.116(0.095]0.103]0,099]0.129]0.099
NH,—N mg/l | 0.02[0.00[0.03[0.15[0.27]0.00[0.07[0.06]0.02]0.02]0.,02[0.02]0.01]0.04]0.04
NO,—N wg/1 | 0.002]0.002]0.016[0.021]0.066[0.004]0.003]0.008]0.001[0.002]0,026]0.012]0.002[0.021]0.019
NO3;—N mg/t | 0.00] 0,00 0.08]0.06]0.27]0.3/[06.02]0.03]0.08]0.01]048[0.15][0.07]0.70[0.73
"IN ng/l [0.02{0.01 013 0.23]0.61]035[0.09]0.09]0.10]0.03]0.563[0.18[o0.08[0.76][0.79
ON wg/1 ] 0.63(0.68(1.02]0.62]0.67]0.60]0.77]0.78]0.77]0.61]0.58]0.60]0.69/[0.57][0.51
D:ON mg/1 [ 0.39([0.36[0.38[0.36]0.31]0.30[0.40[0.40]0.30]0.42]0.44]0.41]0.40]0,377]0.39
‘P »ON mg/l [0.24[0.83[0.64]0.26(0.26]0.30(0.37[0.38]0.38]0.19][0.14]0.19]0.20070.20]0.12
‘DTN me/l | 0.41[0.36]0.60[0.69]0.61[035[049][0.49]0.49]0.46[0.97[0.59]0.48] .13 1.18
TN mg/l ] 0.66[0.69]1.16[0.85] 1.18]0.956]0.86]0.87]0.87[0.64 [ 1.11]0.78]0.77] 1.33]1.30
D:'PO4—P [ mg/l [0.008]0.001]0,018[0.023]0.045]0.029]0.021]0.020]0.023]0.014]0,008]0.008]0.014]0.017]0.008
D:TP mg/1 [0.022[0.034[0.016]0.032]0.068]0.048]0.042]0.041]0.061]0.016]0.022]0.017]0.020[0.035]0.019
‘P TP mg/1 ]0.080]0.080[0.072[0.110]0.118]0.098]0.096]0.097]0.094]0.100]0.073]0.086]0.079]0.094]0.080
1C mg/l | 13.8] — — 142l — - [15.0] — — |12 =48] = — |1s.2
TOC we/l | 7.2 (646263685467 68]nol[62]60]66]61]67]56
e mg/t | 20| — — 8] — - a7 = - 224 - [ats] — — 18,8
D-0OC mg/1 ] 3.6 [ 3838 [s3n 4413847 42464442 37]38]38
'p.oC me/l 3726 2426t a9t 28t t6] 24]2.4]1,9] 1.8
D'Fe mg/1 | 003 — — [ois] — — Joo0] — — Jo04] = To08] — — 10.09
D:Mn ng/l ] 0.00] — — lo.00[ — — [0.00] — — o000 = Jo.00] — — J0.00
. Fe me/l | 0.88] — - |20 = — 1] - — o84 = 0.8 — — | 1.06]
Mn ve/l [ 0.06] — — lo.08] — — Jo.05] = — J0o.06 | - [o04] — — 0.04
w o B ]33] — — [3%.3] — — 23,4 — — o3| = [22.6] — — |18.9
HERQ0C) | us/em| 300 | — — [ 304 [ — — | 334 | = — |33 — | 313] = — | 250
Ca mg/l | 20.7] — — | 19.4] — — 20,4 = — 2.9 = [19.4] = — [ 17.3
Mg me/l [ 8.42] — — [8.28] — — |45 = — 899 — [862] — — [ 1.40
pH4. 87 )WhUE| ng/l [ 66.4] — — |59.1] — - a6 = — 615 = J60.2] — — | 46.8
p HY. 08 B mg/l [ 1. 14] — — |1 69 — — (10 — [ =846 [ — |6.44] ~ - |13.91
pHYOZHHUEE| ng/l | — — — — — - - — - - - — - -
S04%° va/t | 33.8] — - 35.2 — — 343 = — |3.0] — [33.8] — — | 22.8
cl- ng/l | 38.3] — - [40.2] - — [ 46.6] = — |86.9] — [41.1] = — ] 20.3
Na mg/l | 28.6 | — - 280 - - | 345 — — [38.1] = 0] = — | 21,5
K = |m1]5.3] - - |6.40] = — [634| = — |6.49] — |6.60| — — l4.7
T + 810, mg/l | 16,3 — — 364 — — [28.9] - — [19.5] — Jat4| — — | 23.5
e Uh we/l | 8.38 [ — — |12.88] — - i3] = — [812] — 115 — — [12.80
Chi-a peg/ L] 61.2]31.8[50.8]23.2[26.1]28.8[65.6]566.9]42.5]56.8[40.9]59.7]54.5]34.8]29.7
Chl-b pe/l]l 24 2.8 06 2.7 6.8 26 3840634 191409 2.6/ 2.0] 1.1
Chl-¢ pe/1] 6.6 | 1.7 ]10.8] 3.9 [17.3] 2.4 [10.2] 7.4 [ o1 166 ] t.2 [14.8]10.65] 7.0 1.2
JxA74 5> |pe/1]23.0]29.5] 1.5 | 9.8 2.5 | 0.5 [22.2] 4.6 [59.9] 8.1 [36.8] 6.4 7.1 | 2.6 | 37.2
A gt | o/l | 0,00 [ — — looo] — — [o.02] — — (o0t = o0t ] — — 1 0.00
2—MIB | pg/1]0.004][0.004]0.002]0.002]0.001]0.001]0.001]0.001]0.002]0,000]0.002[0.005]0.000]0.002] 0,001
DAXIY  |pg/l 0.002 0. 002 0002 0.001 0001 0.001]0.001]0.001]0.001]0.001]0.001 0.002 0. 000 0,001 0.001'
gy e e) | meg/ — - - — - - =
e tm Jﬁa&mico)afﬁubmm, 3. P~-ON=(ON)—(D-ON)} 6.P-TP= (TP) (D- TP)
1,P-COD=(COD)—-(D-COD) 4, D-TN=(1N)+(D-ON) L.TC=(IC)+(TOC)
2. IN=(NH4-N)+{(NO2-N)+{(NO3-N) 5. TN=(1IN)+(ON) 8. P-OC=(TOC)—-(D-0C)




KHEFER (2D1-3)

%

HHIOEHBIRKORFI L D RD .
1,P-COD=(COD)—(D-COD)
2, IN=(NH4-N) +(NO2-N)
+(NO3-N)
.P~-ON=(ON) - (D-ON)
D-TN=(IN)+(D-ON),
.TN=(IN)+(ON)
.P-TP=(TP)~(D-TP)
TC=(1C)+(TOC)
.P-OC=(TOC)-(D-0C)

A P 2 A T R SR 34E (2001 4F)
H A 11/13) 11/20 R/ME | T 0E
X R — i %
K] sy | 8:48] 8:19
2IKIE m | 3.81] 8,67
koK m | 0.50 ] 0,50
&M € [ 14.0]11.4
K R c [ 12.9]11.3 2.8 [ 16.7
4B (BN — | PR | R
O i) — |t mn
B em | 166176
B m [0.32]0.43 0.11 [ 0.34
K1 — 17 17
pH 771 ] 1,13 7.36 [ 7.99
DO - — 6.79 110,12
- BOD - - 1,650 | 2.38
COD () 5.18 | 5.53 5.18 | 6.88
D+ COD (n) 3.78 [ 4.18 3.41 | 4.51
‘P COD (in) 1,40 | 1.37 1.19 ] 2,37
COD(Y - — 10.91 14, 81
D+ COD(Cr) — - 7.00] 9,17
SS 16.5 [ 16.0 . 9.3 | 21.7
KRIBERE . [wvo| - — [4. 9841 1. 38+1]4. 4642
TN 1.45 | 1.56 0.61 ] 1.11
TP 0.100] 0. 1032 0.073[0.110
NH,—N 0.06 | 0.03 0.00 [ 0.04
NO,—N 0.027]0.019 0.001]0.010
NO;—N 1.26 | 1.20 0.00 [ 0.38
YIN 1,34 | 1.26 0.01 [ 0.43
ON 0,60 | 0.55 0.44 [ 0.68
D:ON 0.33 | 0.38 0.30 | 0.38. |
‘P ON 0.2710.17 0.10 | 0.30
‘DTN 1,67 | 1.63 0.35 [ 0.79
TN 1.94 ] 1.80 0.64 | 1.11
D:PO4—P 0.017/0.010 0.0010.010
D' TP 0.031]0.023 0.011]0:030
‘P.TP 0.089]0.079 0.121]0.008] 0.080
1C — — 16.2[13.2] 14.4
TOC 5.0 | 4.8 .6 | 45 ] 6.0
e — — 22.4 | 18.1 ] 20.4
D-0C 3.7] 3.9 47] 3.3 ] 3.9
‘P.OC 1.3 1 0.9 3.8 0.9 [ 2.1
D:-Fe - - 0.16 | 0.01 [ 0.07
D *Mn — - 0.00] 0.00 ] 0,00
Fe — - 2,011 0.18 [ 0.80
Mn — — 0.09 ] 0,04 | 0.086
W - - 6.3 1.3l a2
HER(07T) — — 334 | 260 [ 305
Ca — — 20,9 17,8 | 19.%
Mg - - 8.99 | 4.52] 8,04
pH4. 87 ) h Vi - — 67.6 [ 46.8 | 60.7
p HY. 0 [ - - 3.5 | 8.7
p HY, 07 )V V) - - - —
S0O,%" - — 22.8 | 3.7
Ccl~ - — 20.3 | 38.6
Na — — 19.8 ] 30.2
K — - 4.73 | 5.54
T - 510, — — 14.2 ] 21.2
k& uh — — 6.61 [ 10,89
Chl-a 23,2 | 33.3 47,9 | 36.3 23.2 | 44.4
Chl-b 2.6 | 2.6 4.6 1.9 0.6 | 3.3
Chl-c 6.6 | 6.9 10.7] 9.4 0.1 [ 8.0
Tt T 4T 0.8 | 1,0 6.2 ] 0.8 0.0 [ 11,2
a1 A > RS A — - |o. — 0.00 [ 0.01
2-MIB 0.000]0.001]0, 0.000]0.010
DFAIY 0.001]0. 0010 0.000] 0. 000
MINDAD YA A CTIINER) — — — —

OO =3 S O B G



KAEHK (02-1)

SR BEM | KRA FIlAR)1 )15 B SRR 1 34E (001 48)
H H | Bifr | 1/9 | 1723 | 1/30| 2/6 | 2/13 | 2/20 | 3/6 | 3/13 { 3/21 | 4/10 | 4/17 | 4/24 | 5/8 | 5/16 | 5/22
TN.ERE mg/] | 1.48 | .21 | 1.32]0.96 | 1.77 | 1.51 | [.12 | 1.29 | 1,11 | 1.14 | 0.87 | 0.86 | 0.85 | 0.82 | 0. 61
TNHE mg/) | .49 — — o8| — — 16| — = — 081 — [0.8] — —
TNTFRE we/l [ L4 ]| — — 093 = — LI — — — o8| = 108 | — —
TP.LEE mg/1 |0,082(0,103]0.097]0.073]0.0990.109]0.075[0.079]0.074]0,102|0.136 0.107] 0. 105] 0. 108 0. 030
 TPHE mg/1 [0.086] — — [0.073] — — [o0.065] — — — [o.1t7] = (0. 104 — -
- TPFR&® mg/l [0.087] — — [o.078] — = o011 — — — o116 — o1t — —
COD LR mg/! | 6.19] 6.64 | 6.38 | 6.98 | 6,59 | 7.00 | 6.37 | 7.19 | 6.58 | 8.32 | 7.48 | 7.21 | 7.66 | 8.39 | 6.36
CODWE v/l | 6.36] — — [ 693 — - |69 — | — - 68| — |78 — -
CODTE me/l | 6.46 | — — 6% — — |63 — — — [0 — [3807] — —
KIE  KEl C - — — — = — — — — - | - — — -
Em| C | 83| 2.9 28| 34|34 4T[69] 6.2 1011571707 158] 16.5][ 20,5
0.6m| C |[33] 29[ 2838434 416862101156 17.6[ 15.8] 16.5| 20.5
Lom| € [ &8 2928 34344167 6.2 101166 17.1]16.8] 16.5]20.3
2.0m| C [33] 29| 2.8 3.4 3.3 41| 6.6 | 6.2 | 10.1 | 16.6 | 17.0 | 15.8 | 16.5 | 20.1
3.0m| C 3.3 2.9 2.9 33|33 41| 65| 6.2 10,1 15.5] 16.9| 16,8 16.5 | 20.1
4,0m| © — - — — — - — — — - - — — —
5. 0m| € — — — — — — — — — — — — — — -
6.0m| < - — - — — — — — — — - — — — —
EEl C |33 298 2] 9% 3416561 101|146 16,9158 16,4 20.1] 20.9
*DO__ KE|mg/l | — | — [ — | — [ = | = [ — | — | — ] = [ = = [ | ==
| mg/l | 12,5 10,0 9.6 | 9.8 [ 1.7 11 0.9 109|101 88| 7.7 7.8 7.6 [ 7.3 [ 6.2
0.6m| mg/t | 12.3]10.0] 9.5 [ 9.7 | 11,7 11 10.9]10.8[fo0] 87| 75 | 7.8 ] 7.6 [ 7.2 6.2
1.om| wmeg/1 [ 12.7] 9.9 [ 9.2 ] 9.6 gl 108 10.6] 9.9 8.7 7.6 1.8 7.6 7.2 | 5.9
2.0m| me/1 | 11.8] 9.9 | 8.7 9.6 B0 10.7]10.4) 9.6 | 8.3 | 7.4 7.8 06| 1.2 6.1
3.0m| mg/t [ 1L.4] 9.6 | 8.4 9.4 6106 10.5[10.3] 9.3 | 83| 7.3 7.8 7.5 | 6.9 | 6.1
4.0m| mg/l | — - — — — — — — - — — — —
5. 0m| mg/! — — — — — — - — - — — — —~ — -
6. 0m mg/l —_ — — - _ - - — - - — - - - -
e | me/1 [ 10,0 9.5 | 8.8 0.4 [11.5[10.5[ 9.3 [10.4] 9.2 | 84| 7.4 7.8 | 7.6 | 6.9 | 5.3
JKepHEEE K E] Lux | 63100] 5720 | 17950 9840 | 13650 5720 | 80600 77600 | 6720 | 68000 47300 | 20330 | 13480 110600| 9500
| Lux | 37300] 4390 | 12320 8020 | 9950 | 4370 | 60800| 44000 | 6170 | 46700 37000 | (3250 | 11200 94900 6630
0.6m| Lux | 7910 | 1478 | 3060 | 2870 | 1476 | 294 |[12720| 7540 | 1847 | 7380 | 9830 | 6230 | 1889 | 15270 1354
; 1.,0m| Lux | 2520 | 462" [ 1104 | 1109 | 338 | 48 | 7890 | 2351 | 667 | 1407 | 1880 | 1339 | 549 | 2610 | 274
- 2.0m| Lux | 276 | 61 | 267 | 208 | 25 2 | 1262 | 127 | ol 1 145 | 200 | 34 | 62 12
3.0m| Lux | 33 7 56. | 42 2 0 200 | 15 8 0 11 19 3 3 1
4,0m| Lux — - — — — — — — — —- — — — — —
5, 0m| Lux — - — — — - = - - — — — — — —
6.0m| Lux | — - — - — —- - — — — — — — — —
Eﬁ Lux — — — — _ _ _ — - — — _ - - -
BRI EORP | my | 160 | 198 | 179 | 160 | 163 | 208 | 170 | 130 | 131 | 138 | 46 50 | 165 | (78 | 116
+ DORDOgtic L 5illEfHR

T




KEEER (£D2-2)

Bpi%_|Bmm] KRs FRR W% B ' Sl 34E (200148)
By H BWir | 6/5 | 6/12 | 6719 7/3 | 1710 | 1/17 ) 8/7 | 8/14 | 8/21 9/194 9/26 | 10/2 | 10/9 | 10/16]| 11/6
TN.EE mg/l [ 0.66] 0,68 | 1,17[0.85 ] 1.06]0.93[0.90(0.89]0.87[0.68| 1.13]0.,79]0.76 [ (.35 1,26

TNHE ng/1 | 0.66 0.82 - 1090 ]| — 0,66 0.81 — | 1,30
TNTHE mg/l | 0.66 | — — [ 0.87T] — — |1 0.8 | — — | 0.66] — |0.8] — — | 128
TPLE mg/1 | 0.102(0.114[0.088]0.142]0,114]0.146[0,138|0.138)0.155]0.116[0,095]0.103[0.099|0,129]0.099
TPhm | ne/t [0.097] — | — [0.160] — | — |0.142] — | — [0.124] — [0.102] — | — |0.0%
TPTFE ng/l |0.109] — - |0.177] — — |0.147| — — |0.161[ — |0.116] — — 10.099
CODERE mg/l | .58 | 6.88 | 7.15 | 7.02 | 7.43 | 6,75 [ 7.69 | 7.41 | 8,26 | 7.21 | 6,77 | 7.13 [ 7.09 | 6.22 | 6.44
CODHig ng/l | 7.64 | — — 691 — - (.99 — — (801 — [739] — — 6.9
CODTFRE | mg/l [ 750 — | — [740] — | — |868 — | — | 7.8 — |[7.94] — | — [6.10
A KE C | - - - - = I e I I B =
S| C | #8.1]72.3 | 20.8 | 77.0 | #7.2| 98.4 | 76.5 | 25,9 | 2.1 | 25.6 | 20.2 | 20.5 | 19.4 | 18.6 | 15.8
0.5m| *C ]23.0]22.3|22.8)27.0[27.6] 28.56 | 2.5 | 25,8 . 26,4 (20,2 [ 20.5 | 19.3 5.8
1,0m| C | 23.0]22.3|22,7[27.1]27.6]28.65| 26,6 | 26,6 | 26.2 | 26.3 | 20.2 | 20.4 | 19.3 16.6
2.0m| C |228)|22.3)|227)|27.2|27.8] 28,5 | 26.6 | 25,4 | 26,2 | 2b.2 | 20.2 | 20.4 | 19.0 16. 6
3.0m{ C |22.7]22.2|22.6|27.4|27.8[28.4| 25.56 | 26.3 | 2b.2 [ 26.2 | 20.1 [ 20.4 | 19.0 15. 8
4.0m| T - - - - — = — [20.4] — —
50m| C - - - - - - - - - - - = - - -
6.0m| - - - — - - - - - - - - - — —
| C | 22,5 29,7 | 95,0 | 27.4 | 27,8 | 98.2 | 5.4 | 2.3 | 2.2 | 25.2 | 20.1 | 20.4 | 19.0| (8.4 ] 15.8
¥DO_ KEw/l | — | - [ — | - | - - -] - | - [ - [ - -] -[-1-
#mi|l meg/1 | 6,7 [ 67| 78|63 ] 4960|665 747281877980 70]8.8
0.6m| me/1 | 6.7 | 6.6 | 7.7 | 6.9 | 4.8 | 6.0 | 6.6 | 7.3 | 7.2 | 7.8 | 8.6 | 7.8 | 7.9 | 7.0 | 8.6
.0m| mg/t | 6.7 5.6 76 62| 476964 7871|7683 78] 78] 170]38.56)]
2.0m| mg/) | 6,56 1 56| 7.4 )52 | 47|59 b4 ] 697172 )82] 7679 101385
3.0m| mg/l | 5.9 [ 5,6 | 6.7 [ 65,2 | 5.0 ] 58] 63 ([ 66 71| 1] 76 72] 98[110]384].
dom/ g/t | -~ | = | = [ = [ - [ === —-]=[-J@0] -] ~-1-=
bom[me/t | — | - | - | — [ - | - [ - | = [ = [ -1 -] ~-1-—1-+-
6.0m| mg/] — - - - - - = _ _ _ _ - —_ - -

JEm| me/l | 5.8 [ 6.2 | 47| 6.2 | 46 (5.4 (626471167 (74168 786983

—7KFP!{€§ JK.E| Lux ]| 82100] [0180 | 4840 | 29070 38300( 9740 | 6770 | 36100 3940 | 66700 | 32800 [ 31600 | 71330 20130 [ 14700

| Lux. | 61000] 7720 | 3040 | 14040 21160| 8560 | 3570 | 26340 2647 | 50100 | 28300 ) 25800 | 16440 | 14390 11940

0.5m| Lux [10027] 763 | 668 | 716 | 262 | 9b4 | 028 | 3820 | 294 | 6160 | 4950 | 4640 | 2890 | 698 | 1207

L0m[ Lux | 1712 ], 114 | 111 | 32 6 | 40 70 | 832 | 72 | 1668 | 922 | 1143 | 1106 | 80 | 310

2.0m| Lux 25 2 4 0 1 2 40 3 83 43 64 98 1 11

0
3. 0m| Lux 0 0 0 0 0 0 0 2 0 1 3 4 8 0 0
4.0m| Lux | - — - — - -

6.0m| Lux - - - — — — — — — —

gom| Lux | — | = |~ | - | = = —=1~=

EE‘ Lux — — - — - - | - — — — _ —- ‘ - — hd

ERELEORP [ ¥ 168 | 207 [ 207 | 242 | 228 | 1156 | 244 | 204 [ 236 | 177 | 227 | B3 | 267 | 231 | 180

e ~ ¥ DORD OFfic X B RE




KEGEEK (FD2—-3)

R4 M kAL RN 40 ] o R SRR 1 34E (200148)
o H BAL [ 11713 11720 1274 | 12711 12/18 |k (l| f5y/ Ml | T304 )
TN.EB mg/l | 1.46] 1.66 ] L.45 ] 2,13 [ 1.30] 2,13] 0.61 | 1.10
TNHIE ng/1 — — 1.45 = S— 1.45] 0.66 | 0.94
TNTE mg/| - - | 1,48 — — | 1.48 ] 0.66 | 0.94
TP.LE mg/1 ]0.100]0.102(0,092]0,097]0.135]0.165]0.073 0. 108
TPHE ng/1 - — 0.086| - — ]0.150] 0.065 | 0,105
TPTFE ng/1 — = [0.084] — | — [0.177]0.071(0.115
CODLJE mg/1 | 5.18 | 6.63 | 5,39 | 65.68 | 6.58 | 8.39 | b.18 | 6,90
CODHB ng/1 - — 5,66 - — 8.01 ) 5,65 7.19
CODFE ng/1 - — 5. 80 — — 8.58 [ 5,80 7.21
KiE  AKRE[ T -~ — — —

EH| C .9 9.8 | 8.2 73
0.bm| C 2.9 . 9.8 82| 7.3
.0m| C 2.8 , 9.7 82 | 7.2
2.0m| C 2.1 . 9.71 82| 1.2
3.0m| T 2.1 . 9.71 80| 7.2
4,0m| C — — —
5. 0m| C — - - - —
6.0m| C - — — - —
EHE| T 12711021 9.6 | 8.0 | 7.2
*DO  RKE[mg/l] — — - - |, =
| mg/1 ] 85| 9.2 9,11 9.8 | 9.8
0.5m| mg/l | 8.6 9.2 | 9.1 9.8 | 9.7
1.0m| mg/l | 856 ] 9.2 [ 9.0 9.8 ] 9.8
2.0m| mg/l | 8.5 | 9.2 ] 9.0 9.7 9.5
3.0m| mg/1 | 86 | 9.2 | 9.0 9.1 | 9.6
4.0m| mg/l | — - — - | =
5.0m| mg/l - — — — —
6.0m| mg/l - — — — -
JEmE| mg/1 | 8.3 ] 9.2 9.0 856 ] 9.5
AKEHE KRl Lux [36100(40200] 2149 | 424001 24730
SE| Lux | 32000 23300 1594 | 29060 | 20650
0.6m| Lux | 3330 | 1508 [ 184 | 2116 | 1189
1.0m| Lux 510 | 296 48 519 | 108
2.0m| Lux 10 12 2 17 0
3.0m| Lux 0 0 0 0 0
4, 0m| Lux - - - - -
b. 0 Lux - - - — —
6.0 Lux — - — — —
EE Lux — — — — —
JERE.EORP i\ 203 244 61 166 | 219
e + DODORMNC X B ME R




KHEER (Z01-1)

|, P-COD=(COD)—(D-COD)
2, 1 N={(NH4-N)+ (NO2-N) +(NO3I-N)

4, D-TN=(IN)+(D-ON)

5, TN=(IN)-+{(ON)

1. TC=(I1C)+(TOC)

8. P-OC=(T0OC)—(D-0C)

2 BRI KR FURN] SINE2 PN Jif 1 34E (200148)
H g | B | 1/ | 123 130 28 | 2218 | 2/20 | 3/6 | 3/13 | 3/21 | 4/10 | 4/17 | 4/24 | 6/8 | 5/16 | 5/22
X & — AR AN A AR AR R N N .-
KA W4y | 10:43] 9:37 | 9:04 | 10:48] 10:15] 8:48 | 12:06] 9:07 | 9:08 | 9:40 [10:06] 9:44 | 9:24 | 10:26] 8:06
SR m | 4.38 ] 4.05 ) 3.95 | 3.99 | 3.84 | 4.10| 4.40] 3.88| 3.55] 3.98] 4,065 | 4.06| 4,11 3.88 3.85
kK m | 0.60| 0.60] 0.50 | 0.50 0.60 | 0.60 | 0.50 | 0.50 | 0.50 [ 0,50 [ 0.60 | 0.60 | 0.60 | 0.50 [ 0,60
R < | 461 .8 | .3 | 47| t.230[12.3] 48 [12.6/(16.0(17.8]16.6]20.1127.5]19.0
K H T |39 3133 30|36/ 467266 [11.5]162]19.3]16,2)17.9]321.2]220].
14 B () (k| A RA| ARRE| RATE| K| RS | ANm | A0S | A8 | AND | 668 | 6 | Ml Aews | ek
B & (5 | i | sy | dERL | ROl | e | s | G| e R | fRIL | fen | SRR OO | MR | BB
BiEE eon | 22.8 26.7] 23.5 | 26.8 | 29.3 | 18.5 | 18. 7| 17.8 [ 16.5 | 14,0 [ 11,0 16.2] 11,7 12,6 12,1
B m | 0,52 0.43 | 0.38 | 0.45 | 0.43 | 6.2t | 0.43] 0.26] 0.26)0.34] 0.28 | 0,40 0,23} 0,32 | 0.38
xK_f4 — 16 16 | 16 | 16| 16 16 16 [ 186 16 16 | 18 16 | 17 | 16 | 18
pH — [ 7.88 7,001 7.67 | 7.90 | 7.99 | 7.88 [ 8.41 [ 8. 16| 8,82 9.04 | 8.98 | 8.47 | 8.40 | 8,96 | 9.06
DO we/l [ 12,79 — — [13.83] — — [12.60] = = ~ 14,62 -~ [9.31 — —
BOD mg/l | 4726 | — — ] 3.46| — - 1419 — — — |a4]| - [611]| — —
COD (n) me/l | 8.00 | 8,02 7.44] 7.14 | 8.09 | 8,09 | 7.45 | 867 | 10.67]10,07| 13,21 9.62 | 11,20/ 10.00/ 9.83
D-COD () | me/1 | 4,78 | 4,94 | b.31 | 4.66 | 6.29 | 6,03 | 4.70 | 6,09 [ 4.64 | 5,02 | 6.42 ] B. (2 4,00 4.84 ] 6.16
P . COD M | ue/l | 3.%% | 3.08] .13 2,58 2,80 | 3,06 | 2,76 3,58 ) 6.03 | 5,05 | 7.79 | 4.40 | 6,30 | 5.16 ) 4,67
COD(Cr) wg/1 |20.12] — — [18.52] — — | 20,42 — — [36.84] — [33.62] —
D:coD(r) [ meg/1 [ 9,511 — — lost| — — |96t — — - [tl.21] - [9.60] — —
SS me/1 | 13,0 | 10.3] 13.0 13.0 ] 13.6 | 17.6| 13,6 | 17.3] 27.0| 24.6 | 29.5 | 28,0 | 37.0 | 29.6 § 32.5
TRERR |wviow| L] — | — |49 — | — |esms| — | — | — |s.amp| — |3.ap[ — [ - |
TN we/1 | 1,62 | 1,68 1.92 | 2.06) 1.82] 1,70 t.68 ] 1,46 t.66] 1,62 1.44| L. 11| f.62] 1,09] 0.96
TP mg/1 | 0.119]0.096]0.116]0.119]0.102[0. 114]0.110]0,112]0.171]0,173]0,207(0.184]0.2260.160]0.156
NH,—N me/1 | 0.01 ] 0,02 0.09 | 0.01 ] 0.03] 0,01 0,01 0.04[0.02]90.01]0.0(]0.0f;0604]001)002
NO,—N we/1 | 0.014]0.015/0.016]0.020[0.012[0.011]0.014[0,011[0.021/0.013]0.019]0.001]0.014]0.001]0,002
NO3z—N me/l | 0,63 | 0.69 | 0.87 | 1.46( 0.68 | 0.66 [ 0.68 | 0.28 [ 0.25[0.08]0.08]0,0¢]0.090.00]0.02
"IN we/1 | 0,65 0.7 | 0.96 | .48 0.62 | 0.67 | 0,60 | 0.33[0.29[ 0,10 0,110, 02{ 0, 14]0.01]0.04
ON we/1 | 0.89] 0.92]0.96] 0.61 [ 0.92 | 1.11] 0,88 [0.77[1.09]1.27]1.33/0.99(1,29]0.98)0,93
D ON mg/1 | 0.44 | 0,60 ) 0,64 | 0.43 | 0.60 ) 0.56) 0.48] 0.50 | 0.49 | 0.53 | 0.67] 0.47) 0.39 | 0.49 | 0,46
'P.ON we/l | 0.45 | 0.42 | 0.42 | 0.18 ] 0.42 | 0.66 | 0.40 0.27 | 0.60 | 0.74 [ 0.76 [ 0.62 | 0.90 | 0.49 | 0.47
‘DTN we/t | oo a3 teo Lot P fi2f 1. 12]1.08]0.83] 0-78] 0.63]0.68) 0,49 0,631 0.50) 0.560
'TN we/1 | 1.64] 1,65 1,92 2.09 | 1.64 1,68 | 1,48 [ 1,10 [ 1.38) .37 | (.44 1,00 1.43]0.99] 0.97
D-PO4—P | mg/T |0.009]0.011]0.013]0.006(0.008]0.008]0.003(0,006(0.008{0.003]0.007]0,008| 0.004]0.005]0.017
D+« TP me/1 | 0.061]0.016]0.033]0.020]0.016]0.016]0,020]0,020[0.031]0,023(0,037]0.016]0.048(0,014] 0,023
‘P.TP me/1 | 0.058]0,080]0.083]0.0997 0.086]0.098] 0,090 0.0920.1400.160|0.170]0.168] 6.178]0. 146} 0, 133
ic we/l | 13.2] — - |12.7] - - |19l — — — |19 — 181 — —
TOC we/1| 7.9 | 6.6 6.1 6.9 | 82| 7.7 | 80 [ 87 [10.6] 8.7 [121] 88 [16.6] 9.8 ] 9.6
‘r¢ g/l | 2.1 — — 6] — - 20.9] — - — T =181 — -
D:OC oe/l | 4.7 | 4.6 | 4.4 | 4.7 | 6.6 | 4.4 | 4.1 | 5.2 | 6.1 | 6.0 6.1 | 6.1 45| 47] 42
‘P OC we/l | 3.2 | 2.1 | Lil2z2 2733 (38ls6(6b 477203761 ]|61]S53
D Fe. mg/1 [ 0.02] — - [o.07] — -~ [o0.08] — — — Jo.0ot] = Jo0.03] — —
D+Mn mg/1 | 0.00] — ~ lo00] — — o000 - = — Jo.00] = Jo.00 —
Fe mg/l | 0.17] — - o3| — —~ | 0.06] — — — J10.38] — |096] — —
Mn mg/l ] 0.07] — — lo.06] — — [o0.06] — — — lot0] - Joeu| — —
3 B 160 ] — ~ | 148] — ~ |18.2] — — — [40.9] = V40,2 — -
WEZEQ0C) | us/en| 284 | — — [ 268 | — — | 284 | — — — [ 269 ] = ] 26t | — -
Ca me/l | 17.3] — - 1.6 — - |19.3] — — — i8] — [1i58] — —
Mg wg/l [ 8.16] — - |90 — — [8.08] — — — 694 — [6.8] — -
pHA 87 WA V| me/1 | 69.4 | — — | 646 — —- [62.6] — - = 1su8] = [647] -— —
p HY, 0} gl mg/1 | 6.63] — — [6.78] — — [a.82] — — =~ |0.34| — |9.62] — —
pH. 07 VHAVE| me/1 | — — — — - = — — — - — - — — =
504%" mg/l | 29,4 — - | 28.8] — — [33.4] — — — J29.6] — [33.0) — —
Ccl” pg/l ]| 301 — — [26.2] — - 86| - - — 282 — [38L7] — —
Na wg/l | 28.8] — ~ ]l ~ — [28.8] — — — lana] — |26 — =
K og/l [ 6.04] — - [4u] - — | 4.33] - — — [469] = 44| — =
T -+ §i0, mg/1 ] 19.5] — - 1.0l — - | 148 — — — 18] — [18.8] — -
Hfs ) h wg/l | 12.64] — — [14.66] — — |10.90] — — — 633 — Joat] — —
Chl-a g/ 1| 78.8| 70.2 | 62.5 62.8 | 72.1| 76.1| 65.1 [126.3]214.8|180,9]200.6]146.2/163.5/103.9 125.2]
Chl-b 1g/1| 5.9 | 6.1 | 5.8 6.2 | 7.1 | 4.6 | 80 | 10.6] 9.3 | 12,6 11.3]12.7]17.8]10.1] 6.0
Chl-c g/ L] 6.5 | 12.6]10.7] 4.3 | 1.0 12, 1] 7.8 [ 16.6( 34,4 28.6] 26.3] 33.6) 32,0 | 38,6 39.8
JeAI4Fy |ne/tl 7.0] 0.1 |21,6(38.8 .8 | 4.0 [t27] 2.8 [19.2] t.7-1 001 88]382|168]14.4
B Rmgtts | me/1 1 0.01] — — (o0l ] — — ool | — — — o001 = lo.02] — —
2_MIB |ste/1]|0.022]0.024]0.026]0.023]0,031]0.032]0.020(0.029(0.045]0.147(0.163]0. 128 0.056/ 0.01§ 0. 087
DFAx> |ze/1]0.006]0.010]|0.020]0.019]0,015]0,018]0.006]0,012]0.030]0.024]0,011]0.012]0.006]0.007]0.007
VinossvdmmaEn | g/l | — - — — — — — — — — — — — — —
(5 AOEBRAROIEI L DR, 3, P-ON=(ON)—(D-ON) 6. P-TP=(T P)—(D-T P}




) KREEE (B0 1—-2)

B % B KRS FHAR fIER B2 __PRRIBAE (20014)
H B | B | 6/5 [ 6/12 6/19| 1/3 [ /10 | 1/17| 8/7 | 8/14 | 8/21 | 9/19 | 9/26 | 10/2 | 10/9 [10/16| (1/6
X #® - 2 | & | & | m|w | & & w488/ [ %8| 4|48
kv Wedy | 7043 [ 7:40 [ 6:30 [10:08( 8:15 [-7:31 [ 10:11]10:13] 7:50 [10:12] 8:55 | to:05] 8:69 | 8:26 [ 11:15
KR m [3.47)3.75]3.85] 3,82 3,39 4,00 3.49[3.28]3.32]4.683.56]|4.62[3.79]4.10][ 4,08
koK m | 0.60] 0.50] 0.60] 0.50] 0.50 ] 0.60] 0.60] 0.50 0.50 | 0.60] 0.50 | 0.60 | 0.50 | 0.50 | 0. 850
& W € |21.5]20.5[ 21,8 31,0[2865]31.2(268([30.6][22.3[26.6]23.9][25.0][z22.0][181]17.0
KW C | 26,0 23,2 22,1 [ 288 28.1[29.7] 26,4 26.6 24.9] 26.8] 21.2]21.3]18.8] 18.9] 16.1
S B () — | amw [ any | wow [wws] sen | ea | e ens |aeny| enes) aens| wres| men | ans | s
B & (hH) — |meow| me | g | i hoR| ER | e | bR e mr | En | mr an ] en| 1
BN en |14 3107z 1.9 1.3] 13,0 145 26.8] 180 27,4 26.6 | 17.2]19.8] 26.0] 20.5
B m |05 [0 19] 019 0.19]0.31[0.26]0.34] 0.46[ 0.38] 0.66]0.48] 0.42] 0.46] 0.4L[ 0.568
K_£ — 18 19 [ 16 17 1 17 nlimlnln 1 ] 17 1 17
pH — |'8.92[8.94] 7.98{8.01]7.83]829]873]820]/[8.61]830][8093]847]824][7.41]38.79
DO mg/1 | 9.86 [ — - 19| - — [6.98]. = — (969 — 88 — 1 — [10.88
BOD wg/1 [ 5.09 [ — - 3.8 — — [as] = — [2.38] — |33 - — [ 4.43
COD () wg/l [10.02] 9,73 [ 8.92] 9,64 | 8.92 [10,30| 14, 02| 9.22 [10. 20 7.77 ] 8. 74 [ 9.24 [ 0.57 [ 6. 79 7.52
D+-CODMn | meg/l | 5.26]56.43]4.95] 4. 96 [6.29] 5.86 [ 5.84] 5.87] 5.7t | 5.40] 6,09 6.19] 5.29 | 4.29| 4. 14
‘pocobDM [ me/l | 417 430 3,37 4.69[ 2,63 4.44[8.18] 3.36] 4,50 2.37] 2.66 [ 4.05 [ 4.28 | 2.50 | 3.38
COD(Cr) wg/l 29,11 — — [25.02] — | — [38.88] — — |23.57] — |21.96] — — | 20.28
D:COD(Cr | me/1 |iL.91] — - [1o.61] — | = [it.62] — — [9.686] = [10,89] — ~ | 9.00
SS mg/1 | 26.0 [ 38.5[38.5 30.6] 27.5]| 42,0 35.0 [ 15.56 [ 20.0 [ 12.0[ 13.0] 24,56 [ 21.0] 16.0] 22,0
KRIBEHWEEK  |veviooal|4, 9042 — — |4 = — |u.ou3] — — [7.0848] — 13| — — [4.9043
TN e/t | Lt} to6| Lag | t.4d| Lot [ 134 Lt7] .27 106 73| .10 | .63 1.30 [ 2. 19 2.69
TP mg/1 | 0,216/ 0.208]0,152]0.208]0.233[0.246]0.263]0.204[0,203[0.108]0.103]0.166]0.145] 0. t29]0. 120

NH,—N wg/1 | 0.02]0.02]0.16]0.160.26 | 0,01 | 0.01] 0.04] 0,01 | 0.07] 0,04 ] 0.12]0.06 | 0.06 | 0.0l
NO;—N wg/1 | 0.002]0.006(0.032(0.045|0,033]0.023/0.002)|0,012|0.001[0,029]0.019[0.034[0,027(0.027]0.036
NOz—N mg/1 | 0.00]0.00]| 0.04)0.29) 0.4t 0.04f0.01]0.07]0.08]0.94]0,10]0.68/0.55] 1.48] 1,89
‘IN ug/1 ]0.02]003]0.22]0.60/0.39(0,07/0.02]0.12[0,09]1,04/0.16][0.83]0.63]1,67]1.94
ON wg/1 0,96 1,03]1.02)0.,96]077]1.11]1.02[0.96]0,94] 0,70 0,90 0.80]0.76] 0.86[ 0.71
D' ON wg/l | 0,52 ] 0,51 ] 0,51 ]0.46 | 0.67] 0,48 | 0.55 | 0.64 | 0,48 | 0.456 ] 0.52 | 0.46 | 0.49 | 0,46 | 0.46
'P:ON wg/l | 0,43 ] 0,62 0.51 | 0.60) 0.20) 0.63 | 0.47(0.42[ 0,46 0.25( 0,38 0,34 0,27 0.20 [ 0.25
‘DTN mg/l | 0.64 | 0.64 0,73 0.96) 0.39( 0.07] 0.67 | 0,66 | 0.57 | 1.49 | 0.68 | 1,20 | 1.12 [ 2.03 [ 2.40
'TN mg/l ] 0,97 1.06( 1.24) 1.46] 1. 16) 1.18) 1,04 ] 1.08] 1,03 1,74 [ 1.06] 1,63 L. 2.23 | 2,66
D+PO4—P | wmg/l |0.006|0,002]0.019)0,020|0,056)0,046)0.060]|0,046]0,033]0,006]0.004|0.018]0.028]0,016]0.006
D.TP ng/1 {0.028)0.042/0,031/0.042(0.097(0.071]0.088[0.086(0.077]0.017)0,023]0,038]0.050(0.040]0.0(9
‘P TP _mg/)1 [0.188/0.166]0.121/0.166]0.136)0.176]0.175[6.118[0.126]0,091]0,080]0.128]0.095]0.089]0. 10t

1C mg/l | 12.3] — — |12.8] — - |13.4] — — [ 13.2 12,6 — - |18
TOC mg/l | 10.4] 9.2 [ 80 93 [84] 941256849368 76]88]87] 68| 1.4
'TC mg/i | 22.7] - — [22.1] - — | 26.9] — — |20.0] — [a1.4] = - |19.2
D:0OC v/l | 4.9 ] 49| 46| 47568 6.6 5.1 [6.8]44]47]56.2]46]49]40] 41
‘p.oOC mg/1 | 6.6 | 4.3 [ 3.6 46 2063874 2640 21]23]42]38] 2.8]3:3
D'Fe wg/l | 0.04] — — [0.07] — - [003] - — lo03] — Jo0d] - — [0.06

D' Mn wg/l [ 0.00] — — lo00| — ~ lo.00] — - looo]| — [o00] — — | 0,00
Fe mg/l [ 0.68] — - |0.965] — — [or] — — o030 — [o4d9] - — | 0.58

Mn mg/1 [ 0.06 ] — - |o10| — - o] - ~ |o03] - Jo.06] —~ — | 0.06

w B 266 — —- | 262 — — | 36| — — | 12.8] — [28.6] — — | 20.1
HERQC) |ps/on| 257 | — — [ 44| — - [ 302 ] = - | 302 — | 236 — — | 198
Ca we/l {200 - [ - [1n1| — — |18.9] — — [t6.6] — [166] — — | 14,6

Mg wg/l | 6.39] — - 6| — — | 4.06] — — |57 — |6563] — — | 6.72
PH4 87V VE| ma/l | 640 — — | 662 — - | 6&5] — — | 6t.4] — 601 — — | 40.9
p HO. 0 B mg/1 [8.21 ] — — 12,33 = — [1.02] = — |46 | — 7.6 = - | 7.30
pHY. 07V A VE| me/1 | — - — - - — — - - - - - - | = —
S04%” wg/l | 29.6 ] — - Jarn1] = — | 31.4] — — 2.7 - [0 =1 = 1189
cl- wg/l [ 30.9] — - | 247 - — [40.0] - — 264 — (3.1 = — | 9.55

Na wg/l | 24.1] — — |20.4] = = |3L6] — — [at2] — 18] - — |13.9

'K g/l | 4844 — — l1402] — — 1650 — — |6.16] — [6.68] — — | 3.50

T + 510, we/l | (2.3 — - a0 — ~ |20.7] — — (136 — [1z3] = — [ 20.0
H&as-Uh weg/1 ] 6,91 — — |15 24 — — |15.92] - — 19.28] = |9.85] — — |14.75
Chl-a ng/1] 34,6722 46.0] 97.2 47.0[143.3[ 99,6 75.0 ] 83.0] 80.5 [ 80.5 [107.7] 96.8 | 65.6 | 71.9
Chl-b = |we/t] 2.9 24| 3.4 [10.8]10.6)] 89 [10.7] 47 [6.0] 473869 49 38] 4.3
Chl-c pwe/Ll L7 {02 ] 9.6 ]1%.8]33]20.8/[54] 2.6/ 1.6 ]13.8] 43]17.8]12.0][10.2] 6.9
JxA74Fy |une/1]| 46.56 92,9 8.5 | 11.0[30.6] 0.6 [99.3]42.3] 706 10,2616 17.4| 9.4 0.0 | 43.9
B A RmEER | me/1 | 0,01 — — [0.02] — — |o0.03] ~ — lo.04] — Jo.01] — — 10.00
2—MIB [ueg/1]0.004]0.013[0.008]0.009]0.008]0.001]0.001]0.001]0.001]0.002[0.001]0.009]0.000]0.002]0.001
UAZX3y  |we/1]0.002]0.002]0.002]0.002{0.002]0.001[0.001]0.001]0, 00t]0,001]0.001]0.003]0.000]0.002]0.002
WDy pk (Tvee) | mg/1 — — — — — — | = — — — — — — — —
[ E HIOEBIRAROREIC XD RDE, 3, P-ON=(ON)—(D-ON) 8, P~TP=(TP)—(D-TP)

. I.P-COD=(COD)—(D-COD) 4, D~-TN=(IN)+(D-ON) 7, TC=(IC)+(TOC)

2. 1 N=(NH4-N)+ (NO2-N) -+ (NO3-N) 5. TN=(I N)+ (ON) 8, P-OC=(TOC)—(D-0C)




’ KEEXR (ED1-3)
BRIP4 i P B AR SERR 34F (20014F)

H B | B4 | 11/13] 11720] 12/4 [ 12/18] 12/18 | Bk 18| S iMi| St
X & — FHEEE RN AN
ok w5y | 10:00] 8:57 [10:10] 10:00] 9:560
KRR m |3.76]3.90[3.8]3.78]3.78
KK m | 0.60] 0.50] 0.60] 0.60 [ 0,50
& B C [15.6] 11.6] 84| 8.6 [ 8.6
K_H c [13.3[11,3]10.8] 856 [ 6.6 [20.7] 3.1 ]16.2
s B () = |oma | weam| vany | sans | dovan
B & B — | s | e | fEi (YR g0 R
et em | 22,0 10.6 [ 17.6] 16.2 [ 18.6
prdz i m [0.62]0.60[0.62]0.63]0.66]0.62]0.16]0.38
K& = 11 ] s ] 11
pH — ['8.28)8.96]884]09.17]8.82[9.17] 7.41] 8 44
DO g/l | — — [12,23] — — |14.62] 5.96 | 10,05
BOD wg/l | — ~ 391 —~ — [8.44]2.30] 4.3

COD (Hn) wg/l | 7.57 (8,76 7.69 | 10.00/ 8,13 [14.02] 6.79 | 9.12
D:CODMn | mg/l | 4,14 4,67 ]| 4.08] 4.47 | 4.01 ] 6.29| 4,01 [ 5,04
‘P-CODG | meg/1 | 3,43 4.18[3.61]6.63[4.12]8,18( 2,13] 4.08

CcCOD(Cr) mg/l| — = 121,75 — — | 38.88]18.62| 26,34
D COD(Cr) | mg/l | — — 1 9.64 — — |11,91] 9,00 | 10,18
SS mg/l [ 16,0 23,0 24.0 | 28.0 | 26.0 | 42,0 10.3 [ 23.7
KIGEBEE [wwnoom) — — |4.9842] — — | 7.9843] I. 7842 2. 3643
TN mg/t | 1,70 1,86 2,70 | 1,79 [ 2,08 2.70 | 0.95 | 1.57
TP mg/1 |0.142]0.130(0,127]0.146]0,139]0.2630.096] 0. 160

NH,—N mg/1 | 0.01]0.02]0.04]0.00/0.01]0.256]( 0,00/ 0,04
NO,;—N mg/) | 0.0310.026[0.031]0.021)0,025]0,045( 0.001] 0.020
NO;—N ug/l [ 0.78)0.78] 1.80| 0.84 | 1,26 1.89] 0.00 | 0.5l
YIN mg/l | 0,820,838 (1,87) 0.8 | 1.20] 1.94] 0,01 | 0,67
ON ug/1]0.83]0.80(0.78)0.92]0.76){,33] 0,61 0.92

D -ON mg/l | 0,47 ] 0,46 | 0.40 f 0.46 ] 0.40] 0.567 | 0.39 | 0.49
'P * ON wg/1 | 0,36 0.34) 0.38( 0.46 | 0.36 ] 0,90 | 0.18 | 0.44
‘D TN mg/l | 1,29 1,29 2.27(1,32]1.69] 2.40) 0.07 | 1.03
‘TN mg/l [ 1,66 1.6 2,66 (.78 2.06] 2.66) 0,97 | 1,49
D'PO4—P | wg/l |0.0060.006]0,006]0.006]|0.006]0,060]0,002] 0,010
D:'TP mg/1 |0.019]0.017]0,014]0,019(0.016]0.
'P. TP ug/1 |0.123]0.113(0.113]0.126]0.123]0.188| 0,068 0,120

(=]
(=3
(=3
-~
=
d
—
.
=
L=
>
<

1C ng/l | = — |3l - — J13.4]11,8] 12,8
TOC me/l | 7.7 84 e 100 .9 12.6] 6.1 8.1
'Tc mg/l | = — 196 — — | 25.9[11.1]20.6
D:0OC mg/] | 4.0 44 ] 3.8 42 37568 3647
‘P 0OC me/t] 3.7 40 866842 4] 1.7] 40
D-Fe ng/l | — - o0 — — Jo.07[0.01] 0.04
D+Mn wg/l | — = o000 = — | 0.00] 0,00] 0,00
Fe mg/l | — — o4 — — [ to7] 0.06]0.54
Mn mg/1 | — — |o.06] — — Jott]o0.03]0.07
W B - - [ato] — — [40.9] 12.8] 24.7
HER@0C) |ps/en| — — [ 24| — — | 302 | 198 | 260
Ca ng/ | — = | 181] - — | 20.0] 14.8] 17.2
Mg e/l ] — — [6.49] — — |8.16[ 4.06] 6.47
pH487WHVEE| ng/1 | — — |sl.4] — — | 64.5[ 40.9 ] 54.2
“p HO, 0 | ng/1 | — - 18] = — | 12.3] 0.3 ] 6.4
pHO.O7WVAVE] mg/1 [ — - |. = - — - - —
50.%" wg/l | — - | 40| - — | 33.4]18.9] 28.3
cCl- g/l | — — 188 — — | 40.0] 9.6 | 27.1
Na mg/l ] — — | 16.6] — — | 3.6 13.9] 23.6
K mg/l | — — | 361 — — | 6.69| 3.60 | 4,64
T +5i0, wg/1 | — - |ate] — — |0 11,5 17.4
e Ah |me/1 ] — - |l = — |16.92] 6.33 [ 11.68
Chi-a we/ 1] 116.2]123.3] 90.8 [149.1] 101, 6] 214.8] 34.6 | 100.3
Chl-b g/l 4487 1] 6.8 L6 |17.8] 1.6 ] 6.8 sRomEBREAROHEICLRDE,
Chl-c ug/1]16.8]17.3] 6.9 |19.8[ 6.8 ]39.8] 0.2 ]145]|1.P-COD=(COD)—(D-COD)
JeA74Fv |ue/1| 1.2 | 4.9 9066 89 [ 59,5/ 99.3[ 0.0 | 26.3 ]2, I N=(NH4-N)+ (NO2-N)
bt A > g Enl | ng/l | — — lo.01| — — 10.04]0.00]0.02 +H(NO3-N)
2—MIB |[pe/1]0.006[0.002]0.011]0.014]0.023]0.163[0.000]0.030]3. P~-ON=(ON)—(D-ON)
SAA3I | ne/1]0.002{0.001]0.005]0.005]0.008]0.030] 0.000] 0.010]4, D-TN=(I N)+ (D-ON)
VNRVERR D | mg/] | — — — — — — — — 6. TN=(IN)+(ON)
[ ‘ 6. P-TP=(TP)—(D-TP)

Jr.TC=(1C)+(TOC)
8. P-OC=(TOC)—(D-0C)




KEFEH (ZD2~1)

Bl sk KA FURN TIIEZ Bl Tkt 345 (20014E)
B B | B | 179 | 1/23 | (/30| 2/6 | 2/13 | 2/20 | 3/6 | 3/13 | 3/21 | 4/10 | 4/17| 4/24 | b/8 | B/15 | B/12
TN.LE mg/l | 1.62 ] 1,68 1,92]2,06] 1,82 1,70 1,58 .46 1,66 1:62 | 0. 87| 1.11] 1.52 [ 1,09 [ 0.95
TNHE oAl IR N N I N B B B T Y T e
TNFRE mg/l | 1.62] — | — [1.87] — | — Jueo| — | — ] — Jost| — [t.44] — | —
TPLEE mg/1 |0.119]0,096]0,116]0.119{0.102{0,114]0.110[0.112]0,171]0.173]0.136]0.184]0.226]0.160]0. 156
TPHE mg/l | — | — [ = | =]~~~ =T=T=71T=Towr[ =] —1T-"1T-
TPFHE ng/t o.127] — | — Jo.132] — | — Jo.toe] — | —~ | ~ Jo.116] -~ [o.222] — [ —
COD.LF | me/l | 800802 7,44 7.14]8.09] 809 7.46 [ 867 [10.57]10.07] 7.48] 9.562 [ 11,20]10.00] 9.83
copw@ |w/t| — | - [ - | = | — 1 — 1T [T -=—T—-—1T~-Te&s[ -—1T-1-1-
CODFR |me1]7.96) — | — [768] — | — [2.31] — | — | = ]7208] - | - | -] —
K kE[C | - T -~ T - T - T =1 -1 -1 -1 -1 -T-1T-1T-1T-1-
#m| C | 36 31[33]|39]36]41][72]66]|I1L6]162[17.7]162]180]20.2]283

0.6m| C |36 31]33/[39/]36]|41]72[6d411,2]16.2]17%.6]16.2 2.2 22.3

Lom| € |36 31333935641 ]72]63]10.9]16.0[17.1] 16 0]tz 223

2.0m| C [36/ 31333936 [41]|71]62]108[160][17.0]16.2]180]2L,2]223

3.0m| C | 36|31 ]33] 4034|407t ]62][107|148]169]162][17.9]21.0]22.3
40m| € | - [ -]~ =1 =TJat ||l -1T-T-T-=-1T = - | -

bom € | - | - -] - =] =] ~] ] =-1T-1T=171= - | =

6omf C | - | - |~ ] -] ~-]=-]-]=]=]=]=/=7T—=1T=-1+-

Mewi| C | 3.6 [ 8133|4134 4] 7162 10.7]146]16.9[162]17.6]20.1]221

#DO  AKblwe/l| — | = | -] -] = -1l -1 -l =-]l=1-1T=-7T=171=
| mg/l [ 12,9 0,0] 9.6 [ 10| 1241200031, 6]10.4] 96 7.7]80] 7.6]89] 6.2

0.6m| mg/1 | 12.9]100] 9.1 [0t {2409 1t,2) 1. 4]t0.6] 93| 76|80/ 76/ 80 6.1

Lom| me/1 | 12,9] 9.9 | 88 | 9.9 sl 7|azftn8]t0.2] 8376 %9 (76| 89]60

2.0m| mg/l [12.9] 9.9 ] 881 9.6/[1256 uajuoftor] 93] 74 78[76]89]6.0

3.0m| we/) [12.8] 9.8 ] 8.7 ] 9.4 1124 10,6 99| 761 73] 176} T4]80]5.38
4.0m|wg/t [ 12.7] — | —~ | — ' 9.6 D N I O N S
b.0m|wg/1 ] — | = | = [ - [ = -|l=-1T-1-1-1-1]1-T-7T=

6.0m| pg/l - - - - - = - - - - - - - - -

I | mg/) [ 12,4 9.6 9.3 193 [123/10,9] 98106/ 98] 76| 7.4] 7.8[ 707861/ 4.6
AkAEE sK.E| Lux | 25190 1817049500 10600] £1200] 6190 | 86700 | 44800] 48000 28000 [ 47300 27600 | 24990 | 140100] 9750
#m| Lux |21160] 9730 [42000] 8140 | 7760 | 4090 | 67300] 40400 44700 20850 | 37000] 16430] 18670 [ 103100] 6360

0.6m| Lux | 6740 | 4710 | 10380] 2302 | 2296 | 1002 | 17600] 6600 | 11190 3040 | 9830 | 3420 | 1313 [ 84600] 944

LOm| Lux | 6210 | 1737 | 3830 | 9567 | 885 [ 272 | 6450 | 182 | 1626 | 450 | 1880 | 684 [ 123 | 1540 | 218

2.0m| Lux | 187 | 447 | 674 | 149 | 166 | 67 | 664 | 17t | 62 | 0.8 | 145 | 26 | 1 72 ] 9
3.0m| Lux | 71 | 88 | 80 [ 24 | 20 | 12 [ 90 | 20 [ 2 0 | 1 5 0 5 0
40m[ Lux | 156 | - | — | — | - 6 || -] =-]-]T-1T=-119 =

$0m| bux | -] - | - -]~ - -] -] =] -T=-1T-=-1T=1-=
6om| Lux | — | - | - | ~ | =] - - =]~ —-]=7T=1T=-01T=1-

M| Lux - - - - - - - - - - ~ - - - -
BRm.EORP | m¥ | 135 | 181 | (82 | 122 | 127 [ 161 | 131 | 121 | 124 [ (19 | 46 | 169 [ 43 | 184 | 167

%
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KBER (ZD2-2)

| Bilerd | EED KR AURM | il gl 134E (2001 4)
B B | B | 6/6 | /12 6/19| 7/8 | 110 | 7/17 | 8/7 | 8/14 | 8/21 | 9/19 | 9/26 | 10/2 | 10/9 | 10/16 11/6‘

TN.LE mg/1 0,66 1os| 128 44 t2i ] t.a4] v [ 127 o6 [ 173 [ 1.10]1,63] 1,39 2,19 2.69]

TNHE og/l | 0.66) — .| -— - - — - - — - - =

TNTHE mg/1 ) 0,66 — — | 1,60] — — | Li6] — — [ L] — (070 — — | 2,65

TPERE vg/] |0.1020,208]0.162(0.208)0.208)0.246)0,263)0.2040.203]0.108]0.103}0,166|0.145(0.129]0.120

TPHE mg/1 10.097| - — - —

TPTHE wg/t |0.109] — — {0,216 — —. |0.267[ — — [0.109] — [0.192] — — 10,145
COD.Ljg mg/l | 7.689.73(8.32)9.64(8.92)10,30({14.02) 9,22 | 10,2¢[ 7.77 |8, 749,24 9.67 | 6.79 [ 7.62
CODHfE wg/l | .84 — — - - - - — - - - - - - -
CODTH mg/1 | 7.60 | — - = = = — — = - - = = - -

S B

K KE] C - - - - - - - - - - - - -

F#Em| C [23,1[23.2)|22.0([288) 283|296 263]|267)|24,9]26.8/21.2]21,7/18.8]18.9
0.6m| C [23.0] 23 28,6 28,1 29.6 | 26,3 | 26.6) 24,9] 26.8| 21.2 | 21,3 | 18.8] 18.9
L,om| C | 23,0 28.68 28,9 26,3 26.0) 24,9 26.8 | 21.2 18. 18.8
20m|( C |22.8](2 28.3(27.9128.8(26.31(25.8(26.0(26.8(20.9 18. 18.7
3. 0m| € |22.7 | ,1127.9)27.8)28.8) 26,3 | 25,7 26,0 26.7] 20,6 | 20,6 | (8 18,6
4.0m| C = = — | 2617 20.4 18,6 16
50m| C - = - - - - - - - - - - -
6.0m| C - - - - - - — - - - - - — - -
JEW| C | 22.5) 23.1 (22,0 27,7 27.7]28,7| 26,2 | 2.5 | 26.0| 26.5 | 20.5 | 20.4 | 8.6 | 18.5 | 16.6

*DO _ K.E| mg/l - - - .= - — - - — — = | = - — —
#i| wg/l | 6.7 47|61 ]63)| 4964 39856648399 17.7]|79]70]094
0.bm| mg/l | 6.7 ) 47| 6.1 |63 48 63(37] 8406438298 73]79]267]29.3
1.Om| wg/1 | 6.7 | 47| 6,0 60| 46 6.2 ) 37| 63]|64)81]97)|172]|178] 66| 89
2.0m| we/t ] 6.6 | 4.6 [ 4.8 | 6.1 [ 4160 3761 (63]80]89]|¢62(78]466]| 88
3.0m| mg/t | 50 [ 42| 456 44| 40[40] 37 [4d]62]7n8[89]60]77]64]|82]
4,0m| g/t = = — - - — - — - 1.5 — 5.4 - 6.3 1 7.9
6. 0m| mg/l = - - - - - - - - - - — - = =
8, 0m| wg/l - - - - - - - - - - - - - - —

| me/) | 6.8 3.6 [ 43 ) 3.6 3.6 46 36| 26[60([62)]88]s53]1.6]s53] 118

JKHliEE sk.B| Lux |82100( 127650 | 6630 | 3700093200 1176021700 48000 6370 | 31200 [ 74800 12000 29360 | 34400 | 16430
FE| Lux | 61000 8700 | 4240 | 18690 66600) 10200 11250} 36900} 6260 | 26100 50300) 8980 | 21930 29050 11760
0.6m) Lux |10027) 1243 | 443 | 3370 ) 3180 | 717 | 910 ) 8990 [ 668 | 8010 | 17300 2029 | 4480 | 7340 | 2190
1,0m| Lux | 1712 | 144 | 48 [ 317 | 272 | 22 | 104 | 3370( 184 | 3900 | 7620 | 466 | 1297 | 2710 | 572
2,0m| Lux 25 2 0 5 2 3 2 213 1 bIT [ 996 | 32 | 142 | 260 { 36

3.0m{ Lux | 0 | 0 | = | 0 | 0 [ 0 | o | o | t | s |6t 2 | 11| ar | 1
dom[ lux | = | = [ = [ = | = = =T =T=1Tul=T0o]=1727du
bom{ bux | - [ -~ [ = | = [~ [ = -[=T=1T-1T=T=-1T=-—1T+-1T+=
8 0m[ b | = | — | = [ = [ - [ =[] ==~ =-T1T-=-1-=T+=71T+-=
BiE| Lux | - | — | = -l =]l =-1=-1=-01=171= -l -1 =-1-=-1=

R EORP | oV | 168 | 162 | 206 | 267 | 249 | 82 | 226 | 133 | 249 [ 23 | 217 | 32 | 283 | 226 | 187

R + DOWDORtIC L B MIEHE




KREEX (£D2-3)

4E)

B4 Er | K4 | SR 046 | e |- SRR 134K (2001
H B | B [ n/alozzo] 124 [z 12708 ok ] s | 3
TNEE mg/1 | 1.70 ] 1,86 | 2,70 | 1.79 [ 2.08 [ 2,70 0.66 | 1,54
| TN#HF wg/l | — - - - - - - -
TNTE wg/l | — — 213 — — | 2.73] 0.66 | 1.52
TP LB me/1 | 0.142]0,130]0.127]0.145[0.139]0.263] 0,096 | 0, 154
TPHE wg/l | — — = - — — - —
TPTH me/l | — ~ lo. 127 - — Jo.267]0.106]0.158
| CODLRE mg/Y | 7,67 8,95 7.569 [ 10.00] 8.13]14.02] 6.79 | 8,92
CODHI mg/ 1 — — - - - |1 - — —
CODTH wg/l |~ — — — — [ 7580703738
KH  KEl T — -~ - -
#m| € [13 10,31 8.6 | 6.6
0.6m| C 3, 10.3] 8.6 | 6.6
l.om| T |13 3] 10.3] 8.2 | 6.5
2.0m| C | 12, 1.2010.3] 81 | 6.5
s.om| C |27 t.2]10.2] 8.0 | 856
4.0m| T - — — — —
5 0m| C — — — - -
6.0m| — — — — —
wm| ¢ 12,7 1.1 10.2] 8.0 ] 6.5
*D0O  KE| we/l | — —~ — — —
=i me/1] 9.9 ] 9.6 [ 9.5 ] 10,8] 10.4
0.6m| me/1 ] 9.7 ] 9.4 9.4 ]10.8]10.3
1,0m| wg/1 | 9.3 | 9.4 | 9.4 | 10, 10, 1
2.0m| we/1 [ 9.3 1 9.4 9.2 (10.8]10.0
3.0m| wg/1 [ 0.1 ] 9.8 ] 8.1 [10.3]10.0
4,0m| mg/l — — —~ — —
6.0m| mg/1 | — — — - -
6. 0m| mg/| - - - - -
Ewl me/1 | 9.0 ] 9.1 ] 8.9 110.2] 10.0
JFEEE K E] Lux | 4120045900 5430 | 48700 63600
W] Lux [32300[33800] 3420 | 38100 46500
0.5m| Lux [ 4990 | 3200 [ 513 | 6790 | 9190
1, 0m| Lux | 1375 | 958 | 166 | 1421 | 1792
2.0m| Lux 84 62 16 63 120
3.0m| Lux 4 3 2 1 3
4,0m| Lux - - — - —
6.0m| Lux — — — — —
6,0m| Lux — - — - =
R Lux | — — - - -
| EEm@m EORP | mV | 200 | 198 | 64 | 134 | 209
[ + DOWDOHHic X BEHRE




KAFER (£D1-1)

1.P-COD=(COD)—~(D-COD)
2.1 N=(NH4—N)+(NOZ—N)+(NO3-N)’

4. D-TN=(IN)+(D-
5, TN=(IN)+(ON)

OoN)

7. TC=(IC)+(TOC)
8. P-OC={TOC)—(D-0C)

Bl i Kp% IR FIED i JERRLS4E (20014E)
| g | Bz | 1zo [ i/2a | w30 26 | 2213 2/20 | 376 | 3713 | 3/21 | 4710 | 4717 | 4724 | 6/8 | 6/16 | 5/22
X f& - w2 [ W[ 8 [ 8 [ w [ m [ 2 | w i W 8 | B8 B 8
FoKA %2y | 7;16 | 7:31 | 7:36 | 7:07 | 7:66 | 7;12 [ 8:40 | 664 [ 7:46 [ 7:30 [ 7:47 | 8:01 | 6:52 | 8:35 | 6:30
2K m | 6.30] 6,12 6.25] 6.09] 65,91 6.26]5.95]6.16] 6,09 6,10[6.12]5,90|6.15 [ 6,0t ] 5 96
Kk m | 0.50] 0.60] 0,650 0.60 | 0.50 [ 0.50 | 0.60[ 0,60 | 0.50 | 0.60] 0.50 | 0,60 | 0.50 | 0,50 | 0.50
& H < | 1.6 2.8 .21 29| t.2]08] s8] 20]89]13.8]16.6)17.6])16.9) 25.6)18.3)
KR < | 3.6 | 3.0 3.0 3.3 3.6 39 [ 6.4 67| 88136 16,0 t6.7| (6.6 19.1] 19.8
S B (B || wnna | ke | meus | ame || sienia ]| sns | REshs | KRS | iabia ) Bma | RIS | e | arnE
B & Oy AR AR IR IR AR AR I A A AR A AR AE D AE AR AR =
B em | 21.6| 31,5 30,9 23,0 37.6 | 30.2 ] 23.6 [ 26.5 [ 27.1] 26,0 23,1 ] 21,0 24.9) 19,6 20.7
| BB m | 0.47]0.81]0.62]0.62]0.67]0.65[0.49]0.58]0,45]0,60) 0,49 0,66) 0.63) 0.681] 0.565
k£ - 16 16 16 16 | 16 16 16 16 16 16 16 16 | 16 16 16
pH 7.80 | 7.86 | 7.70) 7.78] 7.82 ] 7.71 | 8,06 7.88 ] 8.13 [ 8,06 | 8.18 | 8.03 [ 8. 13| 8.49 | 8. 22
DO wg/1[12,96] — — [i2.86] — — [iz2.54] — ~ —~ |10.38] — ]9.92]| — -
BOD e/l [ 311 — — [a.83] - — | 3.4 — - — |34 — a8 | - —
COD (Mn) e/l | 7.0t | 748 703 762 7141 7.6 7.66 ) 7.41 (7,480 7.46 ) 7.17)7.86) 7.62) 7.82) 7.17
D CODMn) | me/! | 4.62 | 4.76 | 4.96 | 4.86 | 6.06 | 4.89 | 4.91 | 4,70 [ 4.48 [ 4,67 | 4.79 | 4,67 | .64 [ 4.49 | 4,61
P . COD (M) | me/1 [ 2,39 2,72 [ 2,07] 2.87] 208282727300/ 28)238)318)3,08(333]256
cOoD(cr) mg/l |16.82] — — [16.42] - - [1.12] - — — | 186.62 16. 41| — -
[ D:-coDEr) | mg/1] 9.8 — - 84| — - | 891 —~ - — l10.41] -']8.80 ] — -
SS we/l | 13.6 | 0.6 | 10,0 4.0 9.6 [11.3]12.3] (1,0] 12,0} 10,0 12.6) 18,6 16.5] 14,6 16,08
KIBERR |wvioest| 2, 08H] — ~ [7my] -~ — |1.0m1] — — — [aame2 — |4 omH] — —~
TN me/l | 1,06 | 1.30 (.31 0.94[ .36 | [.I8] 1.16] 0,91 | L. 00| 0,92 0.85] 0.83 ) 0.76 | 0.73 | 0.8
TP we/1 | 0,119]0.068] 00861 0.090]0.072|0.092]0.085]0.077]0,086[0.102/0.093]|0,121]0.116]0,097]0, 076
NH,—N me/1 | 0.02 ] 0,03 0.02 | 0.01] 0,04 0.02]0.02] 0,06 0,02]0,01]0,02]0.03]0,02]0.03]0.02
NO,— we/t 10.009]0,010[0,011{0.009]0.008{0.007]0.007]0,006(0,006}0,002{0,001]0.001]0.001)0.00t}0,001)
NO;— me/1 | 0.24 | 0.18 | 0,24 | 0.81 ] 0.81 | 0.24 | 0.15 ] 0.02 | 0.04 | 0.00 [ 0,02 [ 0.0t | 0.01] 0.00 0,03 ]
"IN ma/1 | 0.27 | 0.22] 0,27 0.33 | 0,36 ] 0.27] 0.18 0.08 | 0.07 | 0.01 | 0,04 | 0,04 0.03]0.03 0.05 |
ON me/) | 0,72 0,94 | 0.84] 0.66 | 0,88 | 0.87 | 0.85 | 0.66] 0.79 | 0.87 | 0.75 | 0.79 | 0.71] 0.70] 0.77]
D' ON ne/] | 0.45 | 0.44 | 0.43 | 0.40 | 0,47 | 0.41 | 0,45 | 0.38 | 0.38 | 0,39 | 0.39 | 0.36 | 0.34 | 0.38 | 0.40 |
‘P ON me/l | 0,27 0.60] 0,41 [ 0.26 | 0.41[0.46]0.40] 0.28 [ 0.41]0.48(0.36)0.43]0.37] 0,320,387
‘DTN we/1 | 0,72 0.66 0,70 ] 0.73 | 0.83 [ 0.88] 0.63 | 0,46 | 0,46 [ 0.40 [ 0,43 | 0.40 | 0.37 | 0,41 ] 0.4
"IN we/l | 0,99 [ .16 .11 0.99] .24 | 1,14 ] 1.03] 0.74 [ 0,86 ([ 0.88 [ 0.79] 0,83 ] 0.74 | 0,73 | 0.82
D PO4—P | mg/l |0.009]0,007]0.009]0.004]0.006]0.008]0.002(0,004]0.003]|0.000]|0.004)0.006]0.003]|0,005] 0,016
D+ TP me/1 | 0,069 0,009]0,031]0.007]0.020]0.016]0.022]0.016]0.020[0.015(0,016]0.011/0.044]0,011[0,019
‘p.TP wg/1 | 0,080 0,049 0.066/¢.073]¢.062{0.076]0.063(0.081{0.066(0,087]0,077(0,110{0.072{0.086{0.067
1C ‘mg/l [ 18,9 — - [13.3] - - 131 - — — 1136 = [143] — -
TOC we/t | 6.1 5.6 | 616987176 nt[80] 7972|176 78]|78([70
el we/l 20,0 — | — 120.2] — — .3 = | — | — [a20.7] = 21| — | —
D-0OC mg/l | 4.0 | 3.8 | 4.1 | 4.2 | 4.7 48] 44| 461 39] 4240/ 42] 42| 431 3.9
‘Pp.OC we/1 | 2.0 | L8027 3t 28[32la60d40(870132|34] 361 35]3.1
D'Fe wg/1 | 0.03] — — Jo.06] — — [o0.08] — — — Jo05| = o002 — [ =
D :Mn mg/l [ 0.00]| — — Jo00] — — Jo00] — — — Jo00| = o0t — -
Fe wg/l | 0,20 — — Jo031] ~ - 10.22] — - — o8] ~ Jo19] — —
Mn pg/l [0.06| — — Jo.03] = — | o08] — - — Joti| = [o04] = —
0w g ] — —~ ] - - 1310 = = — [13.4] = [165.5{ — -
MER(Q0C) | us/en| 330 — — 331 — — 316 — — — 313 — | 333 — —
Ca mg/l | 19.1]| — — [19,3] — ~ | 19,6] — — — 186 - |182] — —
Mg wg/) | 9.03| — — | 8.64] — — 18,69] — — — &7 — [o.60] — —
pHA 87 VA VE| ng/1] 60,3 — ~ |e62.3] — — 1637 — - — |e62.1] — |e66.3] — —
p H. 07k B wg/1 6,39 — — 16.60[ — — 149 — — — le.72[ — 648 — —
pHIOZ VA UE]| me/l | — - — — — - — — - — - — - - —
5042 weg/l [34.1] — — 3.0 — - |a1] - - — |34.4] — [388.7] — -
cl- pe/l | 441 ] — — [a41] - — l29.6] — - — [4an6] — ]49.9] - -
Na wg/l | 36,4 — — [84,0] — — 13837 - — — |34.0] — |38 — -
K ve/1 [ 6.22] — — | 6,67 — — 472 - — — |e8] — [6.69] — —
T « 510, mg/l | 21.8] ~ - 11,6 = - 147 = — — e = [12.5] — —
R ng/1 | 11,23] — — |1.97] = — [11.06] — - — [ 14| - [600] — -
Chi-a pe/1]| 53.6| 61.8] 49.8 | 36.8 | 42.8[ 67,2 ] 50,6 76.2 | 73,0 50,9 | 42.6 | 47.6| 39.7 | 42,8 ) 25,0
Chl-b - ug/1| 6.4 | 7.3 | 6.2 | 41 |6t 387970 7[6,2] 41t ]| 46]50]|42] 2.6
Chl-c pe/t|10.0| 5.7 | 6,4 2.1 | 7.6 | 6,6 | 2.6 [10,2] 12,0] 7.7 ] 3.8 [ 12,7]11.3] 6.2 | 13,7
FJaeFd 74T |ue/1] 23.6] 1.0 3 7445 | 20.6] 5.9 | 8.8 [ 2.7 17,1 0.6 [ 1.6 [ 23([12.8] 4.4 | 4.8
Wt oA o miEden | e/l | 0.00 | — 0,00 — - lo0| — — — Jo.01] = Jo01] = —
2—-MIB  [ug/1]0.006]0, 022 0.0&3 0.01310.022]0,027]0.02210.032]0.040]0.105]0.105]¢.126]0.017]0.026]0,026
PFAIY |we/l 0.006 0. ow 0, 014 0014 0.012]0.014 0.004 0,010(0.023]0.025]0.011]0.011]0,017/0.013[0.010
Vinoayy kit (rver) | me/1 — — — — — — — — | = —
[ES oﬁwrﬁafmitwarﬁumm. 3. P-ON=(ON) —(D-ON) 6. P-TP=(TP)—=(D-TP) -




KEBER (DL —-2)

Bz s KAt FERN FilES Bl S 34E (200148)
H o B | | 6/6 | 6/12| 6/19 | /3 | 7/10 | 1/17 | 8/7 | 8/14 | 8/21 | 9/19 | 9/26 | 10/2 | 10/9 | 10/16] 11/6
X # - a8 | 2 2 28 a i 4 2 2 L ] 8 &2 i 2
FokiH] 5> 110:46] 6:28 | 4:39 | 6:40 | 6:60 | 6:37 | 6:10 [ 7:00 | 65:36 | 6:63 | 6:48 | 7:00 [ 6:57 | ;01 [ 7:38
RKER m |6.60]6.94]68 |68 )58 [6.29]6.76]0548]5.46]6.38]5.96][6.33]56.97]6.36]86.10
KKk m | 0.60]0.50]0.50[0.50[0,50]0.60[ 0,60 0.60] 0.500.50/ 0.50| 0.60 | 0.50 [ 0.50 | 0,50
] C | 280|180 2.1 23.2[ 26,5 [ 26.9] 23.4| 24,0 21,9 24,4 17.8] 19.4] 17.5 | 18.0 | 14.6
K _H C | 24.5] 22,0] 22.3[ 26,0 26.8 ] 28.4 25.8 | 26.6 [ 24.7 [ 26.3 [ 20.6 [ 20,56 [ 19.0 ] 18.6 | 16.1
B @) | — |nema|aeus] ana [wess| axnn] aua [rees| ez | anms|asns| anes| ares| aen | ares| ses
EAE R L A AR AR I AR T AR T AR T AR T AR AR AT AR T AT AR
B em | 23.5] 203 211 [ 24,3 [ 19.7 [ 20.0[ 20.07] 28.5 [ 31.0[ 34.8] 26,3 | 26.4 | 10.4 | 26.5 | 39.0
B m | 0.66] 0.44]0.39] 0,60 ] 0.45[0.43]0.48] 0.51 [ 0.59] 0,6t [ 0.66] 0.68] 0.38] 0.59] 0.96
K& — 16 11| 186 16 | 17 17 17 [ [ [ 1s [V Y Y 17 17
pH — 1820 70908[808]| 78] 7178]8.33[793]826]842][8.54]8566]8.35]8.16][7.99] 8.36
DO me/l [ 892 — [ — [s19] - —~ [6871] — — |9.40] = Jod0] — — 10,14
BOD me/l | 443 - — | L49f - — | 28] — — [ Le2] — 1Lo9] — — | 1.68
COD (i) mg/t | 7.88[ 7. 126,44 6.79 | 6.45 [ 7. 20| 7,60 | 6.97] 7.62]| .17 7.46] 7.74]| 7.76] 7.03 [ 6.36
D:CODM) | me/l [ 4.40 | 4.89 | 4.66 | 6,20 5,07 4.89 [ 4.89 [ 6.41[5.17]6.38] 6.44 | 6.36 [ 4.44 | 4.84[ 4. 45
'‘P.CcODM | me/1 | 3,48 2,23 189 1,659 1.38] 2.32] 2.62 | 1.86 [ 2.45| 1.79 [ 2.02 | 2.38 | 3.32] 2.19] 1,91
COD () ng/1 |17.91] — — |1s.02] — — |16.13] — — 11615 — [i7.718] — — |16.23
D:coDEn | meg/l [10.21] — - |10.831] — - |&382] — — |10,90] — T[it.66] — — 19,04
SS wg/l [ 145 [ 7.6 140 12.0] 12,0 20,6 [ 2.0 126 16,6 9.6 | 16,6 17.0 30.6 ] 19.5 | 12.0
RIBEE || 4064 — - [ = ~ |3.38+2] — — L3t — [rom2| — — [7.0m42
TN mg/) [0.74]0.81[0.83]0.79]0.87]) 0.83[0.87]0.73]0.84]0.60]0.68] 0.73[0.82] 0.66 [ 0.55
TP mg/1 0. 113]0.111]0.084]0.126|0.142] 0,128/ 0,164[0.145]0.145]0.100]0.095]0.103]0,1256]0.102]0.074
NH,—N wg/1 [ 0.02]0.01[0.02[0,00]0.19]0.03[0.09]0.06][0.01]0.00]0.01]0.02]0.01]0.02]0.02
NO,—N me/1 J0.002]0.001]0.004[0.018]0.035]0.047]0.023[0,026] 0, 001]0.001]0.002]0.001]0,001]0.002]0.002
NO;—N mg/1 ] 0.00] 0.00] 0.00] 0.04]0.,06] 0.04] 0.06]0.02]0.08] 0.00] 0.00] 0.00] 0.08] 0.00] 0.01
"IN mg/1 ] 0.02]0.01[002]015]|0.29][0.12[0.16[0.10]0.09]0.01[0.00]002[009]0.02]0.03

ON mg/1 ] 0,72 0.78]0.79] 0.63] 0.60] 0.63] 0.70] 0.63 | 0.70] 0.61 ] 0.66] 0.67( 0.70 0.64 [ 0.54

D :ON we/l [ 0.39[0.39] 0,32 0,41 0.40] 0,35 [ 0.41]0.37] 0.43 [ 0,45 0.48] 0.45] 0.38 ] 0.36 ] 0. 38

‘P ON wg/1 [ 0.33]0.89] 0.47[0.22 0. 16 0.28]0.20]0.26[0.27]0.16[0.18]0.,22]0.32]0.28] 0.16
‘DTN mg/1 ] 0.41 [ 0.40]0,34] 0.66] 0,29) 0.12] 0.67] 0.47] 0.52] 0.46] 0.40] 0,47 0.47] 0.38] 0.41
'TN wg/) | 0.7410.79]0.8|0.78] 0.8 | 0.75[0.86[0.73]0.79 [ 0.62]0.67] 0.69[0.79] 0.686 [ 0.57
D:PO4—~P [ mg/1 [0.004[0.001]0.000]0.019]0.060]0.031]0.045]0.040[0.028]0.007]0.007]0.008]0.018]0.009]0.004
D:TP mg/1 [0.027]0,036]0.017]0.0356] 0.086]0.048[0.069]0.074 0. 066 0.020{0.019]0.026]0.030]0.026] 0. 016
‘p.TP mg/1 | 0.086(0,075(0.067[0.091]0.056]0.080]0.095]0.071[0.079[0.0800.076]0.078]0.095] 0.076] 0. 068
IC ng/1 [ 17.9] — - 1.7 = — |11 = ~ |16.8] = [16.4] — = [ 141
TOC we/l | 7.9 [ 7.4 6.t |6.8]62 627t ]62]70]62]6s5] w9]s82]64]s65
'Tc ng/l | 26,8 — - |235] — — [242] - — |20 = [8.3] — — [ 20,8
D:0OC mg/1 ] 3.0 42 3.9 |47 dd| 4145444246 a7 46|41 ]42] 370
'P.OC g/l [ 4032 2221821261828 16 18] 3384t 22]as
D:Fe mg/l | 0.00] — — Joos] — ] — Joot| — | — Joo2] = Jood| — — 002
D+Mn pg/l | 0.00 [ — — lo.00] — — (o000 - — o000 = Jo.00] = — [0.00
F e ng/1 ] 0.26 | — — o041 - — o568 — - [o13] — Jo32] — ~— 10,29

Mn og/l | 0,06 — — 10.05] = — 1006 — — [o002] = Jo.03] ~ — 10,03

B R B T17.0] - — [12.4] = - [1s] — — Jto.a] — [i85] —~ ~ [ 9.3
BEBQC) | us/cn| 32 — —- | 3] — — [ 336 | — — [ 336 — |30 — — | 332
Ca mg/l [ 19.3] = — [19.3] = - [20.5] — — 200 — [19.6] - — [ 18.2
Mg mg/1 [ 9.20] — - [s8.41] — = |44d2] — — |9.43 — [9.3%] — — [ 9.52
pH4. 87V V| me/l [ 6801 — — |60.4] — — [66.3] — — [63.9] — [es2] ~ — | 56.8
p HY, 0% # g/l [ 6.48] — — [10.90] — — (8.8 ] — — J2.00 ] = ]6.8] — — [ 7.48
pHY.0OZWAUE| mg/1 | — - - | =1 = = — — — = — - - — —
S04% mg/l | 22,1 - - |36.1] — ~ | 349 - — [36.0] = [34s] — — | 20.4
cl- wg/1 | 48.6 | — — 413 - — [49.3] — — [s6.3] = [o62.9] = — | 42,3
Na we/l | 33,7 — — [32.5] = - 1] — — 39,2 — J40.3] — - [ 36.1

K o/l [6.10] — — [s5.42] - — 2] - — 608 — |e694| - — [5.78

T - §i0, wg/l | .00 — - |26.8] — — e —~ — (9] = T1as] - — [1L5
s U ug/l 6.76] — — [13.89] — - lwal - — (860 — [6.80] — — ['5.30
Chl-a ng/1] 27,8[50.6] 40.56] 26.1] 22.9] 68,6 62,0 42.6 52.5-| 67.2 | 64.3 | 60,6 65.4 | 73.0] 23.2
Chi-b pe/t] 123848069 60]62]s64]60]40]36]1.3]32]1, 3.4 2.5
Chl-¢ pe/t] 0.3 [ 6.8 ] 8.7 |11,4] 82 | 136! 3.6 6.8 2.6 | 16.6] 6.1 [16.7] 11.9] 13.6] 6.6
JaAI4FY |ue/ 1| 32.7] 2.6 | 170 13.1] 14.2] 8.3 | 24.3| 2.9 [ 68.0 3.6 | 86.3| 22.4 [ 13.1] 6.8 | 9.4
K > stmgienl | me/l | 0,00 — — [o.00] — = oot — — loo] - Jou| = — | o.00
2-MIB [ueg/1]0.014]0.006]0.004]0.005][0.003]0.001]0.000]0.001]0.000]0.000][0.002]0.000]0.000]0,001]0.00L
JFAZ | pe/1]0.003]0.002]0.002]0.002[0.001]0.000]0.001]0.001]0.001]0.000]0.062]0.001]0.000]0.001]0.001
VR | ag/l | — — — — — - = = — — - ~ - = —
[FE53 HHIOEBRAROHEIZL D RDE, . 3, P-ON=(ON)—(D-ON) 6 P-TP=(TP)~(D-TP)

1, P-COD=(COD)—(D-COD) 4 D-TN=(IN)+(D-ON) LTC=(I1C)+(TOC)
2, I N=(NH4{~-N) 4 (NO2-N) + (NO3I-N) 6. TN=(IN)+(ON) 8. P-OC={T0C)—(D-0OC)




KEER (FD1-3) .
B L e A B I EA YA 1% 1 34E (Q0014E)
H

B | By | 11213 11/20] 1274 (12711 12/18 | kil | B ME| S iE
FEECENE- AN AN

PR —
FKFA 2 | 8:00 | 7:30

7:26 | 8:10 ] 8:07
LK m |6.10]6.83]6.91(6.95(6¢6.10
KK m | 0.50[ 0.607] 0.50] 0.50 | 0.50
& Cc 138 1l.o] 82 68] 6.8
K B T (18,019 10.2] 8.8 7.6 ] 28,4 3.0 [ 15.4
L Y — | uovma| v e | sows | soea
R & (ak) R AETIE AR AR
frigind cn |30.0]27.0]23.5]19.0] 24,5
B m ] 0.68]0.68]0.701]0.62]0.62] 0.96]0.38] 0.57
K_f — 16 16 17 17 17
pH — | 804]832]8658(816]794] 868770/ 8.10
DO mg/t | — — [10.714] - — |12.96[ 6.79 | 10,08
BOD mg/l | - — J1.86] — ~- 443109 ] 2.46 |-

“COD () mg/} | 6,74 ] 6,81 | 6.67] 7,41 ] 6.52) 7.88 | 6.36 | 7.23
D:CODMn | mg/1 | 4.91 | 4,02 402474 4.62] 5.44 [ 4.02 [ 4.80
‘P COD@n) | me/1 | 1.83 | 1.89 ] 2.65[ 2.67[ 1,90 3.48 | 1.38 [ 2,43

CoD(¢n mg/1 - ~ [14,99] — — | 17,91 ]14.99] 16,27
D+ COD(Cr) | mg/l = — 188)] ~ — ] 11.66] 8,30 { 9.65
SS wg/l | 11,6 12,0 16.6] 19,5 ] 15,0 30.5 | 9.6 | 14,6
KBRS i) — — |T.9BH] - — ] 1.9B+3)2.08+1) 3. 3842
TN mg/1 1 0.68|1.10)0.80]0.79| 0,71 ] t.36 | 0.66 | 0.87

TP mg/l ]0.078/0.080(0,092]0.105/ 0,094} 0. 184 |0.068] 0. 100

NH,—N mg/l | 0.03]0.01]0.05[0,0t[o.0t]0.19]0.0f]0.03
NO,—N wg/1 [0.004]0.002]0.008]0.003]0.002] 0.047[0.00t]0.010
NOs—N mg/l | 0.44 [ 0.00 [ 0.06 | 0.04] 0.04 | 0.44 | 0.00 | 0.08
'IN mg/1 | 0.47 ] 0.00] 0.11] 0.05) 0.05] 0.47 ] 0.01 | 0.12
ON mg/) | 0,60 ] 0.59]0.69]0.74]0.64] 0.94 [ 0.51] 0.7t
D:ON mg/l ] 0.36]0.37[0.36 ] 0,40 0.3¢4] 0.48 [ 0.32 ] 0.40
'p.ON mg/1 | 0.24 [ 0,231 0.33]0.34] 0.30] o0.60 [ 0.1t [ 0.32
‘D' TN wg/1 1 0.83]0,38]0.47]0.46]0.39] 0.83 0,12 ] 0.49
'TN wg/l [ 1,07]0.60[0.80] 0.79[0.89] t.24 [ 0.57 ] 0.83
D:PO4—P | mg/1 |0.004]0,004)0.007]0.006]0.005] 0.050] 0.000] 0. 010

D:TP mg/1 [0.016]0.017]0.016[0.019]0.016] 0.086] 0.009] 0.030
‘P TP wg/1 [0,062]0.083[0.076]0.086[0.078] 0.110]0.049] 0.070
1C we/l | — — [ 149] = — [ 17,9 13,3 ] 15.1
TOC wg/) | 6.6 | 6.1 |62 72[68]382]s66] 170
‘TC g/l | — — 1] = — | 25.8 [ 20,0 22.1
D-0OC mg/1 | 4.4 | 4.4 | 3.6 | 41| 4 0] 4.8 | 3.5 | 4.2
‘P.OC wg/t 2.2 [ trlan s as] 40 ] 16 2.7
D:Fe g/l | — - 1003 — — | 0,06 [0.00]o.03
D+«Mn ng/1 - [ = loo00] - — ] 6,01 { 06,00/ 0.00
Fe og/l | — — o030 ] - — | 0.68]0.13] 0,29
Mn wg/l | - — [o04] — — |o.1t]o02]0.08
B B B — — 131 - — 185 9.3 [ 14.2
HARQ0C) | ns/cn] — — |30 | - — | 350 | 313 | 329
Ca e/l | - - |18.9] = — | 20.5]18.2] 19.2
Mg g/l | — - [86] — — | 9,60 | 4427 8.62
pHLSZ VA VE| ng/l | — - [e2.0] = — | 66,3 | 56.6 [ 62.3
p HY. 02 | wg/1] — — [ 144 = — [ tdd] 2.0 ] 7.4
pHY. 07 )Vh 1)1 g/l — — — — — - - -
S04°%° g/l ] - — | 28.8] — — | 38.7] 22.1 ] 32.2
cl- g/l | — — [40.6] — — | 56.3 | 29.6 [ 46.5
Na wg/l | — — [ 32.0] - — | 40.3 ] 32.0 | 35.1
K ng/l | — - |60t — — | 694 4.72]56.74
T + §i0, neg/1 | — — 1.4 = — | 266 7.0 (153
HaUh e/l | —, | = 1]508] = ~ |18.42] 5.08 ] 9,30
Chl-a g/ 1] 68,2 [ 64,17 68.6(83.1/63.2] 83,1 22.9]60.1 :
Chl-b peg/1] 2.9 ] 30 40| [ 38] 7.9 1.2 45 [+1oEARAROEICLDRDE,
Chl-¢ pg/1] .81 9.0 9.8 [17.0][12.6]17.0] 0.3 [ 8.6 l1.P-cOD=(COD)—(D-COD)
JxAx74Fy (pe/1] 4.3 | 6.0 [24.2] 0.0 [ 0.7.] 68.0] 0.0 [ 13.0]2. I N=(NH4-N)+(NO2-N)
B4 o REEes | we/t | — ~ [o.00] = — [ 0.0t [ 0.00] 0.01 +(NO3-N)
2—-MIB _[ug/1]0.002]0,000]0,006]0, 004]0.006] 0.125 | 0,000] 0.020]3. P~-ON=(ON) — (D-ON)
PAAI  |us/1]0.001]0,000]0.002]0,002]0.003] 0.026]0,000]0.016]4. D~TN=(IN)+(D-ON)

v anen | me/1 ] — —~ |6, TN=(IN)+(ON)

{il# 6. P-TP=(TP)—(D-TP)
1. TC=(IC)+(TOC)
8. P-0C=(TOC)~(D-0C)




KEEX (FD2—-1)

R WD) KHH FARI IGIIES = Da JEr 342 (20014F)
" Bo| B | 1/9 ) 1723 1/30 ) 2/6 | 2/13 ) 2/20 | 3/6 | 3/13 |-3/21 | 4/10 | 4/17 ) 4/24 | 5/8 | 5/15 | 5/22
TN.EF mg/I | 1,05 ] 1.30 [ 1.81[0.94 [ 1.36 [ [, 18] 1.15] 0,91 | 1.00] 0.92] 0.85] 0.83 [ 0.76 ] 0.73 | 0.178
TNHE mg/l [ LU — [ —Jogo] = [ —Trie|] — [ -1 =108 ]| — [o72] - | —
TNTRE mg/l [L10] — | = Toor| ~— T —~T1eio] =1 — T —"Tosr| — o] — | =
TP LE mg/1 | 0,119]0,058] 0,086 0.090]0.072]0.092]0.085]0.077]0.086[0.102]0.093]0.121]0.116]0.097]0.076
TPHE meg/1 10.119] — | =~ Jo.093] — [ — (0088 — | — | — ]0.098] —~ |0.122] — | —
TP T mg/1 o119 — | — To.095] — | —T0.09%] — [ — [ — T0.099] — Jo.122] — [ —
CODER | me/l | 7.00]7.48]7.03 | 7,52 7.14 | 7.76 [ 7.66 | 7.41 | 7.48 | 7.46 | 7.17| 7.85 | 7.62 | 7.83 | 7,17
copdg | me/l 837 — | — l78a — [ — 76| — | — | — [61[ — [741] — | —
CODFjg- |mg/t |832] — | — |68 — | — 78] — [ — ] — [7.44] — [768] — | —]
ki KB C | - ] - -1 T -1 ~T -7 =T -T=-1T-T=T-1T-T-=
#im| ‘C | 3.7 [32[30]33]35]|39]64][67]|88][136]16.0]157]16.6]19.1]19.8
0.6m| C | 87| 32|30 83]35]397]64]|67]| 88]13.6]160]157]164]19.1]19.8

1om| C | 37[32]31]|33)]|356]|39]|64]66]88]136]60]16.7]16.4]19.1]19.8
2.0m| C [37[32 31 [33[34]39]63]66]|88]135]159]165.7]16.4]19.0]19.8

30ml € |87 {32 {31[33]341(139]|¢63]|66]|88|(36(169](5.7]16.4|19.0] 19,8

40m| C |87 (3231333439 63][66]88][13.5][159]15.7]16,3]19.0]19.8

5.0m[ C [ 3.7 [ 33|31 [34]|84]389]63]|65b]|88]|134]169]1(57]16.3]183]19.8
60m| C |37 [3432[34] — |39] — 6588128169 — |16.2] 183 —

EE| C [3.7]34|32[34]34]39]63][66]| 88|128[159]157]16.2]183]19.8

# DO kE[meg/1 [ — [ — ] =T - T -1 T - =T -"T~-T-T-T-T-T+-=
#ifi| mg/1 | 12.4[ 100 96 [ 9.6 [11.6[12.0[109[11.2] 9.9 | 87 [ 76| 7.6 | 7.8 | 82 | 5.9

0.5m| mg/1 | 12,2 9.9 | 9.4 | 9.6 | 11.8]12.0[10.9] (1.2 9.8 | 87| 7.4 | 7.5 | 7.8 | 8.1 | 5.9
1.0m| mg/1 [12.0] 9.9 9496 11.9[(20[10.8]11.0] 9786|7376 78] 81| 6.9

2.0m| mg/1 [ 12,0 9.8 | 9.4 [ 9.6 [(1.9]1L.9|10.8] (1.1 97| 86 7.3 [ 75| 7.8 7.9 5.9
8.0m| me/1 [ 11.8] 9.6 [ 9.3 [ 9.6 [11.9] 16,8107 10.0] 9.7 [ 84 [ 71| 76| 7.8] 7.9 | 5.8
4,0m| mg/1 | 11,6 9.1 [ 9,295 |16.9[(0,7]10.6|10.7] 9.2 ]88 |70 7.6 78] 79] 5.8
6.0m| mg/1 [ 11.4] 89 [ 9.2 ] 95 [12.0]10.5]10.6][10.5] 9.2 | 7.8 | 68| 7.6 | 7.8 ] 6.0 | 6.6
6.0m| mg/1 [ 11.,2] 909091 — |10.3] — [10.3] 89 [ 68 66| — | 7.8 | 6.1 | —

JER| me/1 | 10,0 8.6 | 9.0 [ 9.0 [ 12,0 14,1106 10.2] 88 | 6.0 | 6.7 | 7.5 | 7.8 | 5.0 | 6.0
RepfRE kB[ Tux [ 100407 2291 | 21530 2623 | 6170 | 4030 | 63000 16090 45700] 40600 | 11250 | 20340 | 10510 | 90010] 7760
| Lux | 9360 | 1736 | 19160] 2174 | 2960 | 2376 | 44700] 9620 | 37500 | 29860] 9540 | 11800] 3270 | 81400 5360

0.6m| Lux | 2570 | 894 [ 6140 | 6509 | 1457 | 894 [14890] 4220 | 9830 | (2650 3310 | 4620 | 1247 | 30800 2560

f.om| Lux | 450 | 408 | 2889 | 230 | 702 | 361 | 5690 | 1898 | 2426 | 4120 | 982 | 2790 | 306 | 11260 1083
2.0m| Lux | 153 | 115 | 574 | 43 | 188 | 103 | 1499 | 371 | 415 | 690 | 208 | 217 | 63 | 2378 | 176
3.0m| Lux | 80 | 61 | 140 [ 7 [39.2| 29 [ 297 | 70 | 116 | 102 | 47 [ 33 | (2 | 422 | 37
4.0m| Lux | 6 | 10| 4 | 1 8 | 6 | 59 | 18| 18 | 17 | 00| 19 | 2 |l | 7
5.0m| Lux | | 3 | 3] o[ °3 L3 4] 43 2 | o] o2 [ 1|
6.0m| Lux | 0 [ sl o] —-T o[ —=Tolololol~-1T9oe¢|~]

B Lux — — — - — - — — — — — — — —
JEJEREORP | Y | 149 [ 126 | 182 | 161 | 85 | 196 | 140 | 83 | 138 | b2 | 33 | 68 | &7 | 177 | 164

%
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KEHER (ZD2—2)

B W | KR FITEN] \IHIER B R348 (200148)
. | Bifr | 6/5 | 6/12| 6719 /3 | 110 | /17| 8/7 | 8/14 | 8721 | 9/19 | 9/25 | 10/2 | 10/9 | 10/16] 11/6
TNLE me/1 [ 0.74 [ 0.80]0.83[0.79]0.87]0.83 ] 0.87] 0.73] 0.84] 0.60] 0.68 | 0.73 | 0.82 | 0.66 | 0.865
TNHE mg/1 | 0.718] — — Jon| — | = los8| — — |06 — [0.73] — | = 0.6
TNTFE mg/1 | 0.70 [ — — o8] — | = o8] — — Jo.60| = Jo1] — — | 0.7
TP L mg/1 |0.113]0.111]0.084]0.126] 0, 111]0.128]0.164]0, 145[ 0, 145|0.100]0.095]0.103]0.125]0. 102[ 0. 074
TPHE mg/1 [0.106] = — o106 = [ = To.164] — — Jo.095] = To.099] — | = Te.077
TPFRE - | mg/t Jo.114] — — Jo.227] — [ = TJo.166] = — Jo.130] = o1l = 1 = Jo.080
COD.EE mg/) | 7.88 ] 7.12 [ 6.44 | 6,79 6,46 | 7.91 | 7,51 | 6.97 | 7.62| 7.17| 7.46 | 7.74 | 7.76 | 7.03 | 6.36
CODHIg ng/1 | 9.01 | — — |657| = - 189 ] — — [ 8.20] = 1.5 — — | 6.52
CODTE we/t V.30 — = J7.66] — | —13806] — — (78] =188 — | = %389
KB KE[ T — — - -1 =1 =7T= — — [ = - | = — | = =
FEi| € | 23.4] 22,0 22.1] 26.1] 26.6 | 28.4 | 25.8 | 25.6 | 24.7 | 25.3 | 20.8 | 20.5 | 19,0 | 18.6 | mawm

0.5m| € [23.2]22.,0] 22.2( 26,0 76.8] 28.4| 25.8 | 25.6 | 24.7 | 25.3 | 20.5 | 20.5 | 19.0] 18.6 | 16.1

1.L0m| € [22.9]22.0[22.0][26.0] 26.8( 28.4 26.7] 25.6 | 24.7] 25.3[ 20.67] 20.G | 19.2 | 18.6 | wewn
2.0m[ € |22.9[22.0( 21.6[ 26,0 26.8] 28.4 26,7 26.6] 24.81 25.2 [ 20.3 [ 20.5 [ 19.3 | 18:5 [ mww |

3.0m| € [22.6]22.0[ 20,6 25.9] 26.8] 28,1 25,6 26.4 | 24.8 | 25.2 | 20.0 | 20.5 | 19.3 | 18.5 | mewm

4,0m| C [22,6] 22,0 2.5 25.6 26.8 | 28.0 | 25.6 | 26.4 | 24.8 | 25.2 | 20.0 | 20.5 | 10,4 | 18,4 | mexnm

5.0m| € [ 22.6]22.0[20.6] 26,4 26,8 28,0 26,6 | 26.3 | 24.8 | 26.2 | 20,0 | 20.5 | 19.6 | 18.4 | werw

6.0m| T [22.4] — - — =1 =1 = — — [ 2.0 — [20.6| — | 18.4 | mewa

BE| C | 22,1 [ 2%.0]20.6]25.3] 26.8] 28,0 25.5 | 25.2 | 24.8 | 25.0 ] 20.0 ] 20.5 | 19.3] 18.3 | mewm

#D0O KE[me/1| — — = - | =1 =1= — - | =1 =1- - | - =
‘ Fif| mg/l | 6.7 [ 6.8 63 [ 6.7 496749 1] 7881 [92]76][380] 82 [wsw
0.6m| mg/1 | 6.7 ] 65863 |67 49]66] 49 717281 ]02]175] 797 s2]uwm=

{.0m| mg/1 | 6.6 [ 6.8 ] 6.3 | 56| 49| 6.6 | 4.8 | 6.7 | 7.2 | 80| 9.1 | 7.5 | 7.9 | 8.2 | mexw

2.0m| me/l ] 6.3 [ A8 [ 6367l 4o leasl a8l el ot ot 74 797 8.2 [amwn

3.0m| mg/1 | 57 58] 63|56 49606 4968 7.1 70900/ 7.4 7.8 8.2 | wwrm

4.0m| mg/T1 | 6.4 | 6.8 6.2 | 656 | 4.9 | 6.6 | 4.6 | 6.0 | 7.1 | 7.6 | 8.8 | 2.4 | 7.8 | 8.1 | mewn

. 5.0m|mg/1 | 5357 23|54 496545 36| 7.1 |66/ 85| 7.4 | 7.7 | 8.1 | mewa
6.0m| meg/1 [ 3.8 — | — - | =1= — - — 38| =T 73] = 7.9 |wemm

& me/l | 3.1 [ 6.2 [ 20 29 2366 44 8.4 68 3.8 80| 7.3 7.0 | 7.5 | seww
RebidE JkE| Lux [67200] 4720 | 1021 | 10300] 10500 | 4280 | 5940 | 9760 | 4070 | 8200 [ 484001 9460 | 16420 34100 3530
| Lux |41900] 2960 | 828 | 7370 | 7770 | 2950 | 4210 | 6260 | 2890 | 6460 | 32700 6840 [ 12650 | 29100 2165

0.5m| Lux [19570] (072 ] 280 | 1990 | 1499 | 660 | 1110 | 1984 | 842 | 2332 [ 11200] 1979 | 2432 | 7450 | 660

1,0m| Lux | 6740 | 364 [ 110 | 710 | 422 | 247 [ 257 | 890 | 400 | 1376 | 2810 | 858 | 951 | 2772 | 358

2.0m| Lux [ 1469 44 [ 13 ] 60 | s | 48 | 35 | 108 | 49 | 273 | 430 | 122 | 88 | 269 | 101

3.0m| Lux | 267 | 3 1 3 2 1 1 |14 8 TR 8 27 | 38

4. 0m| Lux | 54 0 0 0 0 0 0 2 2 2l 8 4 0 30 5

b.0m| Lux | 12 | — 0 0 0 0 0 0 0 5 2 0 0 0 0

6.0m| Lux | 0 — — - | =1 -1-= - - 0 — 0 — 0 0

B Lux — — — — — — — — — — — — — — -~
ERHLEORP | oV | 172 | 186 | 143 | 97 | 76 | 204 | 82 | 213 | 208 | 65 | 204 | 128 | 184 | 0224 | meww

= + DOWD OgMz L B HIERIE




KEFER (02— 3)

[ R R N B AR A TR L% 1 348 (2001 4E)
T B | B | 11/13] 11/20] 12/4 | 12/11 | 12/18 (oA i e/l 19 f#
TN_EE mg/1 J0.68] 110 o0.80fo.79]0.71]1.36]0.55] 0.87
TNHF g/l | — — 0.8 | — — |12 0.657]0.79
TNTRE ng/l | — - o8] — — [ 10]0.57] 0.8
TPLE ng/1 |0.078]0.080]0.092]0.105]0.094]0.164] 0,058 | 0. 101
T PHE wg/1 | — -~ |0.088] — [ — Jo.184]0.077]0.103
TPTFE mg/l | — = To.092] — — To.22770.080] 0.121
CODLE me/l | 6.74 [ 6.80 ] 657 7.41]6.62) 7,881 6.36 | 7.24
CODHIE g/l | — — [6.98] — — |9.01 | 6.52]743
CODTIE ng/l | — — [ 7.16] — — | 8.6l 6.8t ] 7.45
KR KEl C — — — — —
#ml € | 13.0[11.9(10.2] 8.8 7.6
0.bm{ € |13.0]11.9]10.2] 8.8 7.6
1.om{ C [13.1]11.9]10.2] 8.8 | 7.6
2.0m| C Ja1]1.8]10.2] 88 7.5
3.0m| € |11l 710.21 881 1.5
40m| C | 13.1]1.7]10.2] 88| 7.5
5.0m| € [1a.1 |17 10.2] 8.8 7.4
6.0m| € |13.1] — — — | 1.4
g ¢ [t 10.2] 8.8 7.4
*DO  KE| ng/l — — ~- — —
FE| me/1 | 8.8 ] 9.7 9.2 9.4] 9.7
0.5m| me/1 | 8.6 | 9.7 [ 9.2 947 9.6
1.Om| meg/1 [ 8.6 9.7] 9.2 ] 9.4] 9.5
2.0m| me/1 | 8.6 [ 9.7 92 ] 9.4 9.5
3.0m| mg/1 ] 85| 9.7 9.1 ] 9.3 [ 9.4
4.0m| me/t | 8.3 ] 9.7 9.0] 9.3 9.3
50m| mg/1 | 8.3 9.7 8.8 ] 9.3 9.3
6.0m| mg/l | 8.2 — — — 9,2
| me/1 | 7.9 ] 9.6 [ 8.6 9.3 9.2

[
|
l

Kb KE] Lux [38900] 26790 1068 [ 193807 62000

Zim| Lux | 28100] 11170] 800 | 14190] 26750

0.5m| Lux ]10280[ 3030 | 507 | 4330 | 9480

1.Om| Lux | 4930 | 1505 | 98 | 1230 | 2580

2.0m| Lux | 666 | 186

3.0m| Lux 116 26

5.0m| Lux 3 0

15
3

4.0m| Lux 21 4 0 2 7
0

6.0m| Lux 0 -

JER| Lux — - — -

l

BRELORP | w¥ 147 | 213 | 116 [ 115 | 233

D * DORDOFHz L B HEHE




RAEHLR A (A

HRBIRAERRE (E01)

&

e FIDTE B kKO B Fiz LR,
B FH£COD (P-COD) = (COD) — (D-COD)
BEFHEATIREEE (P-TOC) = (TOC) —(D-0OC)
VAR (D-T—N) = (D-O—N) + (I~N)

BFHEATHIEER (P-O0~N) =(T-0~N)— (N-0—N)

MEBUNEREFE (1—N) = (NH,—N) + (NO,—N) + (NO,—N)

HTFHERY (P-T—P) = (T—P) —(D-T—P)

HE EofR%EHE (T—N) = 0I—N) + (O—N)

FELI3E(20015F)
v v v v v v v v v v v T' T
WIEE

19 | 123 | 1730 | 266 | 213 | 220 | 3/6 | 3/13 | 3721 | 4/10 | 4117 | 4724 | 5/8 | 515 | S/2 | /5 | 6112 | 619 | 73 [ 710 | 7117 | 87 | &/14 | &1 | 919 | 925 | 1072 | 10/8 | 1018 | 116 | 1113 | 14720 | 124 | 12011 | 12418 {Boii | SR T
5 H A
pH —| 826 | 794 | 791 | 772 | 750 | 777 | 813 | 796 | 7.74 | 788 | 844 | 805 [ 791 | 772 | 761 | 770 | 778 | 825 | 876 | 852 | 880 | 845 | 891 | 8Et | 841 | 850 | 845 | 828 | 836 | 825 | 835 | 8% | 635 | oS | 780 | 891 | 7.0 | eae
coD mgl| B67 | 969 | 58 | 908 | B.16 | 886 | 944 |1025 | 852 | 834 | 909 | A75 | 7.63 | 769 | 7.06 | 648 | 722 | 666 | 775 | 794 | 862 | 949 |1040 | 055 | 825 | 956 | 050 | o52 | 603 | 853 | 816 | 877 | 904 | 750 | 808 |10.40 | €48 | 84
FfRHECOD mgl| 646 | 7.07 | 666 | 620 | B46 | 652 | 587 | 596 | 554 | 555 | S44 | 528 | 580 | 502 |-461 | 502 | 534 | 518 | 536 | 528 | 665 | 718 | 6896 | 734 | €44 | 658 | 797 | 628 | 678 | 544 | 524 | 594 | 573 | 500 | 573 | 734 | 41 | 6o
B FECOD % mgl| 321 | 262 | 282 | 289 | 172 | 244 | 357 | 429 | 298 | 279 | 365 | 347 [ 213 | 267 | 245 | 146 | 188 | 148 | 240 | 266 | 197 | 231 | 344 [ 221 | 182 | 286 | 233 | 324 | 227 | 309 | 204 | 283 | 331 | 250 | 235 | 429 | 148 | 266
SS mgil| 182 144 202 158 137 13.0 15.0 2 1.0 142 162 162 1n2 108 8.4 82 10.6 102 105 10.0 14.0 18.0 125 14.0 120 122 125 186 132 126 120 14.0 144 120 132 72 2 141
FrHRSR mgl| 87 | 84 | 80 |82 | 75 |81 |83 |97 |73 |74 |67 |76 |68 |63 (69 |59 |70 |83 |61 |72 |75 |84 |95 |1 |70 | a5 |84 |69 |88 |80 |72 |71 |88 |61 |75 |s7 |s6s |78
TERRAMEAT IR 7 | meh| 60 65 59 53 54 54 42 4.6 48 42 42 47 38 45 52 34 5.0 45 39 42 52 65 45 65 37 47 BS 33 47 48 5.0 57 22 48 49 68 2.2 48
BT RNR * (me( 27 [ 19 | 21 |28 |25 [27 |41 [s1 |25 [32 [45 |20 |29 |18 |17 |25 |20 |18 |22 [3p [23 |19 |50 |26 |33 |38 |19 |56 [41 |32 [22 [14 |66 |13 |26 |66 |13 | 2
rreEd mgl| DS7 | SO | 07 | 104 | 0S4 | 0865 | 103 | 106 | D94 | 087 | 085 | 088 | 078 | 083 | 076 | 075 | 072 | 070 | 081 | 105 | 142 | 120 | 082 | 08 | 089 | 105 | 093 | 093 | 08s | 095 | 088 | 085 | 065 | 075 | 07s | 120 | 070 | 02
FEAAMEARZEAE %k men| 047 | 051 | 048 | 05D | 047 | 050 | 040 | 054 | 037 | 044 | 028 | 043 | 029 | 036 | 036 | 029 | 033 | 035 | 034 | 036 | 049 | 052 | 045 | 049 | 039 | 051 | 045 | 042 | 051 | 038 | 034 | 039 | 035 | 027 |07 | oss | 027 | 041
Eapchiesed wgh| 053 | 083 [ 087 | 1,03 [ 051 | 043 | 1.02 | 1.05 | 093 | 065 | 096 | 083 | 0.79 | 083 | 078 [ 073 | 072 | 069 | 082 | 105 | 113 | 137 | 080 | 089 | 1.00 | 1.06 | C82 | 056 | 083 | 093 | 088 | 085 | 087 | 072 | 077 | 147 | o9 | osm
ARG 5R | men| 036 | 049 | 043 | 05t | 038 | 042 | 036 | 046 | 035 | 07 | 027 | 04t | 627 | o35 | 035 | 028 | 031 | o3 | 032 | 036 | 048 | 048 | 040 | D4S | 035 | D4V | DO | D41 | 047 | 036 | 032 | 035 | 035 | 024 | 035 | 064 | 024 | 038
hL THEATHIBEE % (men| 0.55 | 044 | 054 | 052 | 053 | 051 | 0.66 | 057 | 058 | 048 | 069 | 047 | 052 | 048 | 0.43 | 044 | 041 | 037 | 06O [ 070 | 067 | 069 | 043 | 051 | 061 | 057 | 048 | 055 | 046 | 057 | 056 | 050 | 052 | 048 | 041 | 070 | 037 | om
TE=YLAIBEH (mgh| 002 0.01 c.c2 0.2 o2 0.0 o2 0.05 0.01 0.04 0.0 .ot 0.01 0.00 0.00 c.00 c.o2 0.02 0.01 oot 0.02 .04 0,02 c.o c.co .02 0.02 201 0.04 0,02 0.02 0.03 0.00 o3 0.01 0.08 0,00 0.02
AR me| 0004| 0003| 0.009| 0005|0004 | 0.007| 0005 | Doo2| 0.083| 0003| 0.001| 0.004| 0001| 0.001| 0.004| oovz| 0.003| 0006 | 0oo1| cooo| o.o04| oooz| coos| coss| oozl oozl coot| aoot| acos| aowe| cowe| goms| cooe| cooz| oeoz| coos| ossel cges
FRRIREEH mgl| 007 | 001 | 002 [ 006 | 007 | 006 | 001 | 001 | COT | 000 | 000 [ 0ot | 001 | oot | 0O1 | coo | 000 | 000 [ 001 | 001 [ 01 | 000 | 001 | 000 | 000 | D00 | 000 | 000 | 000 | 000 | 000 | 0 | 000 | 000 | 000 | 007 | 000 | 001
%ﬁﬁﬁ% * mgl| 0.09 002 0.05 008 0.08 0,08 0.04 0.06 0.02 0.04 0.0 o.02 0,02 oo oo 0.00 002 0.03 o.02 0.02 0.03 0.04 0.04 0.01 0.00 o.02 0.02 0.01 0.04 0.2 0.02 0.04 0.00 0.03 0.01 0.09 0.00 0,03
[=IMg mgl| 0.078| 0.074| 0077 | 0100| 0.071| 0O72| 0.074| 0089 | 0.068| 0087 | 0080 | 0080 | 0074| 0077| Q069 | Q.070| 0.072| 0073 | 0.073| 0070| 0.137| 0253 0237 | 0243| 0158 | 0185| 0138 | 0108 | 0.105| 0094 | 0090| 0.085| 0.084| 0079| 0o72| 0263 | 0.088 | 0.103
EARAERBY > myl| 0.022| 0030| 0030| 0029| 0023| 00307 0028 | 0025 | 0.017| 0031| 0023| 0.020| 0026 0024 0.022( 0022 | 0.021| 002| 0.022| 0024| 0072 0A7S| 0178 | 0164 | 0.088| 00B2| 0071 | 0841 0.041| 0025| 0023| 0017| 0018| 0020| o8| 0478 | 0087 | 0.044
BIFHEREYL % [meft| 0056( 0044| 0047| 0O71| 0048| 0042| 0045 | 0064| 0.051| 0.056| 0.057| 0.070| 0.048| 0053 | 0.047| 0048 00S1| 0.051| 0051 | 0048| 0.065| 0.078| 0.058| co7e| 0o71| 0os4| 0067 0.067| 0.064| 0060 | 0.087| 0063 | 0.065( 0.053| 0.054| 0.084| 0.042| 0.088
oty tsys | men| 0002 | 0.002| 0002| 0002| 0003 | 0.003| 0003| 0004| 0.002| 001 0002| cooz| 00%2| 0004| 0.002| D000| 0.003| ooo7| o002 oocoz| 0054| oas2| 0447| 014s| 0065| 0054| 0045 | ooaz| oc2e| o00s| 000s| com| cooz| ooce| ooms| ois2| veoo| cezm
rongna wpl| 782 |655 |666 (832 |665 |52 |72 |701 |455 |455 |424 438 (307 |64 |83 |264 |274 |305 |S87 |698 |693 775 |4B7 |67.0 (558 |6B8 |524 [611 |524 |67.7 |76 |73 |ses |03 |485 [sm2 |23 |66t
D= 29V ugh| 05 | 04 | 10 [a5 [17 | a3 |01 |02 |26 |03 |05 |01 |07 |08 |04 (05 |01 |07 |03 [03 |04 |09 |07 |05 | o3 | 04 63 |01 |03 [20 |04 |06 |19 |32 |3z |az |01 | o8
unzgnc ugh| 87 | 61 | 56 |86 | 76 |81 |13 |59 |91 |42 |42 (48 |28 [43 [ 24 | 17 |16 |42 |12 |12 |23 |32 |30 [30 [45 |72 | 48 |50 |48 |87 |13 |16 |95 |91 |97 |18 |12 | 68
2T 4T ugh| 258 |39 |3/E |82 |T6 |23 |21 |186 158 |135 | 31 |198 |10 |18 |11 | a9 |67 |86 |22 |73 |17 |36 | 84 |147 | 80 |130 [126 [141 |126 |89 |14 |127 |73 |122 |210 |8 | 22 |62
HHELoRZER* |meh| .02 | 095 | 102 | 141 | 100 | 101 [ 105 | 141 | 095 | 089 | 0S7 | 080 | 061 | 084 | 079 | 073 | 074 | 072 | 094 | 108 | 146 | 121 | 084 | 100 | 100 | 108 | 084 | 097 | 097 | 095 | 080 | 08 | 087 | 075 | 076 | 121 | 072 | 094
CARI #gl| 0004| 0006( 0.008( 0007 0010 0Q.O08| 0.007| 0.011| 0.011 0.007 ( 0.005| 0.008| 0.018| 0.011 0013 ( 0.007 | Q.004| 0.005| 0.036| 0.028| 0.006| 0.001 0.001 0002 ( 0.002| 0002| 0003 | 0002 0003| 0002 0002 0.002| 0003 | 0005 | 0.004 0.036 [ 0.001| 0.007
2—MIB #el| 0002| 0003| 0004) 0003| QOOS| 06| 0S| QU22| 0034 | 0144| 04311 o183 0041 0008 | OOCE| 0004) OCG1| ©002| 0003) 0003 0.003) 0.009) 0001] DOOY| DODY| DOOY| 0.002| 0001 0.001 0.002| 0002| 0.002| 0,003| 0.005 | 0,004 0.183 | 0.001| 0,018

1) VHIORZEE T W TRENREL LI,




HRBAERREZ (£02)

WEHSL EBW K 134E(20014F)
v v v T v v | v K2 v v v v
IR !
R 1723 1730 2/8 213 | 2/20 36 313 | 31 4/10 417 | 424 5/8 515 Sz 85 812 | 619 73 7/10 mr 87 8/14 821 8/18 9/25 10/2 | 10/9 | 10/16 | 11/6 | 11113 | 11/20 | 124 | 12/11 | 12/18
4R Bz 4’ 4'
ERAEER WY 1244 | 1228 | 1222 | 1443 | 1430 | 11:48 | 1403 | 1020 | 11:32 | 1224 | 1148 | 1107 | 1055 | 950 | 930 | 1202 | 1313 |"e3 | 1238 | o35 | soz | 1350 7| 1400 2 | 1225 | 145 | 122 | 105 ’742 13294\ 115 | 13 | 1201 | s j
B |2l w|s|s|r|[5s|[w|[® |5 | s =& @« z|2|=z|2|«|w|2|=a|=|[z]|n w|w|s= ﬂ J aﬂ " & |
KR m G65| 6e2| 665| B42z| 650 665| 643| S585| 6e0| 665 o70| 695 o605| 65| 631) 63| 6de) 6| 65| 601) 66S) 58 S'si‘ 635| 675| 605| 68| 589 645 65| 6.36 1)
Rk m os0| oso| oso| o0so| oso| oso| os0| 0S| o050| 050 o050 m 0s0| os0| oS0 J a,soJ o,soj oso| os0| o50| oso| oS¢ usﬂ 05| 050 0S| 05| 050 DJ J osu| os0| o050 ﬂ ﬂ
pnil c 47 87 55 8s 4] T2l W8 42| S| 180] 205| 8S X 15| 240| 10| z0| 2| 245| 15| 27| 30| 27| 23| 0| 24| 248| 256| 25| 185| 168 | 172 13 98 E‘ i’
R HE m 052 04g| o031| 055 o060 051| 044| o022 043 o048| o052| o055| 060 o7s5| o088| o037| o061 o0&9| o052| o074| o056| 054| o055| o021| o058 o8| om| o044 o076| o&| o7| o7 ars air E
A - 16 16 17 u 16 16 16 16 © | 1 w | 157 16 16 16 15 17 16 6 14 13 16 17 16 16 18 7 7 17 7 17 16 a7 J
%] — [avstun|wnend) SRR | KRREE RONEE HOSAE| KATLR) ARRE ey e vmm:a‘[ HASRE| HOARE REAR FRER MwRed| Bea | Red | sed | #eeR £ wRes |nEwen| RAER | mwsen 4;;&3 i Voot st ME[
KR . - mR mR maeL mR R M R M MR R MR MR { "2 mR me ma ma R MR | ENR | RR miJ me M5 m;J MR m R mK mﬂ ﬂliﬂ MR HM ssm»ﬂ ﬂﬂ
[ERFTWORP |mV| 178 161 148 185 192 1% 35—[ 118 191 170 167 &4 J o | = 199 -0 184 12 k) 134J 141 A 184 | 280 {) 85 E3 1304] 74 |
EREE em| 208 51| 178| 2B 65| 240 212 { 21 za;s—| 21| 45 :n‘oJ 27.1J 249 7n3| 250 zs.oJ 73 | 0 | 268 55| 28 86| 340 mﬂ ato| 25| 20 75| =5
fdd | € a7 43 41 as &4 54 17, 163 195—) 205 | 244 | 20 J m.aJ 285 | 283 | 299 ESJ 75 | =2 | 8| 22| 203 | 188 | 198 | 166 | 145 | 125 | 109 %5 | 85
0.5m| C 47 43 41 3s 54 5.4 1s.ﬂ 15.3—[ 19.4—| 215 | 244 | 220 J 218 | 25 | 281 | 284 E'SJ 775 | 252 | 258 | 212 | 213 | 198 | 198 | 166 | 145 | 125 [ 108 96 85
1.0m| C a7 43 a3 3s 62 54 159 | 163 | 194 | 210 | 234 | 20 | 218 | 270 | 280 | 20 | 258 | s | 21 | 256 | 212 | 218 | 197 | 167 | 165 | 13 | 125 | 1w0s 96 85
2.0m| T a7 43 41 33 62 53 75 57 98 | 146 | 168 | 158 | 163 | 194 | 208 | 23 | 220 | 217 J 4 | 280 | 280 | 2659 | B0 | 50| 57| 29| W9 | 197 | 196 | 164 | 140 | 124 | 109 95 ﬂ
sk i |3.0m| € 47 43 40 as | 1 LA 74 57 97 | 145 | 165 | 155 | 163 | 184 | 206 | mo | 218 | 2 7J %2 | 278 | 288 | 259 | 256 | 209 | 267 | 206 | 204 | 196 | 195 | 163 | 137 | 124 | 108 95 8.4
.om| 47 43 40 as &0 50 74 66 87 | 144 | 164 | 155 | 63 | 193 | w4 | 2o | 219 | 214 J 263 | 273 | 67 | 258 | 254 | 48| 17 | 206 | W4 | 195 ) 194 | 163 | 138 | 123 | 08 85 i’
5.0m| C 47 43 40 39 6.0 43 7.4 66 96 | 42| 164 | 159 | 162 | 190 | 202 [ =7 [ 218 J 212J %2 | 265 | 286 | 28 | 21 | 247 | 55 | w4 | 203 | 195 | 193 15ﬂ 1:ﬂ 123 | 108 95 i—‘
6.0m| C 47 \ 42 40 EX] 60 | 46| 74 [ i{ 138 | 4| 159 | 162 | 185 | 201 | 220 J moJ 1 25 |— J 52 4) 136 | 123 | 108 95 i)
i | C a7 42 38 39 59 ﬂ 74 65 | 96 | 136 | 163 | 158 | 181 | 183 | 201 [ 220 J 28 | 20 | 256 | 22 | 284 | 58 252J 245J 248 136 | 123 | 108 95 E )
T | mph 12‘ 82 82 96 | 0O | 14| 110 | 03 | 104 87 0 7.6 69 74 &6 73 j 108 7.7 85 | 17 88 93 95 93 93 i’
) 0.5m | mgA| 129 92 92 96 | 100 | 15 | 108 | 102 | 103 a7 88 76 72 74 as 73 66 76 85 | 108 75 as | 1.7 as 8.8 87 95 92 ﬂ 96
1.0m | mgi] 2s | s 8.1 95| 11 | 14 | 108 | 104 | 104 95 | 88 77 73 7.0 13 72 66 J 75 9.4 9.8 7.4 83 | M3 a0 87 85 9.4 92 83 95
2.0m|mg| 129 9.1 8.4 94| 101 | 14| 108 | 104 | 104 Er 85 7.7 74 7.0 65 7.0 6.4 J 74 82 76 | 72 81 | o4 78 | a7 | o 88 a4 93 92 Y] ﬂ
DO |(3.0m|mgl| 128 9.0 8.4 93 [ 1a1 12 | 107 66 87 9.4 7.8 75 74 s.s—l 63 67 6.4 J 73 88 74 ] s.oJ 7.1 71 86 65 86 a4 53 92 st | ﬂ
(DO#H [4.0m|meh| 126 as 8o | 80| o4 | 14 | 107 65 a5 94 76 76 74 sﬂ 61 65 84 } &8 85 [X] €3 | s ’75.2 89 a5 [:+3 92 8.1 a1 | 94
12k3) |5.0m|me] 125 a9 Y] 88 [ 11 10 | 105 59 93 a4 73 75 74 s.s—I s4 5.4 6.1 } 62 8.4 26 55 7.7J 54 a5 82 73 79 92 8.0 a8 9.4
6.0m | mgfl] 11\ 83 1) 80 | 102 188 | 02 s3- 83 70 75 74| &5 as 22 5.4 33 5.8 52 |- 83 mﬂ 9.1 ﬂ 86 9.4
B (med| 126 ag | 81 62 | 102 | 100 | 104 48 as 6.9 5.0 73 74 6.4 3.4 24 51 30 14 19 45 74 28 56 59 ﬂ 88 a6 9.4
FE | Lux| 27590 | 27500 63400| 22800| 8830| 94600 | $4700| 85,300 | 11160 E 26,600 30000| 32700 19700 | 15770| 53400 15010 | 10230 | 10,400 | 5,600 | 22520 | 19,120 | 11,530 | 21,580 | 67,300 50200 | 62,800 | 11,300 67.800| 50,700
0.5m|Lux| 22590 | 8,470 53300| 14660 7.820| 59500 | 28200 | 29,800 | 10,780 | 64,800 | 21,480 | 18,530 | 25,850 | 29,600 | 11,620| 41,600 | 11,270 | 7,800 73200 | 73600 | 18,350 | 14,310 &,680| 19,560 | 52700 37300 | So4m| 71%0| 43700 | 25@ )
1.0m|Lux| 7,800 3380| 18450| 6080| 3,170| 15110| 18500 | 5430 3,660| 39000| 11,580 5940 10310 10,070| 7410| 18070 7.800| 3540| 25800| 17.810| 7.450| 2835 | 65/0| 3220| 20560 13,ﬂ 14,420 | 2880 18,100 94[
20m|lux| 2750| 1789| 62| 1871| 1577| 95W| 54X 253| 1,782 13,moT 77e0| 3g7o| 45| 2263| 3910| sev| 267 | 18| 1380 3240| 3840 844 | 3500| 41484l 14080 S'E‘ s80| 1708 4)
7k R gE| 3.0m [ Tux 700 374| 1,156 547 asI| 1528 7;|7 110 633 | 2880( 2024 1,881 1,441{ 1,185—| 2,720 662 SGJ aas| mj 1277 129 919 431 3260 1,3‘ 869 265 2099‘ 4‘
40m|lax| 70| 108 166 8 475\ 30 W = 242 = ses| 2266 75 641 462‘ 85 133 1ssj 255J 18 309 13 260 | ) 859 188] 18 =] j]
5.0m | Lux 14 43 2 1 ﬂ %0 32 12 7 111 154 56 az8 3557 1sﬂ 40 3* mJ 131J a7 75 1 -ﬂ 18 -3 110 28 2 1 “ = 12 157 El
— I
6.0m | Lux 2T i 5 40) H 2 7 3 24 & 48 32 2 138 ﬂ 7 s 7 17 10 9 2 154' 4 7 19 5 4 1 10 4 5 ﬂ 0
J E(Lux j 2 1 J 0 a 1 3 20 10 a 25 40 a <] 1 2 3 2 of- zj 0 1 2 0 0 J 3 2 o 13 r o




RREHBREWERERE (2D 1)

PR32 H6H A

K R % FHRN | FERNN| FUARJN| FHRH | FUARNN | FEARN| FARN | FUAR) | FARJT | FEARJ | FER | AR SRR FAR)N | FERI | FARN

WO & || 0N | 0R || |G| e | A | S (e | RER | R | SR s

R R M AT A A R B M| R D O Eowin (FRA M ERF M RSB AB[N k| nmiee B KB B|IABI

ks WAt | o/6 | /6 | 2/6 | 2/6 | 2/6 | 2/6 | o/6 | 2/6 | 2/6 | 2/6 | 2/6 | 2/6 | 2/6 | 2/6 | 2/6 | /8

Ccd g/l <. 001/<0. 001[<0. 001]<0. 001]<0. 601] <0, 001[<0, 001]<0. 001]<0, 001] <0. 001]<0. 601] <0, O01] <0, 001]<0. 001]<0. 001]<0. 001

CN /1 10, 01 <0, 01] <0, 01| <0. 01 <0. 01]<0. 01 <0. 01 <0. 01] <0. 01 <0. 01| <0. 01 0. 01] <0. 01 <0. 01 <0. 01 <0, 01

Pb ng/1 | <o, 00z <0. 00| <0. 002] <0. 602 0. 002 <0. 002 | <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 | <0. 002 <0. D02 <0. 002] <0. 002 <0. 002

Cr (VD ng/1 | <, 01 <0..01] <0. 01 <0. 01] 0. 01| <0. 01] <0. 01 <0. 01 <0. 01] <0, 01] <0. 01 <0. 01] <0, 01 <0. 01] <0, 01] <0. 01
As n/1 | <o, 001 <o. 001| c0. 001 | <0. 001 | <0. 001 . 001 <0. 001 | <0. 001 0. 008 | 0.001 | 0.001 | 0.003 | 0.002 | 0.001 | 0.001 | 0.001

T-Hg m8/1 | <o, ngos| <o. 0005 | . 0005 | co. 0008 | <0. 0005 | <o. 0005 <o. 000s | co. 0005 <0. 005 | <0. 0005 | <0. 0u0s | co. 000 | <o. 0005 | <0. 0005 | <0. 000 <0. 0005
pCB w8/l 00| - | - | - lo.ooofooon| — |co.o00| — |<o.000 w000 — |co.000 0000 - | -

Myuoxfvy | ng/l | o, 005 co. 0005 | <o. 0005 <o. 0005 <o. 0005 | co. 0005 | <0. 0005 | <o. 0005 <o. 005 | <o, 0a0s | <0, 0005 | <o, 0008 | <0. 0005 <o. 0aos | <o. 000s | co. 000

7hghmnsfVy | ne/L | o, 0005 <0.0008 <o, 0005 | o. 0005 | <0. 0005 | <0. 0005 | <t. 0005 | <0. 0005 <o. 0005 | <o. 0005 | <o, 0005 | <. 005 | <o. 0005 | <o. 0005 <o. angs | <o. 000 ]
PHEALIER | we/l Jooe| - | - | - |cw.ooe|wome] - |wome] -~ [coomelcooe] - [co.0oe|cooe] - | -
v yungyy /1 Jooor| - | - | - lwome|woe] — |wooe] - |c.ome|wome| |00l - | -
L2-vhomchy ) o/l fgooe| - | - | -~ |zl - |wowe| - [wouefwme| - [womzlwome - | -
1, 1, 1-pYgmaxyy | we/d | gg05) — - — |«o.0005 c0.0005] — [<o.0008] -~ | <co.0008|o.008] — | co.000] co.0008] - -
11 2-pYomnxyy | oe/d fggp| -~ | = | — |co.omzfcoonz] -~ |coosoe| -~ |cooooelcoooe| - |co.o02fco002] - | -
L1-vgmocfvy | og | gope| — | - | - |c.omelco.ome| - |woome] — [co.omeloome] - |womefwone] - | -
21, 297 honrfl | o/l Do) — | - | |coome|woooe| - [wonz] - [<o.oo{co0o00e| - |co.000e|co0oe] - | -
L8-y"puar"un"y | oe/l || - | — | - [cooooe|coome| — [coooe| - [co.00e|0002] -~ |co.000e|coomrf - | -
FOTh 2/l fooms| - | — | - |co.oo0s|<o.0008] — |co.0m08] — |<o.0008]co.000s] — |<co.0008| co0ms| - | -
yRYY ¢/l [oom| ~ | -~ | - [cooo)<ooom| — [co.000| - |<o.000co.0005) -~ |<o.0008c.0008] -~ | -
AN VT o2/l | oon| — | - | — |cwoo0t|coooor| — |00t — |co.0008] o008 - |<o.0005] o005 — | -
Ny o1 ) oome| - | - | - |.o0e|coomz] - |cwoo0z| -~ [co.002|o.0002| — [o.0002] 0002 -~ | -
el o/l |go01| - | - | — Jcoon|co00t] — [<o.001] — |<o.001{<o.001] — |<o.001|co.00] - | —
(NO2+NO3)-N | /1 | o 554 | 561 | 0.450 | 1470 | 0.683 | 0.319 | 0.208 | 0.318 | 0.240 | 0.065 | 0.027 | 0.280 | 0.841 | 0,363 | 0.404 | 0.381
Ty Ml gy —« | — | - lowlon| - lon| - |wilwr| - |o1]lwi| - | -
RUH# e/l oo | — | — | - {oos|ooa| - [o0af — [o003]00s]| —~ |oo5]005| — | -
EPN me/l fego00| — | — | = [o.000 o000 | — [co.000] — |co.o008]co.0os] — [co.om8fco0ms] — | -

i




MR EKEIERERE (2D 2)

SERRISESHTH A

1%

K R 4 FUARIU | AR ) FARJ | AR FUARN FEARN FARN | FIARS FUARJ| AR AR [ FARIU | FARI FARN [ FUARN [ FUARN

WO & (| |min || 0 g uh | @y b | b | o |8 R | KER | R e

NP4 $ER 8 | A D | 3 | B W | | W) | meo i SR 2 A SRS M AR e[ onvimen (B B\ WA

AH W | g9 | s/7 | 8/ | 87 | 8/ | 8/ | 8/ | 8/1 | 8/ | 81 | 8/1 | 87 | 8/ | 871 | 8/ | 8/

cd me/1 <o, 001 <0. 001 <0. 001 <0. 001 <0. 001 €0. 001 <0. 001 <0, 001{<0. 001 <0. 001 <0. 001 0. 001 <0. 001 <0. 001 <0. 001 <0. 001

CN mg/1 <o, 01] <0, 01]<0. 01]<0. 01]<0. 01 <0, 01 <0, 01] <0, 01]<0. 0] <0, 61] <0. 01| <0. 01 <0, 01 <0, 01] <0, 01] <0, 01

Pb m8/1 | 0,000 | <o.002 | 0,002 | <0.002 | <0.002 | 0.002 | <0.002 | co.002 | <o.002 | <0.002 | o.002 | co.002 | <0.002 | o002 | co.002 | <o.002

C r (VD) ng/1 | ¢, 01 <0, 01]<0. 01 <0, 01<0. 01]<0, 01| <0, 01 <0, 01] <0, 01]<0. 01]<0. 01]<0. 01| <0. 01 <0. 01 <0, 01]<0. 01

As ne/1 | ¢o, 001 | <0. 001 <o. 001 <0. 001 | <0. 001 | <0. 001 <0. 001 0. 061 ] 0.004 | 0. 008 | 0,004 | 0.002 | 0.002 | 0.002 | 0.003 | 0.001

T-Hg 18/1 | o, 0008 | co. 0005 | <0. 0005 | <0, 0005 | <0. 0005 <0, 0005 | <0. 0005 | <0. 0005 ] <0, 0005 | <0, 2005 | <o. 0u0s | <o. 000 <. 0005 | 0. 0005 | <o. 0o <o. pons
PCB /1 | ouas| - | — | — |co.ooos|co.o05] — |co.oo0s] — |co.0005]<o.000s] — |co.000s|<o.0008] ~ | —

bgunaFhy | ue/l |, o0 | co. 0005 <o. 0005 | <o. 0005 | <o, 0005 <o. 0005 <0. 0005 | <o, 0005 | <0. 0005 <0. 0005 <0. 000 | <0. 0005 <0. 000 <0. 0005 | <0. 0005 | <0. 0005

FhIgunsfby | me/ | o, o005 co. 0005 co. 0005 co. 0005 | . 0005 | <o, 0005 | <0, 0005 | <0. 0005 <o, 0005/ <0. 0005 | <0. 0005 | co. 00s | <. 0005 | <o. 0005 | <. 0005 | <o. 0005
PEABEE | me/l Jggem| - | = | - |co.ooelwome| ~ |wome] — [woo0e|coooe] — |co.0002|co000] — | -
it e/t Jeoomz] — | = | = lwoowsonr] — |woowe]l — [co.0002| 0000 — |co.0002|c0.0000] — | —
1, 2-v"gunxhy | o/l | g0ep| ~ | - — lwooe|wome] — |wowe] — [wooe|oome] - |c.omecone] - | —
L1, 1-bygomxyy | oe/t | o aap| ~ | ~ | — |co.0o0|co.008] — |cooos| — |co.oo0s|co.0o0s] — |coo008|co.000s] —~ | —
L1 2-Mymrhy | o/l | 00| — | - — |co.oooz) cooo2] — |coon2) — [co.oo02) co.om0e) — |co.on0z|co.00e| — | -
L 1=y goaxfyvy | o/l g g0 — | — | - |ooooe|coomz| — [coooe| — [co.0000|co.002] — |coon0p|co00m0| - | —
VAL -y jumsty | me/l |goe| - | — | - |co.omzlwone| — [womz| — [co.oo0eco.o00e] — |<o.coe|coomp| — | -
1L, 8-y pm7un’y | g/l | 00| — - - |<o.0002] co.0002) — |<o.oo02] — | co.0002]<o.0002] — |<o.0002]<0.0002] — -
FUIL 92/1 |ooos] —~ | — | — |co.0o05|o.0005] — |co.005] — |co.0005|co.0005] — |co.0008|co000s] — | —
Yy o/l Jgooot] - | - |~ |cooo0n|coo00r] — [cooo0r] - |cooms|coonos| - |cooos|commos] - | -
LARLZN o2/l | o.0001] - - — |co.0008|co.0008] — co.0001] — | <cooo05] cooo05] — | <o.0005] co0005] — -
ey o/l \ ooz — |~ | — |c.0002[co.0002] — |co.o002f — [co.0002)co.0002] — |co.0002|coo002| - | —
il /1 Jeo.001] — | — | — [<o.001f<0.001] — [<o0.000f — |<o.001[<0.001] — [co.001f<0.001] ~ [ -

(NO2+NO3)-N | e/1 | goa | g.192 | 0.097 ) 0.012 | 0.082 | 0.078 | 0.026 | 0.022 | 0.003 | 0.002 | 0.002 | 0.020 | 0. 144 | 0. 024 | 0.001 | 0.008
7yH e/t lo18] — | — | - foarloar] —~ o8] —~ [«wif<w1] = [w@1|@1] — | -
HUH o/l Jo04] - | — | - |oodlooa| — 005] — |oo4f00s| — |oorfoor| — | -

EPN e/l Jgoos] —~ |~ |~ |.o00sfco.o00s] — Jeooms] — | co.0005] co.on0] — [ <o 0005] co.0005 ] co. o005 co. on0s
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